

Transaction Date	Transaction Time	Time Zone	Volume	Price (GBP)	Trading Venue	Transaction ID	Aggregate Purchase Price (GBP)
26-Jan-26	08:00:26	GMT	13	649.00	XLON	0XL08A000000000346K4V	8,437.00
26-Jan-26	08:00:26	GMT	48	649.00	XLON	0XL0817000000000346KDG	31,152.00
26-Jan-26	08:00:26	GMT	50	649.00	XLON	0XL0814000000000346KBL	32,450.00
26-Jan-26	08:00:26	GMT	50	649.00	XLON	0XL0814000000000346KBN	32,450.00
26-Jan-26	08:00:26	GMT	50	649.00	XLON	0XL0870000000000346K2T	32,450.00
26-Jan-26	08:00:26	GMT	51	649.00	XLON	0XL0810000000000346JL4	33,099.00
26-Jan-26	08:00:26	GMT	51	649.00	XLON	0XL08A0000000000346K4U	33,099.00
26-Jan-26	08:00:26	GMT	51	649.00	XLON	0XL08D0000000000346K6A	33,099.00
26-Jan-26	08:00:26	GMT	52	649.00	XLON	0XL0811000000000346K3C	33,748.00
26-Jan-26	08:00:26	GMT	53	649.00	XLON	0XL0814000000000346KBM	34,397.00
26-Jan-26	08:00:29	GMT	4	648.20	XLON	0XL08D0000000000346K72	2,592.80
26-Jan-26	08:00:29	GMT	9	648.40	XLON	0XL08A0000000000346K65	5,835.60
26-Jan-26	08:00:29	GMT	11	647.40	XLON	0XL0870000000000346K4B	7,121.40
26-Jan-26	08:00:29	GMT	11	647.80	XLON	0XL0814000000000346KD2	7,125.80
26-Jan-26	08:00:29	GMT	11	648.00	XLON	0XL0810000000000346JM5	7,128.00
26-Jan-26	08:00:29	GMT	12	647.60	XLON	0XL0810000000000346JMF	7,771.20
26-Jan-26	08:00:29	GMT	13	648.00	XLON	0XL08A0000000000346K67	8,424.00
26-Jan-26	08:00:29	GMT	13	648.20	XLON	0XL0814000000000346KD0	8,426.60
26-Jan-26	08:00:29	GMT	13	648.40	XLON	0XL0814000000000346KCT	8,429.20
26-Jan-26	08:00:29	GMT	15	648.20	XLON	0XL0810000000000346JM3	9,723.00
26-Jan-26	08:00:29	GMT	15	648.60	XLON	0XL08A0000000000346K64	9,729.00
26-Jan-26	08:00:29	GMT	18	647.60	XLON	0XL0870000000000346K4A	11,656.80
26-Jan-26	08:00:29	GMT	24	648.00	XLON	0XL08A0000000000346K68	15,552.00
26-Jan-26	08:00:29	GMT	26	647.80	XLON	0XL08A0000000000346K69	16,842.80
26-Jan-26	08:00:29	GMT	28	647.80	XLON	0XL0810000000000346JM7	18,138.40
26-Jan-26	08:00:29	GMT	28	647.80	XLON	0XL0814000000000346KD5	18,138.40
26-Jan-26	08:00:29	GMT	29	647.80	XLON	0XL0814000000000346KD4	18,786.20
26-Jan-26	08:00:29	GMT	30	647.80	XLON	0XL0817000000000346KEE	19,434.00
26-Jan-26	08:00:29	GMT	35	648.00	XLON	0XL0814000000000346KD1	22,680.00

26-Jan-26	08:00:29	GMT	35	648.60	XLON	0XL0811000000000346K4F	22,701.00
26-Jan-26	08:00:29	GMT	39	648.00	XLON	0XL0840000000000346JM9	25,272.00
26-Jan-26	08:00:29	GMT	39	648.20	XLON	0XL0810000000000346JM6	25,279.80
26-Jan-26	08:00:29	GMT	40	647.80	XLON	0XL0814000000000346KD3	25,912.00
26-Jan-26	08:00:29	GMT	40	648.60	XLON	0XL0814000000000346KCR	25,944.00
26-Jan-26	08:00:29	GMT	40	648.60	XLON	0XL0870000000000346K3R	25,944.00
26-Jan-26	08:00:29	GMT	41	647.80	XLON	0XL0811000000000346K4G	26,559.80
26-Jan-26	08:00:29	GMT	41	647.80	XLON	0XL0870000000000346K3S	26,559.80
26-Jan-26	08:00:29	GMT	41	648.00	XLON	0XL08D0000000000346K73	26,568.00
26-Jan-26	08:00:29	GMT	42	647.40	XLON	0XL0810000000000346JMG	27,190.80
26-Jan-26	08:00:29	GMT	48	648.20	XLON	0XL08A0000000000346K66	31,113.60
26-Jan-26	08:00:29	GMT	48	648.40	XLON	0XL0840000000000346JM3	31,123.20
26-Jan-26	08:00:29	GMT	49	648.20	XLON	0XL0814000000000346KCV	31,761.80
26-Jan-26	08:00:29	GMT	49	648.20	XLON	0XL0817000000000346KED	31,761.80
26-Jan-26	08:00:29	GMT	50	648.20	XLON	0XL0810000000000346JM2	32,410.00
26-Jan-26	08:00:29	GMT	50	648.40	XLON	0XL08D0000000000346K71	32,420.00
26-Jan-26	08:00:29	GMT	51	648.20	XLON	0XL0810000000000346JM4	33,058.20
26-Jan-26	08:00:29	GMT	51	648.20	XLON	0XL0814000000000346KCU	33,058.20
26-Jan-26	08:00:29	GMT	51	648.40	XLON	0XL0814000000000346KCS	33,068.40
26-Jan-26	08:00:29	GMT	51	648.60	XLON	0XL0810000000000346JM1	33,078.60
26-Jan-26	08:00:29	GMT	78	647.80	XLON	0XL08D0000000000346K74	50,528.40
26-Jan-26	08:00:29	GMT	599	648.40	XLON	0XL0840000000000346JM5	388,391.60
26-Jan-26	08:00:29	GMT	12,315	648.20	XLON	0XL0840000000000346JM7	7,982,583.00
26-Jan-26	08:00:29	GMT	12,350	647.80	XLON	0XL0840000000000346JMB	8,000,330.00
26-Jan-26	08:02:03	GMT	5	647.20	XLON	0XL0811000000000346KCR	3,236.00
26-Jan-26	08:02:03	GMT	6	647.20	XLON	0XL08A0000000000346KL1	3,883.20
26-Jan-26	08:02:03	GMT	38	647.20	XLON	0XL0840000000000346K11	24,593.60
26-Jan-26	08:02:03	GMT	40	647.20	XLON	0XL08D0000000000346KJT	25,888.00
26-Jan-26	08:02:03	GMT	41	647.20	XLON	0XL0814000000000346KPF	26,535.20
26-Jan-26	08:02:53	GMT	4	646.80	XLON	0XL0810000000000346K7A	2,587.20
26-Jan-26	08:02:53	GMT	4	646.80	XLON	0XL0814000000000346KSN	2,587.20

26-Jan-26	08:02:53	GMT	4	646.80	XLON	0XL0814000000000346KSP	2,587.20
26-Jan-26	08:02:53	GMT	4	647.00	XLON	0XL0810000000000346K78	2,588.00
26-Jan-26	08:02:53	GMT	4	647.00	XLON	0XL0817000000000346KU4	2,588.00
26-Jan-26	08:02:53	GMT	4	647.00	XLON	0XL0870000000000346KRN	2,588.00
26-Jan-26	08:02:53	GMT	5	647.00	XLON	0XL0810000000000346K79	3,235.00
26-Jan-26	08:02:53	GMT	5	647.00	XLON	0XL0814000000000346KSM	3,235.00
26-Jan-26	08:02:53	GMT	5	647.00	XLON	0XL0814000000000346KSO	3,235.00
26-Jan-26	08:02:53	GMT	5	647.00	XLON	0XL08D0000000000346KNU	3,235.00
26-Jan-26	08:02:53	GMT	6	646.80	XLON	0XL0840000000000346K3U	3,880.80
26-Jan-26	08:02:53	GMT	6	646.80	XLON	0XL08A0000000000346KQB	3,880.80
26-Jan-26	08:02:53	GMT	7	647.00	XLON	0XL0814000000000346KSL	4,529.00
26-Jan-26	08:02:53	GMT	7	647.00	XLON	0XL08A0000000000346KQC	4,529.00
26-Jan-26	08:02:53	GMT	7	647.00	XLON	0XL08D0000000000346KNT	4,529.00
26-Jan-26	08:02:53	GMT	14	647.00	XLON	0XL0870000000000346KRO	9,058.00
26-Jan-26	08:02:53	GMT	74	647.00	XLON	0XL0810000000000346K77	47,878.00
26-Jan-26	08:02:53	GMT	9,613	647.00	XLON	0XL0840000000000346K3T	6,219,611.00
26-Jan-26	08:02:54	GMT	2,913	646.60	XLON	0XL0840000000000346K3V	1,883,545.80
26-Jan-26	08:02:54	GMT	4,248	646.60	XLON	0XL0840000000000346K40	2,746,756.80
26-Jan-26	08:02:58	GMT	4	646.20	XLON	0XL0810000000000346K7K	2,584.80
26-Jan-26	08:02:58	GMT	4	646.20	XLON	0XL0810000000000346K7M	2,584.80
26-Jan-26	08:02:58	GMT	4	646.20	XLON	0XL0814000000000346KT7	2,584.80
26-Jan-26	08:02:58	GMT	5	646.20	XLON	0XL0814000000000346KT6	3,231.00
26-Jan-26	08:02:58	GMT	5	646.20	XLON	0XL0870000000000346KS9	3,231.00
26-Jan-26	08:02:58	GMT	6	646.20	XLON	0XL0810000000000346K7L	3,877.20
26-Jan-26	08:02:58	GMT	7	646.20	XLON	0XL0811000000000346KFP	4,523.40
26-Jan-26	08:02:58	GMT	7	646.20	XLON	0XL08A0000000000346KQU	4,523.40
26-Jan-26	08:02:58	GMT	7	646.20	XLON	0XL08A0000000000346KQV	4,523.40
26-Jan-26	08:02:58	GMT	7	646.20	XLON	0XL08D0000000000346KO5	4,523.40
26-Jan-26	08:02:58	GMT	7	646.40	XLON	0XL0814000000000346KT5	4,524.80
26-Jan-26	08:02:58	GMT	8	646.20	XLON	0XL0810000000000346K7N	5,169.60
26-Jan-26	08:02:58	GMT	9	646.20	XLON	0XL0870000000000346KS8	5,815.80

26-Jan-26	08:02:58	GMT	7,149	646.20	XLON	OXL084000000000346K48	4,619,683.80
26-Jan-26	08:03:08	GMT	4	646.40	XLON	OXL08A000000000346KS1	2,585.60
26-Jan-26	08:03:08	GMT	51	646.60	XLON	OXL084000000000346K4M	32,976.60
26-Jan-26	08:05:24	GMT	5	647.40	XLON	OXL08A000000000346LA7	3,237.00
26-Jan-26	08:05:24	GMT	6	647.40	XLON	OXL081000000000346KIJ	3,884.40
26-Jan-26	08:05:24	GMT	6	647.40	XLON	OXL087000000000346LAI	3,884.40
26-Jan-26	08:05:24	GMT	7	647.40	XLON	OXL081000000000346KII	4,531.80
26-Jan-26	08:06:08	GMT	6	647.40	XLON	OXL081400000000346L9H	3,884.40
26-Jan-26	08:08:04	GMT	4	648.40	XLON	OXL081400000000346LG9	2,593.60
26-Jan-26	08:08:04	GMT	4	648.40	XLON	OXL08A000000000346LM2	2,593.60
26-Jan-26	08:08:04	GMT	5	648.40	XLON	OXL081100000000346KUP	3,242.00
26-Jan-26	08:08:04	GMT	5	648.40	XLON	OXL08A000000000346LM3	3,242.00
26-Jan-26	08:08:04	GMT	6	648.40	XLON	OXL08D000000000346LC6	3,890.40
26-Jan-26	08:08:04	GMT	7	648.40	XLON	OXL081000000000346KRJ	4,538.80
26-Jan-26	08:08:04	GMT	9	648.40	XLON	OXL081400000000346LGA	5,835.60
26-Jan-26	08:08:04	GMT	11	648.40	XLON	OXL08A000000000346LM4	7,132.40
26-Jan-26	08:08:04	GMT	13	648.60	XLON	OXL081000000000346KRI	8,431.80
26-Jan-26	08:08:04	GMT	1,448	648.40	XLON	OXL084000000000346KJG	938,883.20
26-Jan-26	08:08:09	GMT	4	648.40	XLON	OXL081700000000346LCN	2,593.60
26-Jan-26	08:08:27	GMT	7	648.20	XLON	OXL08A000000000346LO1	4,537.40
26-Jan-26	08:08:27	GMT	7	648.20	XLON	OXL08A000000000346LO2	4,537.40
26-Jan-26	08:08:27	GMT	8	648.20	XLON	OXL081400000000346LHH	5,185.60
26-Jan-26	08:09:22	GMT	4	647.60	XLON	OXL08A000000000346LS8	2,590.40
26-Jan-26	08:09:22	GMT	4	647.80	XLON	OXL081000000000346L07	2,591.20
26-Jan-26	08:09:22	GMT	4	647.80	XLON	OXL084000000000346KNR	2,591.20
26-Jan-26	08:09:22	GMT	4	648.00	XLON	OXL081000000000346L04	2,592.00
26-Jan-26	08:09:22	GMT	4	648.00	XLON	OXL081400000000346LKF	2,592.00
26-Jan-26	08:09:22	GMT	4	648.00	XLON	OXL081400000000346LKG	2,592.00
26-Jan-26	08:09:22	GMT	4	648.00	XLON	OXL08D000000000346LHK	2,592.00
26-Jan-26	08:09:22	GMT	5	647.60	XLON	OXL087000000000346LSJ	3,238.00
26-Jan-26	08:09:22	GMT	5	648.00	XLON	OXL081000000000346L06	3,240.00

26-Jan-26	08:09:22	GMT	5	648.00	XLON	0XL0811000000000346L2I	3,240.00
26-Jan-26	08:09:22	GMT	6	647.60	XLON	0XL0814000000000346LKI	3,885.60
26-Jan-26	08:09:22	GMT	6	647.60	XLON	0XL0817000000000346LGI	3,885.60
26-Jan-26	08:09:22	GMT	6	648.00	XLON	0XL0814000000000346LKD	3,888.00
26-Jan-26	08:09:22	GMT	6	648.00	XLON	0XL08A0000000000346LS7	3,888.00
26-Jan-26	08:09:22	GMT	7	647.60	XLON	0XL0814000000000346LKH	4,533.20
26-Jan-26	08:09:22	GMT	7	648.00	XLON	0XL0817000000000346LGJ	4,536.00
26-Jan-26	08:09:22	GMT	7	648.00	XLON	0XL08D0000000000346LHJ	4,536.00
26-Jan-26	08:09:22	GMT	8	647.80	XLON	0XL0870000000000346LSK	5,182.40
26-Jan-26	08:09:22	GMT	8	647.80	XLON	0XL08A0000000000346LSA	5,182.40
26-Jan-26	08:09:22	GMT	8	648.00	XLON	0XL0810000000000346L03	5,184.00
26-Jan-26	08:09:22	GMT	9	647.80	XLON	0XL08A0000000000346LS9	5,830.20
26-Jan-26	08:09:22	GMT	10	647.80	XLON	0XL0814000000000346LKE	6,478.00
26-Jan-26	08:09:22	GMT	10	648.00	XLON	0XL0810000000000346L05	6,480.00
26-Jan-26	08:09:22	GMT	12	647.60	XLON	0XL0810000000000346L08	7,771.20
26-Jan-26	08:09:22	GMT	3,050	648.00	XLON	0XL0840000000000346KNQ	1,976,400.00
26-Jan-26	08:09:22	GMT	5,894	647.60	XLON	0XL0840000000000346KNS	3,816,954.40
26-Jan-26	08:10:00	GMT	5	648.20	XLON	0XL0840000000000346KQH	3,241.00
26-Jan-26	08:10:00	GMT	8	648.20	XLON	0XL0814000000000346LMO	5,185.60
26-Jan-26	08:10:00	GMT	339	648.20	XLON	0XL0840000000000346KQG	219,739.80
26-Jan-26	08:12:01	GMT	4	647.80	XLON	0XL0870000000000346M9N	2,591.20
26-Jan-26	08:12:01	GMT	5	647.60	XLON	0XL0810000000000346LDB	3,238.00
26-Jan-26	08:12:01	GMT	5	647.60	XLON	0XL0814000000000346M20	3,238.00
26-Jan-26	08:12:01	GMT	5	647.80	XLON	0XL0810000000000346LD9	3,239.00
26-Jan-26	08:12:01	GMT	5	647.80	XLON	0XL0814000000000346M1V	3,239.00
26-Jan-26	08:12:01	GMT	5	647.80	XLON	0XL08A0000000000346MEA	3,239.00
26-Jan-26	08:12:01	GMT	5	648.00	XLON	0XL08A0000000000346ME9	3,240.00
26-Jan-26	08:12:01	GMT	7	647.60	XLON	0XL08A0000000000346MEC	4,533.20
26-Jan-26	08:12:01	GMT	7	647.80	XLON	0XL0840000000000346L3C	4,534.60
26-Jan-26	08:12:01	GMT	7	647.80	XLON	0XL08A0000000000346MEB	4,534.60
26-Jan-26	08:12:01	GMT	8	647.60	XLON	0XL0817000000000346LPU	5,180.80

26-Jan-26	08:12:01	GMT	8	647.80	XLON	0XL081000000000346LDA	5,182.40
26-Jan-26	08:12:01	GMT	1,083	647.80	XLON	0XL084000000000346L3D	701,567.40
26-Jan-26	08:13:46	GMT	4	648.00	XLON	0XL081000000000346LJ3	2,592.00
26-Jan-26	08:13:46	GMT	4	648.00	XLON	0XL081400000000346M9F	2,592.00
26-Jan-26	08:13:46	GMT	4	648.00	XLON	0XL08D000000000346M45	2,592.00
26-Jan-26	08:13:46	GMT	16	648.20	XLON	0XL087000000000346MFG	10,371.20
26-Jan-26	08:13:46	GMT	17	648.20	XLON	0XL081400000000346M9E	11,019.40
26-Jan-26	08:14:16	GMT	4	647.60	XLON	0XL081400000000346MBM	2,590.40
26-Jan-26	08:14:16	GMT	4	647.60	XLON	0XL08A000000000346MO6	2,590.40
26-Jan-26	08:14:16	GMT	6	647.60	XLON	0XL081000000000346LK5	3,885.60
26-Jan-26	08:14:16	GMT	6	647.60	XLON	0XL087000000000346MGH	3,885.60
26-Jan-26	08:14:16	GMT	7	647.60	XLON	0XL08D000000000346M62	4,533.20
26-Jan-26	08:14:16	GMT	12	647.60	XLON	0XL081400000000346MBL	7,771.20
26-Jan-26	08:15:44	GMT	6	648.60	XLON	0XL081000000000346LSH	3,891.60
26-Jan-26	08:15:44	GMT	6	648.60	XLON	0XL081400000000346MK0	3,891.60
26-Jan-26	08:15:44	GMT	6	648.60	XLON	0XL081700000000346M8V	3,891.60
26-Jan-26	08:15:44	GMT	6	648.60	XLON	0XL08A000000000346N37	3,891.60
26-Jan-26	08:15:44	GMT	7	648.60	XLON	0XL08D000000000346MEG	4,540.20
26-Jan-26	08:15:44	GMT	8	648.60	XLON	0XL081000000000346LSF	5,188.80
26-Jan-26	08:15:44	GMT	8	648.60	XLON	0XL081400000000346MJU	5,188.80
26-Jan-26	08:15:44	GMT	8	648.60	XLON	0XL081400000000346MK1	5,188.80
26-Jan-26	08:15:44	GMT	8	648.60	XLON	0XL084000000000346LKT	5,188.80
26-Jan-26	08:15:44	GMT	8	648.60	XLON	0XL087000000000346MPJ	5,188.80
26-Jan-26	08:15:44	GMT	9	648.60	XLON	0XL081400000000346MK2	5,837.40
26-Jan-26	08:15:44	GMT	10	648.60	XLON	0XL081000000000346LSG	6,486.00
26-Jan-26	08:15:44	GMT	10	648.60	XLON	0XL081100000000346LQ9	6,486.00
26-Jan-26	08:15:44	GMT	11	648.60	XLON	0XL08A000000000346N35	7,134.60
26-Jan-26	08:15:44	GMT	11	648.60	XLON	0XL08A000000000346N36	7,134.60
26-Jan-26	08:15:44	GMT	12	648.60	XLON	0XL081000000000346LSI	7,783.20
26-Jan-26	08:15:44	GMT	14	648.60	XLON	0XL081400000000346MJV	9,080.40
26-Jan-26	08:15:44	GMT	14	648.60	XLON	0XL08D000000000346MEF	9,080.40

26-Jan-26	08:15:44	GMT	3,058	648.60	XLON	0XL084000000000346LKU	1,983,418.80
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL081000000000346MI8	3,241.00
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL081000000000346MI9	3,241.00
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL081000000000346MIA	3,241.00
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL081400000000346NC4	3,241.00
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL081400000000346NC7	3,241.00
26-Jan-26	08:20:27	GMT	5	648.20	XLON	0XL08D000000000346N1B	3,241.00
26-Jan-26	08:20:27	GMT	6	648.20	XLON	0XL08A000000000346NSE	3,889.20
26-Jan-26	08:20:27	GMT	7	648.20	XLON	0XL081400000000346NC8	4,537.40
26-Jan-26	08:20:27	GMT	7	648.20	XLON	0XL081700000000346MQV	4,537.40
26-Jan-26	08:20:27	GMT	7	648.20	XLON	0XL08A000000000346NSD	4,537.40
26-Jan-26	08:20:27	GMT	8	648.20	XLON	0XL081400000000346NC5	5,185.60
26-Jan-26	08:20:27	GMT	8	648.20	XLON	0XL081400000000346NC6	5,185.60
26-Jan-26	08:20:27	GMT	8	648.20	XLON	0XL087000000000346ND4	5,185.60
26-Jan-26	08:20:27	GMT	9	648.20	XLON	0XL081000000000346MIB	5,833.80
26-Jan-26	08:20:27	GMT	9	648.20	XLON	0XL081100000000346MCI	5,833.80
26-Jan-26	08:20:27	GMT	9	648.20	XLON	0XL08A000000000346NSC	5,833.80
26-Jan-26	08:20:27	GMT	10	648.20	XLON	0XL084000000000346MA1	6,482.00
26-Jan-26	08:20:27	GMT	10	648.20	XLON	0XL08D000000000346N1A	6,482.00
26-Jan-26	08:20:27	GMT	12	648.20	XLON	0XL087000000000346ND5	7,778.40
26-Jan-26	08:20:27	GMT	2,525	648.20	XLON	0XL084000000000346MA0	1,636,705.00
26-Jan-26	08:26:27	GMT	4	648.80	XLON	0XL081000000000346N72	2,595.20
26-Jan-26	08:26:27	GMT	4	648.80	XLON	0XL081400000000346O8O	2,595.20
26-Jan-26	08:26:27	GMT	4	648.80	XLON	0XL08A000000000346OFP	2,595.20
26-Jan-26	08:26:27	GMT	5	648.80	XLON	0XL081400000000346O8N	3,244.00
26-Jan-26	08:26:27	GMT	5	648.80	XLON	0XL08D000000000346NL1	3,244.00
26-Jan-26	08:26:27	GMT	6	648.80	XLON	0XL084000000000346N17	3,892.80
26-Jan-26	08:26:27	GMT	8	648.80	XLON	0XL081000000000346N71	5,190.40
26-Jan-26	08:26:27	GMT	8	648.80	XLON	0XL081400000000346O8M	5,190.40
26-Jan-26	08:26:27	GMT	8	648.80	XLON	0XL087000000000346O2C	5,190.40
26-Jan-26	08:28:28	GMT	118	648.60	XLON	0XL084000000000346N70	76,534.80

26-Jan-26	08:29:01	GMT	491	648.60	XLON	0XL084000000000346N8R	318,462.60
26-Jan-26	08:29:23	GMT	4	648.40	XLON	0XL081000000000346NHL	2,593.60
26-Jan-26	08:29:23	GMT	5	648.40	XLON	0XL081400000000346OLO	3,242.00
26-Jan-26	08:29:23	GMT	5	648.40	XLON	0XL081400000000346OL2	3,242.00
26-Jan-26	08:29:23	GMT	6	648.40	XLON	0XL081000000000346NHK	3,890.40
26-Jan-26	08:29:23	GMT	6	648.40	XLON	0XL08D000000000346NUR	3,890.40
26-Jan-26	08:29:23	GMT	7	648.40	XLON	0XL084000000000346N9F	4,538.80
26-Jan-26	08:29:23	GMT	7	648.40	XLON	0XL08A000000000346OPB	4,538.80
26-Jan-26	08:29:23	GMT	8	648.40	XLON	0XL081400000000346OL1	5,187.20
26-Jan-26	08:29:23	GMT	8	648.40	XLON	0XL087000000000346OBP	5,187.20
26-Jan-26	08:29:28	GMT	4	648.20	XLON	0XL081000000000346NHQ	2,592.80
26-Jan-26	08:29:28	GMT	4	648.20	XLON	0XL08A000000000346OPH	2,592.80
26-Jan-26	08:29:28	GMT	5	648.20	XLON	0XL081400000000346OL8	3,241.00
26-Jan-26	08:29:28	GMT	6	648.20	XLON	0XL081000000000346NHR	3,889.20
26-Jan-26	08:29:28	GMT	6	648.20	XLON	0XL08D000000000346NV8	3,889.20
26-Jan-26	08:29:28	GMT	7	648.20	XLON	0XL081100000000346N5S	4,537.40
26-Jan-26	08:29:28	GMT	7	648.20	XLON	0XL081400000000346OL7	4,537.40
26-Jan-26	08:29:28	GMT	112	648.20	XLON	0XL084000000000346N9Q	72,598.40
26-Jan-26	08:29:51	GMT	420	648.20	XLON	0XL084000000000346NBC	272,244.00
26-Jan-26	08:29:51	GMT	772	648.20	XLON	0XL084000000000346NBD	500,410.40
26-Jan-26	08:30:08	GMT	5	648.20	XLON	0XL081400000000346OP4	3,241.00
26-Jan-26	08:30:08	GMT	6	648.20	XLON	0XL081700000000346NSL	3,889.20
26-Jan-26	08:30:08	GMT	6	648.20	XLON	0XL08A000000000346OT6	3,889.20
26-Jan-26	08:30:08	GMT	9	648.20	XLON	0XL08A000000000346OT7	5,833.80
26-Jan-26	08:30:08	GMT	10	648.20	XLON	0XL081000000000346NKP	6,482.00
26-Jan-26	08:30:08	GMT	89	648.20	XLON	0XL084000000000346NCK	57,689.80
26-Jan-26	08:30:08	GMT	854	648.20	XLON	0XL084000000000346NCL	553,562.80
26-Jan-26	08:30:10	GMT	4	648.00	XLON	0XL081400000000346OPG	2,592.00
26-Jan-26	08:30:10	GMT	4	648.00	XLON	0XL08D000000000346O33	2,592.00
26-Jan-26	08:30:13	GMT	5	647.80	XLON	0XL08A000000000346OTM	3,239.00
26-Jan-26	08:30:13	GMT	6	647.80	XLON	0XL081400000000346OQ4	3,886.80

26-Jan-26	08:30:13	GMT	7	647.80	XLON	OXL081000000000346NL4	4,534.60
26-Jan-26	08:30:13	GMT	7	647.80	XLON	OXL081000000000346NL5	4,534.60
26-Jan-26	08:30:13	GMT	7	647.80	XLON	OXL081400000000346OQ1	4,534.60
26-Jan-26	08:30:13	GMT	7	647.80	XLON	OXL084000000000346NCV	4,534.60
26-Jan-26	08:30:13	GMT	7	647.80	XLON	OXL087000000000346OF1	4,534.60
26-Jan-26	08:30:13	GMT	9	647.80	XLON	OXL081400000000346OQ3	5,830.20
26-Jan-26	08:30:13	GMT	9	647.80	XLON	OXL08D000000000346O34	5,830.20
26-Jan-26	08:30:13	GMT	17	647.80	XLON	OXL087000000000346OF0	11,012.60
26-Jan-26	08:30:13	GMT	19	647.80	XLON	OXL08A000000000346OTL	12,308.20
26-Jan-26	08:30:13	GMT	20	647.80	XLON	OXL081000000000346NL3	12,956.00
26-Jan-26	08:30:13	GMT	20	647.80	XLON	OXL08A000000000346OTK	12,956.00
26-Jan-26	08:30:13	GMT	21	647.80	XLON	OXL081400000000346OQ2	13,603.80
26-Jan-26	08:30:13	GMT	4,229	647.80	XLON	OXL084000000000346ND0	2,739,546.20
26-Jan-26	08:30:27	GMT	10	647.60	XLON	OXL081400000000346ORB	6,476.00
26-Jan-26	08:30:27	GMT	10	647.60	XLON	OXL081700000000346NU4	6,476.00
26-Jan-26	08:30:27	GMT	11	647.60	XLON	OXL081000000000346NN4	7,123.60
26-Jan-26	08:30:27	GMT	12	647.60	XLON	OXL08D000000000346O4Q	7,771.20
26-Jan-26	08:30:27	GMT	13	647.60	XLON	OXL081100000000346NA8	8,418.80
26-Jan-26	08:40:10	GMT	4	648.20	XLON	OXL081000000000346ONT	2,592.80
26-Jan-26	08:40:10	GMT	5	648.20	XLON	OXL081400000000346Q17	3,241.00
26-Jan-26	08:40:10	GMT	448	648.20	XLON	OXL084000000000346O9S	290,393.60
26-Jan-26	08:45:20	GMT	4	648.80	XLON	OXL081000000000346P68	2,595.20
26-Jan-26	08:45:20	GMT	6	648.80	XLON	OXL08A000000000346QIE	3,892.80
26-Jan-26	08:45:32	GMT	4	648.60	XLON	OXL081000000000346P6M	2,594.40
26-Jan-26	08:45:32	GMT	4	648.60	XLON	OXL081100000000346OUF	2,594.40
26-Jan-26	08:45:32	GMT	5	648.60	XLON	OXL081400000000346QIM	3,243.00
26-Jan-26	08:45:32	GMT	987	648.60	XLON	OXL084000000000346OOJ	640,168.20
26-Jan-26	08:47:43	GMT	4	648.40	XLON	OXL081400000000346QO9	2,593.60
26-Jan-26	08:47:43	GMT	4	648.40	XLON	OXL081700000000346PI6	2,593.60
26-Jan-26	08:47:43	GMT	4	648.40	XLON	OXL084000000000346OUO	2,593.60
26-Jan-26	08:47:43	GMT	4	648.40	XLON	OXL087000000000346Q9C	2,593.60

26-Jan-26	08:47:43	GMT	5	648.40	XLON	OXL081000000000346PCM	3,242.00
26-Jan-26	08:47:43	GMT	5	648.40	XLON	OXL081000000000346PCN	3,242.00
26-Jan-26	08:47:43	GMT	5	648.40	XLON	OXL081400000000346QO8	3,242.00
26-Jan-26	08:47:43	GMT	5	648.40	XLON	OXL08D000000000346Q0D	3,242.00
26-Jan-26	08:47:43	GMT	6	648.40	XLON	OXL08A000000000346QR9	3,890.40
26-Jan-26	08:47:43	GMT	7	648.40	XLON	OXL081400000000346QO7	4,538.80
26-Jan-26	08:47:43	GMT	8	648.40	XLON	OXL08A000000000346QRA	5,187.20
26-Jan-26	08:47:43	GMT	9	648.40	XLON	OXL08A000000000346QRB	5,835.60
26-Jan-26	08:47:43	GMT	1,904	648.40	XLON	OXL084000000000346OUN	1,234,553.60
26-Jan-26	08:49:04	GMT	4	648.20	XLON	OXL081000000000346PH5	2,592.80
26-Jan-26	08:49:04	GMT	4	648.20	XLON	OXL081100000000346P8D	2,592.80
26-Jan-26	08:49:04	GMT	4	648.20	XLON	OXL081400000000346QS2	2,592.80
26-Jan-26	08:49:04	GMT	6	648.20	XLON	OXL087000000000346QDN	3,889.20
26-Jan-26	08:49:04	GMT	7	648.20	XLON	OXL081000000000346PH4	4,537.40
26-Jan-26	08:49:04	GMT	7	648.20	XLON	OXL081400000000346QS1	4,537.40
26-Jan-26	08:50:48	GMT	4	648.00	XLON	OXL081000000000346PLQ	2,592.00
26-Jan-26	08:50:48	GMT	4	648.00	XLON	OXL081000000000346PLR	2,592.00
26-Jan-26	08:50:48	GMT	4	648.00	XLON	OXL081100000000346PCQ	2,592.00
26-Jan-26	08:50:48	GMT	5	647.60	XLON	OXL081400000000346ROU	3,238.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL081000000000346PLU	3,239.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL081000000000346PLV	3,239.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL081400000000346ROS	3,239.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL084000000000346P7D	3,239.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL08A000000000346R5N	3,239.00
26-Jan-26	08:50:48	GMT	5	647.80	XLON	OXL08D000000000346Q9M	3,239.00
26-Jan-26	08:50:48	GMT	5	648.00	XLON	OXL081400000000346R0O	3,240.00
26-Jan-26	08:50:48	GMT	6	647.60	XLON	OXL081000000000346PM0	3,885.60
26-Jan-26	08:50:48	GMT	6	647.60	XLON	OXL081100000000346PCR	3,885.60
26-Jan-26	08:50:48	GMT	6	647.80	XLON	OXL081400000000346R0Q	3,886.80
26-Jan-26	08:50:48	GMT	6	647.80	XLON	OXL081400000000346R0T	3,886.80
26-Jan-26	08:50:48	GMT	6	647.80	XLON	OXL087000000000346QJB	3,886.80

26-Jan-26	08:50:48	GMT	6	648.00	XLON	OXL08A000000000346R5K	3,888.00
26-Jan-26	08:50:48	GMT	7	647.80	XLON	OXL0817000000000346PQ6	4,534.60
26-Jan-26	08:50:48	GMT	8	648.00	XLON	OXL0810000000000346PLS	5,184.00
26-Jan-26	08:50:48	GMT	8	648.00	XLON	OXL0814000000000346R0N	5,184.00
26-Jan-26	08:50:48	GMT	8	648.00	XLON	OXL0817000000000346PQ5	5,184.00
26-Jan-26	08:50:48	GMT	8	648.00	XLON	OXL08D0000000000346Q9L	5,184.00
26-Jan-26	08:50:48	GMT	9	647.60	XLON	OXL0870000000000346QJA	5,828.40
26-Jan-26	08:50:48	GMT	9	648.00	XLON	OXL0870000000000346QJ8	5,832.00
26-Jan-26	08:50:48	GMT	10	648.00	XLON	OXL0814000000000346R0P	6,480.00
26-Jan-26	08:50:48	GMT	10	648.00	XLON	OXL0840000000000346P7A	6,480.00
26-Jan-26	08:50:48	GMT	11	648.00	XLON	OXL08D0000000000346Q9K	7,128.00
26-Jan-26	08:50:48	GMT	12	647.80	XLON	OXL0814000000000346R0R	7,773.60
26-Jan-26	08:50:48	GMT	14	647.80	XLON	OXL0870000000000346QJ9	9,069.20
26-Jan-26	08:50:48	GMT	17	647.80	XLON	OXL0810000000000346PLT	11,012.60
26-Jan-26	08:50:48	GMT	17	648.00	XLON	OXL08A0000000000346R5M	11,016.00
26-Jan-26	08:50:48	GMT	20	648.00	XLON	OXL08A0000000000346R5L	12,960.00
26-Jan-26	08:50:48	GMT	1,800	647.80	XLON	OXL0840000000000346P7B	1,166,040.00
26-Jan-26	08:50:48	GMT	2,108	648.00	XLON	OXL0840000000000346P7C	1,365,984.00
26-Jan-26	08:50:55	GMT	4	647.20	XLON	OXL0810000000000346PMN	2,588.80
26-Jan-26	08:50:55	GMT	4	647.40	XLON	OXL08D0000000000346QA3	2,589.60
26-Jan-26	08:50:55	GMT	5	647.20	XLON	OXL0814000000000346R27	3,236.00
26-Jan-26	08:50:55	GMT	5	647.20	XLON	OXL0840000000000346P88	3,236.00
26-Jan-26	08:50:55	GMT	6	647.20	XLON	OXL0814000000000346R29	3,883.20
26-Jan-26	08:50:55	GMT	6	647.20	XLON	OXL0817000000000346PQM	3,883.20
26-Jan-26	08:50:55	GMT	6	647.20	XLON	OXL08D0000000000346QA5	3,883.20
26-Jan-26	08:50:55	GMT	7	647.20	XLON	OXL0811000000000346PDA	4,530.40
26-Jan-26	08:50:55	GMT	7	647.40	XLON	OXL0814000000000346R24	4,531.80
26-Jan-26	08:50:55	GMT	8	647.20	XLON	OXL0814000000000346R26	5,177.60
26-Jan-26	08:50:55	GMT	8	647.20	XLON	OXL0870000000000346QK4	5,177.60
26-Jan-26	08:50:55	GMT	8	647.20	XLON	OXL08A0000000000346R6D	5,177.60
26-Jan-26	08:50:55	GMT	8	647.60	XLON	OXL0810000000000346PMH	5,180.80

26-Jan-26	08:50:55	GMT	8	647.60	XLON	0XL087000000000346QK2	5,180.80
26-Jan-26	08:50:55	GMT	8	647.60	XLON	0XL08D000000000346QA2	5,180.80
26-Jan-26	08:50:55	GMT	9	647.20	XLON	0XL081000000000346PMK	5,824.80
26-Jan-26	08:50:55	GMT	9	647.20	XLON	0XL081000000000346PMM	5,824.80
26-Jan-26	08:50:55	GMT	9	647.20	XLON	0XL08A000000000346R6B	5,824.80
26-Jan-26	08:50:55	GMT	9	647.60	XLON	0XL081000000000346PMG	5,828.40
26-Jan-26	08:50:55	GMT	9	647.60	XLON	0XL081100000000346PD9	5,828.40
26-Jan-26	08:50:55	GMT	9	647.60	XLON	0XL081400000000346R23	5,828.40
26-Jan-26	08:50:55	GMT	9	647.60	XLON	0XL081700000000346PQL	5,828.40
26-Jan-26	08:50:55	GMT	10	647.60	XLON	0XL081000000000346PMJ	6,476.00
26-Jan-26	08:50:55	GMT	10	647.60	XLON	0XL084000000000346P86	6,476.00
26-Jan-26	08:50:55	GMT	11	647.20	XLON	0XL081400000000346R28	7,119.20
26-Jan-26	08:50:55	GMT	11	647.60	XLON	0XL081400000000346R21	7,123.60
26-Jan-26	08:50:55	GMT	11	647.60	XLON	0XL08D000000000346QA1	7,123.60
26-Jan-26	08:50:55	GMT	12	647.20	XLON	0XL08A000000000346R6C	7,766.40
26-Jan-26	08:50:55	GMT	12	647.60	XLON	0XL081400000000346R22	7,771.20
26-Jan-26	08:50:55	GMT	13	647.20	XLON	0XL081400000000346R25	8,413.60
26-Jan-26	08:50:55	GMT	13	647.20	XLON	0XL08D000000000346QA4	8,413.60
26-Jan-26	08:50:55	GMT	14	647.20	XLON	0XL081000000000346PML	9,060.80
26-Jan-26	08:50:55	GMT	14	647.20	XLON	0XL087000000000346QK5	9,060.80
26-Jan-26	08:50:55	GMT	15	647.60	XLON	0XL087000000000346QK3	9,714.00
26-Jan-26	08:50:55	GMT	17	647.60	XLON	0XL081000000000346PMI	11,009.20
26-Jan-26	08:50:55	GMT	17	647.60	XLON	0XL081400000000346R20	11,009.20
26-Jan-26	08:50:55	GMT	17	647.60	XLON	0XL08A000000000346R69	11,009.20
26-Jan-26	08:50:55	GMT	17	647.60	XLON	0XL08A000000000346R6A	11,009.20
26-Jan-26	08:50:55	GMT	3,441	647.40	XLON	0XL084000000000346P87	2,227,703.40
26-Jan-26	08:50:55	GMT	4,065	647.60	XLON	0XL084000000000346P85	2,632,494.00
26-Jan-26	09:02:00	GMT	4	648.20	XLON	0XL08A000000000346SDI	2,592.80
26-Jan-26	09:02:00	GMT	5	648.20	XLON	0XL081400000000346S18	3,241.00
26-Jan-26	09:02:00	GMT	7	648.20	XLON	0XL08A000000000346SDH	4,537.40
26-Jan-26	09:02:00	GMT	9	648.20	XLON	0XL08A000000000346SDG	5,833.80

26-Jan-26	09:02:00	GMT	11	648.20	XLON	0XL0810000000000346QLA	7,130.20
26-Jan-26	09:02:00	GMT	2,483	648.20	XLON	0XL0840000000000346Q44	1,609,480.60
26-Jan-26	09:02:14	GMT	10	648.00	XLON	0XL0870000000000346RQO	6,480.00
26-Jan-26	09:02:14	GMT	87	648.00	XLON	0XL0840000000000346Q60	56,376.00
26-Jan-26	09:02:16	GMT	2,541	648.00	XLON	0XL0840000000000346Q6A	1,646,568.00
26-Jan-26	09:02:18	GMT	4	647.80	XLON	0XL0870000000000346RRU	2,591.20
26-Jan-26	09:02:18	GMT	5	647.80	XLON	0XL0811000000000346QBR	3,239.00
26-Jan-26	09:02:18	GMT	5	647.80	XLON	0XL0814000000000346S3B	3,239.00
26-Jan-26	09:02:18	GMT	5	647.80	XLON	0XL08D0000000000346RCP	3,239.00
26-Jan-26	09:02:18	GMT	6	647.80	XLON	0XL0810000000000346QN9	3,886.80
26-Jan-26	09:02:18	GMT	6	647.80	XLON	0XL0810000000000346QNA	3,886.80
26-Jan-26	09:02:18	GMT	7	647.80	XLON	0XL0810000000000346QN7	4,534.60
26-Jan-26	09:02:18	GMT	7	647.80	XLON	0XL0814000000000346S38	4,534.60
26-Jan-26	09:02:18	GMT	7	647.80	XLON	0XL0814000000000346S3A	4,534.60
26-Jan-26	09:02:18	GMT	8	647.80	XLON	0XL0817000000000346QPC	5,182.40
26-Jan-26	09:02:18	GMT	8	647.80	XLON	0XL0840000000000346Q71	5,182.40
26-Jan-26	09:02:18	GMT	8	647.80	XLON	0XL08A0000000000346SFT	5,182.40
26-Jan-26	09:02:18	GMT	8	647.80	XLON	0XL08D0000000000346RCQ	5,182.40
26-Jan-26	09:02:18	GMT	9	647.80	XLON	0XL0814000000000346S37	5,830.20
26-Jan-26	09:02:18	GMT	10	647.80	XLON	0XL0810000000000346QN8	6,478.00
26-Jan-26	09:02:18	GMT	10	647.80	XLON	0XL0814000000000346S39	6,478.00
26-Jan-26	09:02:18	GMT	12	647.80	XLON	0XL08A0000000000346SFS	7,773.60
26-Jan-26	09:02:18	GMT	12	647.80	XLON	0XL08A0000000000346SFU	7,773.60
26-Jan-26	09:03:12	GMT	10	647.60	XLON	0XL0870000000000346S0Q	6,476.00
26-Jan-26	09:03:12	GMT	228	647.60	XLON	0XL0840000000000346QA3	147,652.80
26-Jan-26	09:03:12	GMT	2,463	647.60	XLON	0XL0840000000000346QA4	1,595,038.80
26-Jan-26	09:03:21	GMT	7	647.40	XLON	0XL0814000000000346S8P	4,531.80
26-Jan-26	09:03:21	GMT	7	647.40	XLON	0XL0870000000000346S1R	4,531.80
26-Jan-26	09:03:21	GMT	7	647.40	XLON	0XL08D0000000000346RHP	4,531.80
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0810000000000346QSL	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0810000000000346QSM	5,179.20

26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0811000000000346QIG	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0814000000000346S8O	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0814000000000346S8Q	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0814000000000346S8R	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0817000000000346QU6	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL0840000000000346QB6	5,179.20
26-Jan-26	09:03:21	GMT	8	647.40	XLON	0XL08D0000000000346RHO	5,179.20
26-Jan-26	09:03:21	GMT	9	647.40	XLON	0XL0810000000000346QSK	5,826.60
26-Jan-26	09:03:21	GMT	16	647.40	XLON	0XL08A0000000000346SKB	10,358.40
26-Jan-26	09:03:21	GMT	18	647.40	XLON	0XL08A0000000000346SKA	11,653.20
26-Jan-26	09:03:21	GMT	19	647.40	XLON	0XL0810000000000346QSN	12,300.60
26-Jan-26	09:03:21	GMT	19	647.40	XLON	0XL08A0000000000346SK9	12,300.60
26-Jan-26	09:03:21	GMT	21	647.40	XLON	0XL0814000000000346S8S	13,595.40
26-Jan-26	09:03:21	GMT	1,022	647.40	XLON	0XL0840000000000346QB5	661,642.80
26-Jan-26	09:03:31	GMT	6	647.20	XLON	0XL0840000000000346QBF	3,883.20
26-Jan-26	09:03:31	GMT	7	647.20	XLON	0XL0810000000000346QT2	4,530.40
26-Jan-26	09:03:31	GMT	7	647.20	XLON	0XL0814000000000346S9A	4,530.40
26-Jan-26	09:03:31	GMT	7	647.20	XLON	0XL0817000000000346QUE	4,530.40
26-Jan-26	09:03:31	GMT	7	647.20	XLON	0XL08D0000000000346RIC	4,530.40
26-Jan-26	09:03:31	GMT	8	647.20	XLON	0XL0810000000000346QT3	5,177.60
26-Jan-26	09:03:31	GMT	8	647.20	XLON	0XL0810000000000346QT4	5,177.60
26-Jan-26	09:03:31	GMT	8	647.20	XLON	0XL0811000000000346QJ7	5,177.60
26-Jan-26	09:03:31	GMT	8	647.20	XLON	0XL0814000000000346S9B	5,177.60
26-Jan-26	09:03:31	GMT	9	647.20	XLON	0XL0814000000000346S9C	5,824.80
26-Jan-26	09:03:31	GMT	12	647.20	XLON	0XL0814000000000346S9D	7,766.40
26-Jan-26	09:03:31	GMT	17	647.20	XLON	0XL0870000000000346S27	11,002.40
26-Jan-26	09:27:25	GMT	5	649.40	XLON	0XL0814000000000346V2S	3,247.00
26-Jan-26	09:38:04	GMT	8	649.20	XLON	0XL08A00000000003470UL	5,193.60
26-Jan-26	09:38:04	GMT	9	649.20	XLON	0XL081400000000034701O	5,842.80
26-Jan-26	09:38:04	GMT	9	649.20	XLON	0XL08D0000000000346VHL	5,842.80
26-Jan-26	09:38:04	GMT	10	649.20	XLON	0XL08A00000000003470UK	6,492.00

26-Jan-26	09:38:04	GMT	2,826	649.20	XLON	0XL084000000000346TOH	1,834,639.20
26-Jan-26	09:39:37	GMT	23	650.00	XLON	0XL087000000000346VT8	14,950.00
26-Jan-26	09:40:40	GMT	5	649.80	XLON	0XL081000000000346UFR	3,249.00
26-Jan-26	09:40:40	GMT	5	649.80	XLON	0XL0814000000003470EG	3,249.00
26-Jan-26	09:40:40	GMT	5	649.80	XLON	0XL0814000000003470EJ	3,249.00
26-Jan-26	09:40:40	GMT	8	649.80	XLON	0XL081000000000346UFS	5,198.40
26-Jan-26	09:40:40	GMT	8	649.80	XLON	0XL081000000000346UFT	5,198.40
26-Jan-26	09:40:40	GMT	8	649.80	XLON	0XL08A00000000034717C	5,198.40
26-Jan-26	09:40:40	GMT	10	649.80	XLON	0XL08D000000000346VP9	6,498.00
26-Jan-26	09:40:40	GMT	11	649.80	XLON	0XL081000000000346UFQ	7,147.80
26-Jan-26	09:40:40	GMT	12	649.80	XLON	0XL084000000000346U1L	7,797.60
26-Jan-26	09:40:40	GMT	13	649.80	XLON	0XL081700000000346UNE	8,447.40
26-Jan-26	09:40:40	GMT	13	649.80	XLON	0XL08700000000034702A	8,447.40
26-Jan-26	09:40:40	GMT	14	649.80	XLON	0XL0814000000003470EH	9,097.20
26-Jan-26	09:40:40	GMT	14	649.80	XLON	0XL0814000000003470EI	9,097.20
26-Jan-26	09:48:03	GMT	23	649.80	XLON	0XL081100000000346V85	14,945.40
26-Jan-26	09:48:58	GMT	23	649.80	XLON	0XL08A0000000003471S4	14,945.40
26-Jan-26	09:48:58	GMT	23	649.80	XLON	0XL08D0000000003470F2	14,945.40
26-Jan-26	09:49:37	GMT	10	649.40	XLON	0XL08A0000000003471TU	6,494.00
26-Jan-26	09:49:37	GMT	11	649.40	XLON	0XL08A0000000003471TT	7,143.40
26-Jan-26	09:49:37	GMT	12	649.40	XLON	0XL081400000000347199	7,792.80
26-Jan-26	09:49:37	GMT	12	649.40	XLON	0XL08140000000034719D	7,792.80
26-Jan-26	09:49:37	GMT	12	649.40	XLON	0XL081700000000346VAF	7,792.80
26-Jan-26	09:49:37	GMT	12	649.40	XLON	0XL08D0000000003470GP	7,792.80
26-Jan-26	09:49:37	GMT	13	649.40	XLON	0XL081000000000346V0S	8,442.20
26-Jan-26	09:49:37	GMT	13	649.40	XLON	0XL081000000000346V0T	8,442.20
26-Jan-26	09:49:37	GMT	14	649.40	XLON	0XL08140000000034719A	9,091.60
26-Jan-26	09:49:37	GMT	14	649.40	XLON	0XL08A0000000003471TV	9,091.60
26-Jan-26	09:49:37	GMT	15	649.40	XLON	0XL081000000000346V0Q	9,741.00
26-Jan-26	09:49:37	GMT	15	649.40	XLON	0XL081000000000346V0R	9,741.00
26-Jan-26	09:49:37	GMT	15	649.40	XLON	0XL08140000000034719C	9,741.00

26-Jan-26	09:49:37	GMT	15	649.40	XLON	0XL084000000000346UPA	9,741.00
26-Jan-26	09:49:37	GMT	16	649.40	XLON	0XL081400000000034719B	10,390.40
26-Jan-26	09:49:37	GMT	19	649.40	XLON	0XL08700000000003470RV	12,338.60
26-Jan-26	09:49:37	GMT	19	649.40	XLON	0XL08D00000000003470GO	12,338.60
26-Jan-26	09:49:37	GMT	528	649.40	XLON	0XL0840000000000346UP8	342,883.20
26-Jan-26	09:49:37	GMT	3,686	649.40	XLON	0XL0840000000000346UP9	2,393,688.40
26-Jan-26	09:50:00	GMT	11	649.20	XLON	0XL0811000000000346VBU	7,141.20
26-Jan-26	09:50:03	GMT	6	649.00	XLON	0XL0811000000000346VC4	3,894.00
26-Jan-26	09:50:03	GMT	8	649.00	XLON	0XL08700000000003470TD	5,192.00
26-Jan-26	09:50:03	GMT	15	649.00	XLON	0XL08140000000003471B5	9,735.00
26-Jan-26	09:50:03	GMT	19	649.00	XLON	0XL08D00000000003470HP	12,331.00
26-Jan-26	09:50:03	GMT	21	649.00	XLON	0XL08A00000000003471VQ	13,629.00
26-Jan-26	09:50:03	GMT	21	649.00	XLON	0XL08A00000000003471VR	13,629.00
26-Jan-26	09:50:03	GMT	22	649.00	XLON	0XL08140000000003471B7	14,278.00
26-Jan-26	09:50:03	GMT	22	649.00	XLON	0XL0840000000000346UQR	14,278.00
26-Jan-26	09:50:03	GMT	22	649.00	XLON	0XL08D00000000003470HO	14,278.00
26-Jan-26	09:50:03	GMT	23	649.00	XLON	0XL0810000000000346V28	14,927.00
26-Jan-26	09:50:03	GMT	24	649.00	XLON	0XL0817000000000346VBD	15,576.00
26-Jan-26	09:50:03	GMT	26	649.00	XLON	0XL0810000000000346V2A	16,874.00
26-Jan-26	09:50:03	GMT	26	649.00	XLON	0XL08140000000003471B6	16,874.00
26-Jan-26	09:50:03	GMT	26	649.00	XLON	0XL08140000000003471B8	16,874.00
26-Jan-26	09:50:03	GMT	26	649.00	XLON	0XL08140000000003471B9	16,874.00
26-Jan-26	09:50:03	GMT	26	649.00	XLON	0XL08A00000000003471VS	16,874.00
26-Jan-26	09:50:03	GMT	28	649.00	XLON	0XL0810000000000346V27	18,172.00
26-Jan-26	09:50:03	GMT	32	649.00	XLON	0XL0810000000000346V29	20,768.00
26-Jan-26	09:50:03	GMT	3,529	649.00	XLON	0XL0840000000000346UQP	2,290,321.00
26-Jan-26	09:50:03	GMT	5,204	649.00	XLON	0XL0840000000000346UQQ	3,377,396.00
26-Jan-26	09:50:37	GMT	4	648.80	XLON	0XL08140000000003471D4	2,595.20
26-Jan-26	09:50:37	GMT	5	648.80	XLON	0XL08A000000000034721D	3,244.00
26-Jan-26	09:50:37	GMT	7	648.80	XLON	0XL0810000000000346V3S	4,541.60
26-Jan-26	09:50:37	GMT	11	648.80	XLON	0XL08A000000000034721E	7,136.80

26-Jan-26	09:50:37	GMT	11	648.80	XLON	0XL08D00000000003470IS	7,136.80
26-Jan-26	09:50:37	GMT	12	648.80	XLON	0XL08140000000003471D5	7,785.60
26-Jan-26	09:50:37	GMT	22	648.80	XLON	0XL0811000000000346VD8	14,273.60
26-Jan-26	09:51:49	GMT	665	648.60	XLON	0XL0840000000000346V00	431,319.00
26-Jan-26	10:01:10	GMT	4	649.40	XLON	0XL081700000000034706Q	2,597.60
26-Jan-26	10:01:10	GMT	4	649.40	XLON	0XL0840000000000346VV4	2,597.60
26-Jan-26	10:01:10	GMT	4	649.40	XLON	0XL08A00000000003472V9	2,597.60
26-Jan-26	10:01:10	GMT	5	649.40	XLON	0XL08140000000003472DU	3,247.00
26-Jan-26	10:01:10	GMT	6	649.40	XLON	0XL08140000000003472DT	3,896.40
26-Jan-26	10:09:53	GMT	4	649.80	XLON	0XL08110000000003470RP	2,599.20
26-Jan-26	10:09:53	GMT	4	649.80	XLON	0XL08170000000003470OU	2,599.20
26-Jan-26	10:09:53	GMT	4	649.80	XLON	0XL08A00000000003473MT	2,599.20
26-Jan-26	10:09:53	GMT	5	649.80	XLON	0XL08100000000003470CS	3,249.00
26-Jan-26	10:09:53	GMT	5	649.80	XLON	0XL081400000000034736B	3,249.00
26-Jan-26	10:09:53	GMT	6	649.80	XLON	0XL081400000000034736D	3,898.80
26-Jan-26	10:09:53	GMT	6	649.80	XLON	0XL08700000000003472K0	3,898.80
26-Jan-26	10:09:53	GMT	6	649.80	XLON	0XL08A00000000003473MS	3,898.80
26-Jan-26	10:09:53	GMT	6	649.80	XLON	0XL08D000000000034724N	3,898.80
26-Jan-26	10:09:53	GMT	7	649.80	XLON	0XL08100000000003470CU	4,548.60
26-Jan-26	10:09:53	GMT	7	649.80	XLON	0XL081400000000034736A	4,548.60
26-Jan-26	10:09:53	GMT	8	649.80	XLON	0XL08100000000003470CT	5,198.40
26-Jan-26	10:09:53	GMT	9	649.80	XLON	0XL081400000000034736C	5,848.20
26-Jan-26	10:09:53	GMT	1,468	649.80	XLON	0XL08400000000003470NN	953,906.40
26-Jan-26	10:09:53	GMT	2,705	649.80	XLON	0XL08400000000003470NO	1,757,709.00
26-Jan-26	10:32:15	GMT	23	653.60	XLON	0XL08A00000000003475UV	15,032.80
26-Jan-26	10:32:15	GMT	24	653.60	XLON	0XL08140000000003475IK	15,686.40
26-Jan-26	10:32:15	GMT	25	653.60	XLON	0XL08100000000003472C2	16,340.00
26-Jan-26	10:32:15	GMT	25	653.60	XLON	0XL08400000000003472RG	16,340.00
26-Jan-26	10:32:15	GMT	25	653.60	XLON	0XL08700000000003474UV	16,340.00
26-Jan-26	10:32:15	GMT	26	653.60	XLON	0XL08140000000003475II	16,993.60
26-Jan-26	10:32:15	GMT	26	653.60	XLON	0XL08A00000000003475V0	16,993.60

26-Jan-26	10:32:15	GMT	27	653.60	XLON	0XL08D000000000347470	17,647.20
26-Jan-26	10:32:15	GMT	31	653.60	XLON	0XL08140000000003475IJ	20,261.60
26-Jan-26	10:32:15	GMT	1,453	653.60	XLON	0XL08400000000003472RF	949,680.80
26-Jan-26	10:33:07	GMT	22	653.60	XLON	0XL08140000000003475KU	14,379.20
26-Jan-26	10:33:07	GMT	25	653.60	XLON	0XL08A0000000000347620	16,340.00
26-Jan-26	10:33:07	GMT	26	653.60	XLON	0XL08110000000003472RK	16,993.60
26-Jan-26	10:33:07	GMT	26	653.80	XLON	0XL08170000000003472J4	16,998.80
26-Jan-26	10:33:07	GMT	27	653.80	XLON	0XL08100000000003472E6	17,652.60
26-Jan-26	10:33:07	GMT	29	653.80	XLON	0XL08100000000003472E7	18,960.20
26-Jan-26	10:33:07	GMT	3,933	653.80	XLON	0XL08400000000003472TD	2,571,395.40
26-Jan-26	10:33:55	GMT	4	653.40	XLON	0XL08A000000000034763R	2,613.60
26-Jan-26	10:33:55	GMT	6,268	653.40	XLON	0XL08400000000003472VD	4,095,511.20
26-Jan-26	10:35:35	GMT	19	653.20	XLON	0XL08100000000003472JP	12,410.80
26-Jan-26	10:35:35	GMT	20	653.20	XLON	0XL08100000000003472JO	13,064.00
26-Jan-26	10:35:35	GMT	22	653.20	XLON	0XL08170000000003472OB	14,370.40
26-Jan-26	10:35:35	GMT	10,821	653.20	XLON	0XL084000000000034732H	7,068,277.20
26-Jan-26	10:39:23	GMT	22	653.80	XLON	0XL08100000000003472QT	14,383.60
26-Jan-26	10:39:23	GMT	24	653.80	XLON	0XL081400000000034765P	15,691.20
26-Jan-26	10:39:23	GMT	26	653.80	XLON	0XL08700000000003475GT	16,998.80
26-Jan-26	10:42:10	GMT	21	653.60	XLON	0XL08A00000000003476N3	13,725.60
26-Jan-26	10:42:10	GMT	23	653.60	XLON	0XL08140000000003476DN	15,032.80
26-Jan-26	10:42:10	GMT	24	653.60	XLON	0XL08140000000003476DO	15,686.40
26-Jan-26	10:42:10	GMT	24	653.60	XLON	0XL08400000000003473G5	15,686.40
26-Jan-26	10:42:10	GMT	24	653.60	XLON	0XL08A00000000003476N2	15,686.40
26-Jan-26	10:42:10	GMT	24	653.60	XLON	0XL08D000000000034755E	15,686.40
26-Jan-26	10:42:22	GMT	4	653.20	XLON	0XL081000000000034730U	2,612.80
26-Jan-26	10:42:22	GMT	5	653.20	XLON	0XL081700000000034737V	3,266.00
26-Jan-26	10:42:22	GMT	33	653.20	XLON	0XL08400000000003473GH	21,555.60
26-Jan-26	10:42:22	GMT	1,294	653.20	XLON	0XL08400000000003473GI	845,240.80
26-Jan-26	10:42:42	GMT	14	653.00	XLON	0XL08140000000003476EU	9,142.00
26-Jan-26	10:42:42	GMT	15	653.00	XLON	0XL08110000000003473HF	9,795.00

26-Jan-26	10:42:42	GMT	17	653.00	XLON	0XL08A00000000003476ON	11,101.00
26-Jan-26	10:42:42	GMT	23	653.00	XLON	0XL081000000000034731N	15,019.00
26-Jan-26	10:42:42	GMT	24	653.00	XLON	0XL08400000000003473HH	15,672.00
26-Jan-26	10:42:42	GMT	24	653.00	XLON	0XL08D000000000034756V	15,672.00
26-Jan-26	10:42:42	GMT	25	653.00	XLON	0XL08140000000003476ES	16,325.00
26-Jan-26	10:42:42	GMT	25	653.00	XLON	0XL08A00000000003476OM	16,325.00
26-Jan-26	10:42:42	GMT	26	653.00	XLON	0XL08140000000003476ET	16,978.00
26-Jan-26	10:42:42	GMT	28	653.00	XLON	0XL08140000000003476ER	18,284.00
26-Jan-26	10:42:42	GMT	37	653.00	XLON	0XL08700000000003475N1	24,161.00
26-Jan-26	10:43:16	GMT	4	652.80	XLON	0XL08140000000003476G3	2,611.20
26-Jan-26	10:43:16	GMT	6	652.80	XLON	0XL08110000000003473IJ	3,916.80
26-Jan-26	10:43:16	GMT	6	652.80	XLON	0XL08700000000003475NO	3,916.80
26-Jan-26	10:43:16	GMT	13	652.80	XLON	0XL08A00000000003476PK	8,486.40
26-Jan-26	10:43:16	GMT	22	652.80	XLON	0XL081000000000034732J	14,361.60
26-Jan-26	10:43:16	GMT	23	652.80	XLON	0XL081000000000034732I	15,014.40
26-Jan-26	10:43:16	GMT	28	652.80	XLON	0XL081000000000034732H	18,278.40
26-Jan-26	10:43:16	GMT	30	652.80	XLON	0XL08170000000003473A2	19,584.00
26-Jan-26	10:43:16	GMT	40	652.80	XLON	0XL08A00000000003476PL	26,112.00
26-Jan-26	10:43:16	GMT	7,716	652.80	XLON	0XL084000000000034731I	5,037,004.80
26-Jan-26	10:43:22	GMT	11	652.60	XLON	0XL08140000000003476GH	7,178.60
26-Jan-26	10:43:22	GMT	12	652.60	XLON	0XL08140000000003476GG	7,831.20
26-Jan-26	10:43:22	GMT	13	652.60	XLON	0XL08400000000003473IB	8,483.80
26-Jan-26	10:43:22	GMT	14	652.60	XLON	0XL08A00000000003476PU	9,136.40
26-Jan-26	10:43:22	GMT	18	652.60	XLON	0XL0810000000000347336	11,746.80
26-Jan-26	10:43:22	GMT	18	652.60	XLON	0XL08D000000000034757Q	11,746.80
26-Jan-26	10:43:22	GMT	19	652.60	XLON	0XL08110000000003473IS	12,399.40
26-Jan-26	10:43:22	GMT	20	652.60	XLON	0XL08140000000003476GI	13,052.00
26-Jan-26	10:45:16	GMT	5	652.40	XLON	0XL08A00000000003476TU	3,262.00
26-Jan-26	10:45:16	GMT	7	652.40	XLON	0XL08170000000003473DD	4,566.80
26-Jan-26	10:45:16	GMT	7	652.40	XLON	0XL08A00000000003476TV	4,566.80
26-Jan-26	10:45:16	GMT	8	652.40	XLON	0XL081000000000034737A	5,219.20

26-Jan-26	10:45:16	GMT	8	652.40	XLON	OXL08100000000034737B	5,219.20
26-Jan-26	10:45:16	GMT	12	652.40	XLON	OXL0814000000003476LB	7,828.80
26-Jan-26	10:45:16	GMT	3,229	652.40	XLON	OXL0840000000003473LM	2,106,599.60
26-Jan-26	10:45:35	GMT	6	652.20	XLON	OXL081000000000347383	3,913.20
26-Jan-26	10:45:35	GMT	7	652.20	XLON	OXL0814000000003476M5	4,565.40
26-Jan-26	10:45:35	GMT	8	652.20	XLON	OXL0811000000003473NS	5,217.60
26-Jan-26	10:45:35	GMT	8	652.20	XLON	OXL0814000000003476M6	5,217.60
26-Jan-26	10:45:35	GMT	8	652.20	XLON	OXL0840000000003473MT	5,217.60
26-Jan-26	10:45:35	GMT	24	652.20	XLON	OXL081000000000347382	15,652.80
26-Jan-26	10:45:35	GMT	2,038	652.20	XLON	OXL0840000000003473MU	1,329,183.60
26-Jan-26	10:46:30	GMT	4	652.00	XLON	OXL08100000000034739M	2,608.00
26-Jan-26	10:46:30	GMT	4	652.00	XLON	OXL0814000000003476O1	2,608.00
26-Jan-26	10:46:30	GMT	5	652.00	XLON	OXL08D0000000003475GR	3,260.00
26-Jan-26	10:46:30	GMT	7	652.00	XLON	OXL08100000000034739L	4,564.00
26-Jan-26	10:46:30	GMT	8	652.00	XLON	OXL0814000000003476O2	5,216.00
26-Jan-26	10:46:30	GMT	13	652.00	XLON	OXL08A00000000034770S	8,476.00
26-Jan-26	10:47:01	GMT	4	652.00	XLON	OXL08A00000000034771T	2,608.00
26-Jan-26	10:47:01	GMT	6	652.00	XLON	OXL0870000000003475U9	3,912.00
26-Jan-26	10:54:22	GMT	5	651.80	XLON	OXL0811000000003474BE	3,259.00
26-Jan-26	10:54:22	GMT	6	651.80	XLON	OXL0814000000003477AD	3,910.80
26-Jan-26	10:54:22	GMT	6	651.80	XLON	OXL0870000000003476IF	3,910.80
26-Jan-26	10:54:22	GMT	6	651.80	XLON	OXL08A0000000003477IJ	3,910.80
26-Jan-26	10:54:22	GMT	6	651.80	XLON	OXL08D0000000003476B7	3,910.80
26-Jan-26	10:54:22	GMT	7	651.80	XLON	OXL0810000000003473TF	4,562.60
26-Jan-26	10:54:22	GMT	7	651.80	XLON	OXL0814000000003477AE	4,562.60
26-Jan-26	10:54:22	GMT	7	651.80	XLON	OXL08170000000034741H	4,562.60
26-Jan-26	10:54:22	GMT	7	651.80	XLON	OXL08A0000000003477II	4,562.60
26-Jan-26	10:54:22	GMT	7	651.80	XLON	OXL08A0000000003477IK	4,562.60
26-Jan-26	10:54:22	GMT	9	651.80	XLON	OXL0840000000003474BS	5,866.20
26-Jan-26	10:54:22	GMT	21	651.80	XLON	OXL0810000000003473TE	13,687.80
26-Jan-26	10:54:22	GMT	2,391	651.80	XLON	OXL0840000000003474BR	1,558,453.80

26-Jan-26	10:54:31	GMT	5	651.60	XLON	0XL08140000000003477AO	3,258.00
26-Jan-26	10:54:31	GMT	6	651.60	XLON	0XL08100000000003473TV	3,909.60
26-Jan-26	10:54:31	GMT	7	651.60	XLON	0XL08100000000003473U0	4,561.20
26-Jan-26	10:54:31	GMT	16	651.60	XLON	0XL08140000000003477AN	10,425.60
26-Jan-26	10:54:31	GMT	1,176	651.60	XLON	0XL08400000000003474CI	766,281.60
26-Jan-26	10:55:32	GMT	4	651.40	XLON	0XL08A00000000003477KR	2,605.60
26-Jan-26	10:55:32	GMT	5	651.40	XLON	0XL0810000000000347406	3,257.00
26-Jan-26	10:55:32	GMT	5	651.40	XLON	0XL08400000000003474ET	3,257.00
26-Jan-26	10:55:32	GMT	5	651.40	XLON	0XL08700000000003476L3	3,257.00
26-Jan-26	10:55:32	GMT	5	651.40	XLON	0XL08D00000000003476E4	3,257.00
26-Jan-26	10:55:32	GMT	6	651.40	XLON	0XL0810000000000347408	3,908.40
26-Jan-26	10:55:32	GMT	6	651.40	XLON	0XL08140000000003477CV	3,908.40
26-Jan-26	10:55:32	GMT	6	651.40	XLON	0XL08140000000003477D1	3,908.40
26-Jan-26	10:55:32	GMT	7	651.40	XLON	0XL0810000000000347407	4,559.80
26-Jan-26	10:55:32	GMT	7	651.40	XLON	0XL0817000000000347442	4,559.80
26-Jan-26	10:55:32	GMT	7	651.40	XLON	0XL08A00000000003477KP	4,559.80
26-Jan-26	10:55:32	GMT	7	651.40	XLON	0XL08A00000000003477KQ	4,559.80
26-Jan-26	10:55:32	GMT	8	651.40	XLON	0XL0810000000000347409	5,211.20
26-Jan-26	10:55:32	GMT	8	651.40	XLON	0XL08140000000003477D0	5,211.20
26-Jan-26	10:55:32	GMT	11	651.40	XLON	0XL08110000000003474E7	7,165.40
26-Jan-26	10:55:32	GMT	55	651.40	XLON	0XL08140000000003477CU	35,827.00
26-Jan-26	10:55:55	GMT	4	651.20	XLON	0XL08140000000003477DQ	2,604.80
26-Jan-26	10:55:55	GMT	1,121	651.20	XLON	0XL08400000000003474FR	729,995.20
26-Jan-26	10:55:55	GMT	1,340	651.20	XLON	0XL08400000000003474FQ	872,608.00
26-Jan-26	11:04:36	GMT	4	652.20	XLON	0XL0814000000000347848	2,608.80
26-Jan-26	11:04:36	GMT	5	652.20	XLON	0XL08A00000000003478BD	3,261.00
26-Jan-26	11:04:36	GMT	8	652.20	XLON	0XL08100000000003474MS	5,217.60
26-Jan-26	11:05:55	GMT	395	652.00	XLON	0XL084000000000034755E	257,540.00
26-Jan-26	11:10:28	GMT	4	652.20	XLON	0XL08700000000003477PS	2,608.80
26-Jan-26	11:20:55	GMT	162	652.00	XLON	0XL08400000000003475UD	105,624.00
26-Jan-26	11:20:55	GMT	1,382	652.00	XLON	0XL08400000000003475UC	901,064.00

26-Jan-26	11:27:19	GMT	23	652.20	XLON	0XL08100000000034762V	15,000.60
26-Jan-26	11:27:19	GMT	24	652.20	XLON	0XL08140000000003479IA	15,652.80
26-Jan-26	11:31:27	GMT	24	652.20	XLON	0XL08110000000003476K0	15,652.80
26-Jan-26	11:34:07	GMT	23	652.20	XLON	0XL08A0000000000347AIG	15,000.60
26-Jan-26	11:34:07	GMT	23	652.20	XLON	0XL08A0000000000347AIH	15,000.60
26-Jan-26	11:34:07	GMT	24	652.20	XLON	0XL08100000000003476ER	15,652.80
26-Jan-26	11:34:07	GMT	24	652.20	XLON	0XL08170000000003476CM	15,652.80
26-Jan-26	11:34:07	GMT	24	652.20	XLON	0XL08400000000003476LJ	15,652.80
26-Jan-26	11:34:07	GMT	24	652.20	XLON	0XL08D00000000003479GD	15,652.80
26-Jan-26	11:34:07	GMT	25	652.20	XLON	0XL0814000000000347A4Q	16,305.00
26-Jan-26	11:34:07	GMT	26	652.20	XLON	0XL08100000000003476EQ	16,957.20
26-Jan-26	11:34:07	GMT	27	652.20	XLON	0XL0814000000000347A4P	17,609.40
26-Jan-26	11:43:51	GMT	4,307	652.20	XLON	0XL084000000000034775U	2,809,025.40
26-Jan-26	11:43:52	GMT	22	652.20	XLON	0XL08A0000000000347B62	14,348.40
26-Jan-26	11:43:52	GMT	26	652.20	XLON	0XL08700000000003479M1	16,957.20
26-Jan-26	11:43:52	GMT	545	652.20	XLON	0XL084000000000034775V	355,449.00
26-Jan-26	11:44:08	GMT	22	652.20	XLON	0XL0814000000000347AN1	14,348.40
26-Jan-26	11:44:08	GMT	23	652.20	XLON	0XL08110000000003477AB	15,000.60
26-Jan-26	11:44:08	GMT	25	652.20	XLON	0XL081000000000034770R	16,305.00
26-Jan-26	11:46:25	GMT	21	652.00	XLON	0XL08A0000000000347BDN	13,692.00
26-Jan-26	11:46:25	GMT	23	652.00	XLON	0XL0810000000000347769	14,996.00
26-Jan-26	11:46:25	GMT	23	652.00	XLON	0XL0814000000000347AS2	14,996.00
26-Jan-26	11:46:25	GMT	4,156	652.00	XLON	0XL08400000000003477AE	2,709,712.00
26-Jan-26	11:48:56	GMT	28	651.80	XLON	0XL08400000000003477FA	18,250.40
26-Jan-26	11:52:24	GMT	25	652.20	XLON	0XL08170000000003477CS	16,305.00
26-Jan-26	11:52:24	GMT	45	652.20	XLON	0XL08400000000003477KF	29,349.00
26-Jan-26	11:52:35	GMT	26	652.20	XLON	0XL08400000000003477KV	16,957.20
26-Jan-26	11:53:51	GMT	104	652.20	XLON	0XL08400000000003477NJ	67,828.80
26-Jan-26	11:54:20	GMT	390	652.20	XLON	0XL08400000000003477OA	254,358.00
26-Jan-26	11:57:02	GMT	23	652.40	XLON	0XL081100000000034783A	15,005.20
26-Jan-26	11:57:02	GMT	25	652.40	XLON	0XL0814000000000347BI2	16,310.00

26-Jan-26	11:57:02	GMT	27	652.40	XLON	OXL08A000000000347C6G	17,614.80
26-Jan-26	11:57:02	GMT	28	652.40	XLON	OXL0814000000000347BHV	18,267.20
26-Jan-26	11:57:02	GMT	28	652.40	XLON	OXL0814000000000347BIO	18,267.20
26-Jan-26	11:57:02	GMT	28	652.40	XLON	OXL0814000000000347BI1	18,267.20
26-Jan-26	11:57:02	GMT	28	652.40	XLON	OXL0870000000000347AFQ	18,267.20
26-Jan-26	11:57:02	GMT	28	652.40	XLON	OXL08D0000000000347B5K	18,267.20
26-Jan-26	11:57:02	GMT	30	652.40	XLON	OXL08100000000003477S8	19,572.00
26-Jan-26	11:57:02	GMT	33	652.40	XLON	OXL08100000000003477S9	21,529.20
26-Jan-26	11:57:02	GMT	6,749	652.40	XLON	OXL08400000000003477S3	4,403,047.60
26-Jan-26	12:02:54	GMT	24	652.80	XLON	OXL0814000000000347C4A	15,667.20
26-Jan-26	12:02:54	GMT	24	652.80	XLON	OXL08D0000000000347BQ4	15,667.20
26-Jan-26	12:02:54	GMT	25	652.80	XLON	OXL081700000000034785S	16,320.00
26-Jan-26	12:02:54	GMT	1,448	652.80	XLON	OXL08400000000003478AP	945,254.40
26-Jan-26	12:02:54	GMT	2,186	652.80	XLON	OXL08400000000003478AQ	1,427,020.80
26-Jan-26	12:04:37	GMT	22	652.60	XLON	OXL08100000000003478IJ	14,357.20
26-Jan-26	12:04:37	GMT	23	652.60	XLON	OXL08100000000003478IK	15,009.80
26-Jan-26	12:04:37	GMT	25	652.60	XLON	OXL0814000000000347C97	16,315.00
26-Jan-26	12:04:37	GMT	25	652.60	XLON	OXL08A0000000000347CU7	16,315.00
26-Jan-26	12:04:37	GMT	25	652.60	XLON	OXL08A0000000000347CU8	16,315.00
26-Jan-26	12:04:37	GMT	26	652.60	XLON	OXL0814000000000347C98	16,967.60
26-Jan-26	12:04:37	GMT	29	652.60	XLON	OXL08100000000003478II	18,925.40
26-Jan-26	12:04:37	GMT	30	652.60	XLON	OXL08400000000003478E9	19,578.00
26-Jan-26	12:04:37	GMT	32	652.60	XLON	OXL08A0000000000347CU6	20,883.20
26-Jan-26	12:04:37	GMT	33	652.60	XLON	OXL08100000000003478IL	21,535.80
26-Jan-26	12:04:37	GMT	1,583	652.60	XLON	OXL08400000000003478E8	1,033,065.80
26-Jan-26	12:04:37	GMT	1,815	652.60	XLON	OXL08400000000003478E7	1,184,469.00
26-Jan-26	12:11:52	GMT	28	653.40	XLON	OXL08A0000000000347DGQ	18,295.20
26-Jan-26	12:11:52	GMT	29	653.40	XLON	OXL08400000000003478T4	18,948.60
26-Jan-26	12:11:52	GMT	29	653.40	XLON	OXL0870000000000347BI9	18,948.60
26-Jan-26	12:11:52	GMT	2,394	653.40	XLON	OXL08400000000003478T5	1,564,239.60
26-Jan-26	12:11:57	GMT	5,526	653.40	XLON	OXL08400000000003478TG	3,610,688.40

26-Jan-26	12:12:21	GMT	14	653.20	XLON	0XL081000000000347925	9,144.80
26-Jan-26	12:12:21	GMT	14	653.20	XLON	0XL081400000000347CQ5	9,144.80
26-Jan-26	12:12:21	GMT	22	653.20	XLON	0XL081400000000347CQ4	14,370.40
26-Jan-26	12:12:21	GMT	22	653.20	XLON	0XL08A000000000347DI3	14,370.40
26-Jan-26	12:12:21	GMT	24	653.20	XLON	0XL0811000000003479AO	15,676.80
26-Jan-26	12:12:21	GMT	26	653.20	XLON	0XL081000000000347926	16,983.20
26-Jan-26	12:12:21	GMT	3,131	653.20	XLON	0XL0840000000003478U3	2,045,169.20
26-Jan-26	12:12:46	GMT	23	653.00	XLON	0XL08D000000000347CHS	15,019.00
26-Jan-26	12:12:46	GMT	24	653.00	XLON	0XL08100000000034793A	15,672.00
26-Jan-26	12:12:46	GMT	24	653.00	XLON	0XL0817000000003478U2	15,672.00
26-Jan-26	12:12:46	GMT	25	653.00	XLON	0XL08A000000000347DJ2	16,325.00
26-Jan-26	12:12:46	GMT	27	653.00	XLON	0XL0840000000003478UI	17,631.00
26-Jan-26	12:12:46	GMT	27	653.00	XLON	0XL087000000000347BK9	17,631.00
26-Jan-26	12:12:46	GMT	1,676	653.00	XLON	0XL0840000000003478UH	1,094,428.00
26-Jan-26	12:12:48	GMT	7	652.80	XLON	0XL081400000000347CR6	4,569.60
26-Jan-26	12:12:48	GMT	8	652.80	XLON	0XL08100000000034793L	5,222.40
26-Jan-26	12:12:48	GMT	11	652.80	XLON	0XL081400000000347CR5	7,180.80
26-Jan-26	12:12:48	GMT	12	652.80	XLON	0XL08A000000000347DJ6	7,833.60
26-Jan-26	12:12:48	GMT	14	652.80	XLON	0XL081400000000347CR7	9,139.20
26-Jan-26	12:12:48	GMT	19	652.80	XLON	0XL08100000000034793K	12,403.20
26-Jan-26	12:12:48	GMT	22	652.80	XLON	0XL0811000000003479BF	14,361.60
26-Jan-26	12:12:48	GMT	23	652.80	XLON	0XL081400000000347CR4	15,014.40
26-Jan-26	12:12:48	GMT	25	652.80	XLON	0XL08100000000034793J	16,320.00
26-Jan-26	12:12:48	GMT	5,193	652.80	XLON	0XL0840000000003478UL	3,389,990.40
26-Jan-26	12:18:09	GMT	23	653.00	XLON	0XL0810000000003479DV	15,019.00
26-Jan-26	12:18:09	GMT	24	653.00	XLON	0XL081400000000347D56	15,672.00
26-Jan-26	12:22:07	GMT	23	653.20	XLON	0XL08A000000000347EAI	15,023.60
26-Jan-26	12:22:07	GMT	24	653.20	XLON	0XL08A000000000347EAJ	15,676.80
26-Jan-26	12:26:46	GMT	22	653.60	XLON	0XL081400000000347DSC	14,379.20
26-Jan-26	12:26:46	GMT	25	653.60	XLON	0XL08D000000000347DKP	16,340.00
26-Jan-26	12:26:46	GMT	2,403	653.60	XLON	0XL0840000000003479OQ	1,570,600.80

26-Jan-26	12:28:10	GMT	24	653.40	XLON	OXL081000000000347A7H	15,681.60
26-Jan-26	12:28:10	GMT	24	653.40	XLON	OXL08170000000003479UL	15,681.60
26-Jan-26	12:28:10	GMT	29	653.40	XLON	OXL0814000000000347DVR	18,948.60
26-Jan-26	12:28:10	GMT	2,659	653.40	XLON	OXL08400000000003479R4	1,737,390.60
26-Jan-26	12:28:37	GMT	24	653.20	XLON	OXL08D0000000000347DP0	15,676.80
26-Jan-26	12:29:27	GMT	4	653.20	XLON	OXL08400000000003479SI	2,612.80
26-Jan-26	12:29:27	GMT	25	653.20	XLON	OXL0811000000000347AFP	16,330.00
26-Jan-26	12:29:51	GMT	8	653.00	XLON	OXL08A0000000000347ESM	5,224.00
26-Jan-26	12:29:51	GMT	9	653.00	XLON	OXL0810000000000347AA6	5,877.00
26-Jan-26	12:29:51	GMT	10	653.00	XLON	OXL0810000000000347AA9	6,530.00
26-Jan-26	12:29:51	GMT	10	653.00	XLON	OXL08A0000000000347ESN	6,530.00
26-Jan-26	12:29:51	GMT	11	653.00	XLON	OXL0814000000000347E2A	7,183.00
26-Jan-26	12:29:51	GMT	12	653.00	XLON	OXL08A0000000000347ESL	7,836.00
26-Jan-26	12:29:51	GMT	13	653.00	XLON	OXL0870000000000347CLF	8,489.00
26-Jan-26	12:29:51	GMT	16	653.00	XLON	OXL0810000000000347AA7	10,448.00
26-Jan-26	12:29:51	GMT	24	653.00	XLON	OXL0814000000000347E29	15,672.00
26-Jan-26	12:29:51	GMT	28	653.00	XLON	OXL0810000000000347AA8	18,284.00
26-Jan-26	12:31:00	GMT	5	652.80	XLON	OXL0814000000000347E5I	3,264.00
26-Jan-26	12:31:00	GMT	6	652.80	XLON	OXL08D0000000000347DUR	3,916.80
26-Jan-26	12:31:00	GMT	7	652.80	XLON	OXL0810000000000347ADV	4,569.60
26-Jan-26	12:31:00	GMT	11	652.80	XLON	OXL0811000000000347AIT	7,180.80
26-Jan-26	12:31:00	GMT	13	652.80	XLON	OXL08400000000003479V6	8,486.40
26-Jan-26	12:31:00	GMT	4,676	652.80	XLON	OXL08400000000003479V5	3,052,492.80
26-Jan-26	12:31:51	GMT	7	652.60	XLON	OXL0814000000000347E7C	4,568.20
26-Jan-26	12:31:51	GMT	10	652.60	XLON	OXL0814000000000347E7B	6,526.00
26-Jan-26	12:31:51	GMT	11	652.60	XLON	OXL0814000000000347E7A	7,178.60
26-Jan-26	12:31:51	GMT	12	652.60	XLON	OXL08D0000000000347E12	7,831.20
26-Jan-26	12:31:51	GMT	14	652.60	XLON	OXL0840000000000347A1U	9,136.40
26-Jan-26	12:31:51	GMT	15	652.60	XLON	OXL0817000000000347A5Q	9,789.00
26-Jan-26	12:31:51	GMT	17	652.60	XLON	OXL0810000000000347AGF	11,094.20
26-Jan-26	12:31:51	GMT	18	652.60	XLON	OXL0810000000000347AGG	11,746.80

26-Jan-26	12:31:51	GMT	20	652.60	XLON	OXL081000000000347AGH	13,052.00
26-Jan-26	12:31:51	GMT	20	652.60	XLON	OXL081400000000347E7D	13,052.00
26-Jan-26	12:31:51	GMT	22	652.60	XLON	OXL08A000000000347F3C	14,357.20
26-Jan-26	12:31:51	GMT	27	652.60	XLON	OXL081000000000347AGI	17,620.20
26-Jan-26	12:31:51	GMT	29	652.60	XLON	OXL08A000000000347F3E	18,925.40
26-Jan-26	12:31:51	GMT	30	652.60	XLON	OXL08A000000000347F3D	19,578.00
26-Jan-26	12:31:51	GMT	31	652.60	XLON	OXL087000000000347CQF	20,230.60
26-Jan-26	12:31:51	GMT	4,118	652.60	XLON	OXL084000000000347A20	2,687,406.80
26-Jan-26	12:31:51	GMT	10,303	652.60	XLON	OXL084000000000347A1V	6,723,737.80
26-Jan-26	12:34:11	GMT	25	652.80	XLON	OXL081400000000347ECT	16,320.00
26-Jan-26	12:37:07	GMT	2	652.40	XLON	OXL08A000000000347FJ2	1,304.80
26-Jan-26	12:37:07	GMT	7	652.40	XLON	OXL087000000000347D5J	4,566.80
26-Jan-26	12:37:07	GMT	9	652.40	XLON	OXL081400000000347EIK	5,871.60
26-Jan-26	12:37:07	GMT	14	652.40	XLON	OXL08A000000000347FJ1	9,133.60
26-Jan-26	12:37:07	GMT	17	652.40	XLON	OXL081000000000347AR0	11,090.80
26-Jan-26	12:37:07	GMT	17	652.40	XLON	OXL081400000000347EIJ	11,090.80
26-Jan-26	12:37:07	GMT	26	652.40	XLON	OXL081400000000347EIL	16,962.40
26-Jan-26	12:37:19	GMT	6	652.40	XLON	OXL08A000000000347FJC	3,914.40
26-Jan-26	12:37:19	GMT	13	652.40	XLON	OXL081000000000347ARB	8,481.20
26-Jan-26	12:37:19	GMT	15	652.40	XLON	OXL081400000000347EIV	9,786.00
26-Jan-26	12:37:19	GMT	15	652.40	XLON	OXL084000000000347AER	9,786.00
26-Jan-26	12:37:19	GMT	27	652.40	XLON	OXL081100000000347AVP	17,614.80
26-Jan-26	12:37:33	GMT	4	652.20	XLON	OXL087000000000347D68	2,608.80
26-Jan-26	12:37:33	GMT	6	652.20	XLON	OXL081000000000347ARS	3,913.20
26-Jan-26	12:37:33	GMT	6	652.20	XLON	OXL08A000000000347FJQ	3,913.20
26-Jan-26	12:37:33	GMT	16	652.20	XLON	OXL081400000000347EJ5	10,435.20
26-Jan-26	12:37:33	GMT	16	652.20	XLON	OXL081700000000347AJU	10,435.20
26-Jan-26	12:37:33	GMT	24	652.20	XLON	OXL081000000000347ARR	15,652.80
26-Jan-26	12:37:33	GMT	2,791	652.20	XLON	OXL084000000000347AF1	1,820,290.20
26-Jan-26	12:38:06	GMT	2	652.00	XLON	OXL081400000000347EKF	1,304.00
26-Jan-26	12:38:06	GMT	6	652.00	XLON	OXL08D000000000347EIH	3,912.00

26-Jan-26	12:38:06	GMT	8	652.00	XLON	OXL0814000000000347EKE	5,216.00
26-Jan-26	12:38:06	GMT	525	652.00	XLON	OXL0840000000000347AG1	342,300.00
26-Jan-26	12:38:06	GMT	1,550	652.00	XLON	OXL0840000000000347AG2	1,010,600.00
26-Jan-26	12:40:06	GMT	6	652.00	XLON	OXL0811000000000347B55	3,912.00
26-Jan-26	12:40:06	GMT	9	652.00	XLON	OXL0814000000000347EP1	5,868.00
26-Jan-26	12:47:52	GMT	6	652.80	XLON	OXL08A0000000000347GDS	3,916.80
26-Jan-26	12:47:52	GMT	9	652.80	XLON	OXL0814000000000347F9Q	5,875.20
26-Jan-26	12:47:52	GMT	3,603	652.80	XLON	OXL0840000000000347B5K	2,352,038.40
26-Jan-26	12:48:04	GMT	4	652.60	XLON	OXL08D0000000000347FHA	2,610.40
26-Jan-26	12:48:04	GMT	8	652.60	XLON	OXL0810000000000347BK8	5,220.80
26-Jan-26	12:48:04	GMT	8	652.60	XLON	OXL0814000000000347FA1	5,220.80
26-Jan-26	12:48:04	GMT	9	652.60	XLON	OXL0810000000000347BKA	5,873.40
26-Jan-26	12:48:04	GMT	9	652.60	XLON	OXL08A0000000000347GF0	5,873.40
26-Jan-26	12:48:04	GMT	11	652.60	XLON	OXL0810000000000347BK9	7,178.60
26-Jan-26	12:48:04	GMT	13	652.60	XLON	OXL0814000000000347FA2	8,483.80
26-Jan-26	12:48:04	GMT	14	652.60	XLON	OXL0810000000000347BKB	9,136.40
26-Jan-26	12:48:04	GMT	14	652.60	XLON	OXL0870000000000347DTB	9,136.40
26-Jan-26	12:48:04	GMT	14	652.60	XLON	OXL08A0000000000347GEV	9,136.40
26-Jan-26	12:48:04	GMT	4,468	652.60	XLON	OXL0840000000000347B6B	2,915,816.80
26-Jan-26	12:50:10	GMT	5	652.40	XLON	OXL0814000000000347FFH	3,262.00
26-Jan-26	12:50:10	GMT	13	652.40	XLON	OXL0814000000000347FFI	8,481.20
26-Jan-26	12:50:10	GMT	15	652.40	XLON	OXL0840000000000347BC3	9,786.00
26-Jan-26	12:50:10	GMT	15	652.40	XLON	OXL08A0000000000347GL4	9,786.00
26-Jan-26	12:50:10	GMT	16	652.40	XLON	OXL0817000000000347BGQ	10,438.40
26-Jan-26	12:50:47	GMT	1	652.20	XLON	OXL08A0000000000347GML	652.20
26-Jan-26	12:50:47	GMT	8	652.20	XLON	OXL0810000000000347BSA	5,217.60
26-Jan-26	12:50:47	GMT	9	652.20	XLON	OXL0811000000000347BT8	5,869.80
26-Jan-26	12:50:47	GMT	13	652.20	XLON	OXL0810000000000347BS9	8,478.60
26-Jan-26	12:50:47	GMT	13	652.20	XLON	OXL0814000000000347FG4	8,478.60
26-Jan-26	12:50:47	GMT	13	652.20	XLON	OXL0870000000000347E4L	8,478.60
26-Jan-26	12:50:47	GMT	14	652.20	XLON	OXL08A0000000000347GMJ	9,130.80

26-Jan-26	12:50:47	GMT	14	652.20	XLON	OXL08A000000000347GMK	9,130.80
26-Jan-26	12:50:47	GMT	16	652.20	XLON	OXL081000000000347BS8	10,435.20
26-Jan-26	12:50:47	GMT	16	652.20	XLON	OXL081000000000347BSB	10,435.20
26-Jan-26	12:50:47	GMT	16	652.20	XLON	OXL08D000000000347FOH	10,435.20
26-Jan-26	12:50:47	GMT	19	652.20	XLON	OXL081400000000347FG3	12,391.80
26-Jan-26	12:50:47	GMT	4,291	652.20	XLON	OXL084000000000347BD2	2,798,590.20
26-Jan-26	12:53:24	GMT	26	652.40	XLON	OXL081700000000347BNL	16,962.40
26-Jan-26	12:59:20	GMT	22	653.00	XLON	OXL08A000000000347HBR	14,366.00
26-Jan-26	12:59:20	GMT	23	653.00	XLON	OXL081400000000347G15	15,019.00
26-Jan-26	12:59:20	GMT	26	653.00	XLON	OXL081100000000347CGG	16,978.00
26-Jan-26	12:59:20	GMT	26	653.00	XLON	OXL084000000000347BV3	16,978.00
26-Jan-26	13:00:22	GMT	22	653.00	XLON	OXL081000000000347CJS	14,366.00
26-Jan-26	13:00:22	GMT	25	653.00	XLON	OXL081400000000347G4B	16,325.00
26-Jan-26	13:00:22	GMT	26	653.00	XLON	OXL08D000000000347GFN	16,978.00
26-Jan-26	13:04:11	GMT	23	652.80	XLON	OXL08A000000000347HPJ	15,014.40
26-Jan-26	13:04:11	GMT	25	652.80	XLON	OXL081400000000347GD1	16,320.00
26-Jan-26	13:05:59	GMT	23	653.00	XLON	OXL081400000000347GHN	15,019.00
26-Jan-26	13:05:59	GMT	24	653.00	XLON	OXL08A000000000347HTR	15,672.00
26-Jan-26	13:05:59	GMT	25	653.00	XLON	OXL08D000000000347H00	16,325.00
26-Jan-26	13:05:59	GMT	27	653.00	XLON	OXL084000000000347CFG	17,631.00
26-Jan-26	13:08:45	GMT	22	653.00	XLON	OXL084000000000347CMC	14,366.00
26-Jan-26	13:08:45	GMT	3,550	653.00	XLON	OXL084000000000347CMD	2,318,150.00
26-Jan-26	13:10:34	GMT	22	652.80	XLON	OXL081000000000347DBQ	14,361.60
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL081000000000347DBN	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL081000000000347DBP	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL081100000000347DC3	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL087000000000347FP3	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL08A000000000347IFU	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL08A000000000347IFV	15,014.40
26-Jan-26	13:10:34	GMT	23	652.80	XLON	OXL08A000000000347IG0	15,014.40
26-Jan-26	13:10:34	GMT	24	652.80	XLON	OXL081000000000347DBO	15,667.20

26-Jan-26	13:10:34	GMT	24	652.80	XLON	0XL0814000000000347GVP	15,667.20
26-Jan-26	13:10:34	GMT	24	652.80	XLON	0XL0817000000000347CQT	15,667.20
26-Jan-26	13:10:34	GMT	25	652.80	XLON	0XL0814000000000347GVO	16,320.00
26-Jan-26	13:10:34	GMT	25	652.80	XLON	0XL0814000000000347GVQ	16,320.00
26-Jan-26	13:10:34	GMT	25	652.80	XLON	0XL08D0000000000347HFB	16,320.00
26-Jan-26	13:11:03	GMT	22	652.80	XLON	0XL0814000000000347H1J	14,361.60
26-Jan-26	13:11:03	GMT	24	652.80	XLON	0XL0814000000000347H1K	15,667.20
26-Jan-26	13:11:03	GMT	27	652.80	XLON	0XL0814000000000347H1I	17,625.60
26-Jan-26	13:11:03	GMT	29	652.80	XLON	0XL08A0000000000347HIH	18,931.20
26-Jan-26	13:11:03	GMT	35	652.80	XLON	0XL0814000000000347H1H	22,848.00
26-Jan-26	13:11:03	GMT	36	652.80	XLON	0XL0810000000000347DD8	23,500.80
26-Jan-26	13:11:08	GMT	22	652.60	XLON	0XL0840000000000347CRL	14,357.20
26-Jan-26	13:11:27	GMT	25	652.60	XLON	0XL0810000000000347DE0	16,315.00
26-Jan-26	13:11:27	GMT	28	652.60	XLON	0XL0811000000000347DDS	18,272.80
26-Jan-26	13:11:27	GMT	32	652.60	XLON	0XL0817000000000347CSN	20,883.20
26-Jan-26	13:11:27	GMT	34	652.60	XLON	0XL0810000000000347DDU	22,188.40
26-Jan-26	13:11:27	GMT	34	652.60	XLON	0XL08A0000000000347I13	22,188.40
26-Jan-26	13:11:27	GMT	35	652.60	XLON	0XL0810000000000347DDV	22,841.00
26-Jan-26	13:11:27	GMT	37	652.60	XLON	0XL0870000000000347FRI	24,146.20
26-Jan-26	13:11:27	GMT	13,169	652.60	XLON	0XL0840000000000347CSD	8,594,089.40
26-Jan-26	13:12:24	GMT	25	653.00	XLON	0XL0810000000000347DHT	16,325.00
26-Jan-26	13:12:24	GMT	26	653.00	XLON	0XL08A0000000000347IM4	16,978.00
26-Jan-26	13:12:24	GMT	27	653.00	XLON	0XL0814000000000347H5G	17,631.00
26-Jan-26	13:12:24	GMT	29	653.00	XLON	0XL0817000000000347CV5	18,937.00
26-Jan-26	13:12:24	GMT	30	653.00	XLON	0XL0810000000000347DHR	19,590.00
26-Jan-26	13:12:24	GMT	30	653.00	XLON	0XL0814000000000347H5H	19,590.00
26-Jan-26	13:12:24	GMT	31	653.00	XLON	0XL0810000000000347DHS	20,243.00
26-Jan-26	13:12:24	GMT	31	653.00	XLON	0XL0870000000000347FUV	20,243.00
26-Jan-26	13:12:24	GMT	4,272	653.00	XLON	0XL0840000000000347CVP	2,789,616.00
26-Jan-26	13:13:00	GMT	29	652.80	XLON	0XL0810000000000347DJL	18,931.20
26-Jan-26	13:13:00	GMT	123	652.80	XLON	0XL0840000000000347D1H	80,294.40

26-Jan-26	13:13:17	GMT	67	652.80	XLON	OXL084000000000347D29	43,737.60
26-Jan-26	13:14:12	GMT	1,505	652.80	XLON	OXL084000000000347D4P	982,464.00
26-Jan-26	13:14:32	GMT	2,086	652.80	XLON	OXL084000000000347D5M	1,361,740.80
26-Jan-26	13:15:48	GMT	24	653.00	XLON	OXL08A000000000347IVL	15,672.00
26-Jan-26	13:15:48	GMT	4,964	653.00	XLON	OXL084000000000347D8Q	3,241,492.00
26-Jan-26	13:15:49	GMT	23	652.80	XLON	OXL081400000000347HDS	15,014.40
26-Jan-26	13:15:49	GMT	23	652.80	XLON	OXL08A000000000347IVN	15,014.40
26-Jan-26	13:15:49	GMT	24	652.80	XLON	OXL081100000000347DP5	15,667.20
26-Jan-26	13:15:49	GMT	25	652.80	XLON	OXL081400000000347HDR	16,320.00
26-Jan-26	13:15:49	GMT	26	652.80	XLON	OXL08D000000000347IOT	16,972.80
26-Jan-26	13:17:08	GMT	24	652.60	XLON	OXL081000000000347DT2	15,662.40
26-Jan-26	13:17:08	GMT	24	652.60	XLON	OXL08A000000000347J49	15,662.40
26-Jan-26	13:17:08	GMT	26	652.60	XLON	OXL081000000000347DT3	16,967.60
26-Jan-26	13:17:08	GMT	26	652.60	XLON	OXL081400000000347HHO	16,967.60
26-Jan-26	13:17:08	GMT	27	652.60	XLON	OXL081700000000347D9E	17,620.20
26-Jan-26	13:17:08	GMT	28	652.60	XLON	OXL081400000000347HHN	18,272.80
26-Jan-26	13:17:08	GMT	29	652.60	XLON	OXL081000000000347DT4	18,925.40
26-Jan-26	13:17:08	GMT	29	652.60	XLON	OXL087000000000347GA2	18,925.40
26-Jan-26	13:17:08	GMT	29	652.60	XLON	OXL08A000000000347J48	18,925.40
26-Jan-26	13:17:08	GMT	724	652.60	XLON	OXL084000000000347DBC	472,482.40
26-Jan-26	13:17:41	GMT	5	652.40	XLON	OXL08A000000000347J4V	3,262.00
26-Jan-26	13:17:41	GMT	7	652.40	XLON	OXL081000000000347DU9	4,566.80
26-Jan-26	13:17:41	GMT	7	652.40	XLON	OXL081400000000347HJ3	4,566.80
26-Jan-26	13:17:41	GMT	8	652.40	XLON	OXL081400000000347HJ4	5,219.20
26-Jan-26	13:17:41	GMT	8	652.40	XLON	OXL081400000000347HJ5	5,219.20
26-Jan-26	13:17:41	GMT	8	652.40	XLON	OXL08A000000000347J4U	5,219.20
26-Jan-26	13:17:41	GMT	9	652.40	XLON	OXL081400000000347HJ6	5,871.60
26-Jan-26	13:17:41	GMT	9	652.40	XLON	OXL08A000000000347J4T	5,871.60
26-Jan-26	13:17:41	GMT	15	652.40	XLON	OXL08D000000000347I5A	9,786.00
26-Jan-26	13:17:41	GMT	25	652.40	XLON	OXL081000000000347DUA	16,310.00
26-Jan-26	13:17:41	GMT	2,390	652.60	XLON	OXL084000000000347DCA	1,559,714.00

26-Jan-26	13:17:45	GMT	4	652.20	XLON	0XL084000000000347DCL	2,608.80
26-Jan-26	13:17:45	GMT	4	652.20	XLON	0XL08A000000000347J57	2,608.80
26-Jan-26	13:17:45	GMT	5	652.20	XLON	0XL08A000000000347J56	3,261.00
26-Jan-26	13:17:45	GMT	7	652.20	XLON	0XL081000000000347DUK	4,565.40
26-Jan-26	13:17:45	GMT	7	652.20	XLON	0XL087000000000347GBN	4,565.40
26-Jan-26	13:17:45	GMT	8	652.20	XLON	0XL081000000000347DUI	5,217.60
26-Jan-26	13:17:45	GMT	8	652.20	XLON	0XL081100000000347DTA	5,217.60
26-Jan-26	13:17:45	GMT	8	652.20	XLON	0XL081400000000347HJF	5,217.60
26-Jan-26	13:17:45	GMT	9	652.20	XLON	0XL081000000000347DUH	5,869.80
26-Jan-26	13:17:45	GMT	11	652.20	XLON	0XL081000000000347DUJ	7,174.20
26-Jan-26	13:17:45	GMT	4,931	652.20	XLON	0XL084000000000347DCK	3,215,998.20
26-Jan-26	13:19:14	GMT	6	652.00	XLON	0XL08A000000000347JBG	3,912.00
26-Jan-26	13:19:14	GMT	13	652.00	XLON	0XL081400000000347HN8	8,476.00
26-Jan-26	13:19:14	GMT	16	652.00	XLON	0XL084000000000347DFB	10,432.00
26-Jan-26	13:19:14	GMT	18	652.00	XLON	0XL081700000000347DDK	11,736.00
26-Jan-26	13:19:14	GMT	24	652.00	XLON	0XL08A000000000347JBF	15,648.00
26-Jan-26	13:19:14	GMT	26	652.00	XLON	0XL081400000000347HN7	16,952.00
26-Jan-26	13:19:14	GMT	26	652.00	XLON	0XL08D000000000347I9S	16,952.00
26-Jan-26	13:22:37	GMT	5	652.00	XLON	0XL081400000000347I0E	3,260.00
26-Jan-26	13:22:37	GMT	8	652.00	XLON	0XL08A000000000347JLD	5,216.00
26-Jan-26	13:22:37	GMT	15	652.00	XLON	0XL081400000000347I0D	9,780.00
26-Jan-26	13:22:37	GMT	10,375	652.00	XLON	0XL084000000000347DOA	6,764,500.00
26-Jan-26	13:22:39	GMT	25	652.00	XLON	0XL084000000000347DOG	16,300.00
26-Jan-26	13:23:01	GMT	4	651.60	XLON	0XL081400000000347I18	2,606.40
26-Jan-26	13:23:01	GMT	4	651.80	XLON	0XL081000000000347EED	2,607.20
26-Jan-26	13:23:01	GMT	4	651.80	XLON	0XL081700000000347DLI	2,607.20
26-Jan-26	13:23:01	GMT	5	651.60	XLON	0XL081000000000347EEF	3,258.00
26-Jan-26	13:23:01	GMT	6	651.60	XLON	0XL081400000000347I19	3,909.60
26-Jan-26	13:23:01	GMT	6	651.80	XLON	0XL081400000000347I17	3,910.80
26-Jan-26	13:23:01	GMT	6	651.80	XLON	0XL08A000000000347JMJ	3,910.80
26-Jan-26	13:23:01	GMT	6	651.80	XLON	0XL08D000000000347IM6	3,910.80

26-Jan-26	13:23:01	GMT	9	651.80	XLON	OXL081000000000347EEB	5,866.20
26-Jan-26	13:23:01	GMT	9	651.80	XLON	OXL087000000000347GR7	5,866.20
26-Jan-26	13:23:01	GMT	11	651.60	XLON	OXL08A000000000347JMK	7,167.60
26-Jan-26	13:23:01	GMT	11	651.60	XLON	OXL08A000000000347JML	7,167.60
26-Jan-26	13:23:01	GMT	11	651.80	XLON	OXL081000000000347EEE	7,169.80
26-Jan-26	13:23:01	GMT	11	651.80	XLON	OXL084000000000347DOR	7,169.80
26-Jan-26	13:23:01	GMT	12	651.80	XLON	OXL081000000000347EEC	7,821.60
26-Jan-26	13:23:01	GMT	29	651.80	XLON	OXL081100000000347E8N	18,902.20
26-Jan-26	13:23:01	GMT	4,356	651.60	XLON	OXL084000000000347DOS	2,838,369.60
26-Jan-26	13:25:46	GMT	4	651.40	XLON	OXL08A000000000347JTN	2,605.60
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081000000000347EN3	3,257.00
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081000000000347EN5	3,257.00
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081000000000347EN6	3,257.00
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081400000000347I8P	3,257.00
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081400000000347I8S	3,257.00
26-Jan-26	13:25:46	GMT	5	651.40	XLON	OXL081400000000347I8U	3,257.00
26-Jan-26	13:25:46	GMT	6	651.40	XLON	OXL081400000000347I8Q	3,908.40
26-Jan-26	13:25:46	GMT	6	651.40	XLON	OXL081400000000347I8R	3,908.40
26-Jan-26	13:25:46	GMT	6	651.40	XLON	OXL087000000000347H2F	3,908.40
26-Jan-26	13:25:46	GMT	7	651.40	XLON	OXL081000000000347EN4	4,559.80
26-Jan-26	13:25:46	GMT	8	651.40	XLON	OXL08D000000000347IV3	5,211.20
26-Jan-26	13:25:46	GMT	11	651.40	XLON	OXL081100000000347EFR	7,165.40
26-Jan-26	13:25:46	GMT	14	651.40	XLON	OXL081700000000347DQB	9,119.60
26-Jan-26	13:25:46	GMT	27	651.40	XLON	OXL084000000000347DVI	17,587.80
26-Jan-26	13:25:46	GMT	283	651.40	XLON	OXL081400000000347I8O	184,346.20
26-Jan-26	13:25:46	GMT	6,176	651.40	XLON	OXL084000000000347DVH	4,023,046.40
26-Jan-26	13:29:00	GMT	5	651.20	XLON	OXL081400000000347IHM	3,256.00
26-Jan-26	13:29:00	GMT	7	651.20	XLON	OXL081000000000347EV5	4,558.40
26-Jan-26	13:29:00	GMT	7	651.20	XLON	OXL081400000000347IHL	4,558.40
26-Jan-26	13:29:00	GMT	7	651.20	XLON	OXL08D000000000347J7R	4,558.40
26-Jan-26	13:29:00	GMT	12	651.20	XLON	OXL08A000000000347K50	7,814.40

26-Jan-26	13:29:00	GMT	12	651.20	XLON	0XL08A0000000000347K51	7,814.40
26-Jan-26	13:32:35	GMT	4	651.00	XLON	0XL0840000000000347EIF	2,604.00
26-Jan-26	13:32:35	GMT	6	651.00	XLON	0XL08A0000000000347KFC	3,906.00
26-Jan-26	13:32:35	GMT	7	651.00	XLON	0XL0814000000000347ISG	4,557.00
26-Jan-26	13:32:35	GMT	7	651.00	XLON	0XL0814000000000347ISI	4,557.00
26-Jan-26	13:32:35	GMT	7	651.00	XLON	0XL0870000000000347HHA	4,557.00
26-Jan-26	13:32:35	GMT	8	651.00	XLON	0XL0810000000000347F8U	5,208.00
26-Jan-26	13:32:35	GMT	8	651.00	XLON	0XL0814000000000347ISK	5,208.00
26-Jan-26	13:32:35	GMT	9	651.00	XLON	0XL0810000000000347F8V	5,859.00
26-Jan-26	13:32:35	GMT	10	651.00	XLON	0XL0810000000000347F90	6,510.00
26-Jan-26	13:32:35	GMT	10	651.00	XLON	0XL0817000000000347E70	6,510.00
26-Jan-26	13:32:35	GMT	12	651.00	XLON	0XL0814000000000347ISH	7,812.00
26-Jan-26	13:32:35	GMT	12	651.00	XLON	0XL0814000000000347ISJ	7,812.00
26-Jan-26	13:32:35	GMT	19	651.00	XLON	0XL0811000000000347FOI	12,369.00
26-Jan-26	13:32:35	GMT	2,242	651.00	XLON	0XL0840000000000347EIG	1,459,542.00
26-Jan-26	13:34:41	GMT	4	650.80	XLON	0XL0810000000000347FFU	2,603.20
26-Jan-26	13:34:41	GMT	5	650.80	XLON	0XL08A0000000000347KO7	3,254.00
26-Jan-26	13:34:41	GMT	5	650.80	XLON	0XL08A0000000000347KO8	3,254.00
26-Jan-26	13:34:41	GMT	7	650.80	XLON	0XL0814000000000347J42	4,555.60
26-Jan-26	13:34:41	GMT	7	650.80	XLON	0XL08A0000000000347KO6	4,555.60
26-Jan-26	13:34:41	GMT	9	650.80	XLON	0XL0814000000000347J43	5,857.20
26-Jan-26	13:34:41	GMT	9	650.80	XLON	0XL0870000000000347HPI	5,857.20
26-Jan-26	13:34:41	GMT	9	650.80	XLON	0XL08D0000000000347JRI	5,857.20
26-Jan-26	13:34:41	GMT	10	650.80	XLON	0XL0810000000000347FFV	6,508.00
26-Jan-26	13:34:41	GMT	13	650.80	XLON	0XL0810000000000347FFT	8,460.40
26-Jan-26	13:34:41	GMT	13	650.80	XLON	0XL0810000000000347FG0	8,460.40
26-Jan-26	13:34:41	GMT	709	650.80	XLON	0XL0840000000000347EOR	461,417.20
26-Jan-26	13:34:59	GMT	231	650.80	XLON	0XL0840000000000347EPB	150,334.80
26-Jan-26	13:34:59	GMT	1,071	650.80	XLON	0XL0840000000000347EPC	697,006.80
26-Jan-26	13:35:35	GMT	4	650.60	XLON	0XL0817000000000347EFE	2,602.40
26-Jan-26	13:35:35	GMT	5	650.60	XLON	0XL0840000000000347ER6	3,253.00

26-Jan-26	13:35:35	GMT	6	650.60	XLON	0XL0814000000000347J7A	3,903.60
26-Jan-26	13:35:35	GMT	6	650.60	XLON	0XL0814000000000347J7B	3,903.60
26-Jan-26	13:35:35	GMT	8	650.60	XLON	0XL0811000000000347FAA	5,204.80
26-Jan-26	13:35:35	GMT	8	650.60	XLON	0XL08D0000000000347JU7	5,204.80
26-Jan-26	13:35:35	GMT	9	650.60	XLON	0XL0814000000000347J79	5,855.40
26-Jan-26	13:35:35	GMT	2,511	650.60	XLON	0XL0840000000000347ER7	1,633,656.60
26-Jan-26	13:35:54	GMT	11	650.40	XLON	0XL0814000000000347J99	7,154.40
26-Jan-26	13:35:54	GMT	11	650.40	XLON	0XL08A0000000000347KSE	7,154.40
26-Jan-26	13:35:54	GMT	12	650.40	XLON	0XL0810000000000347FLD	7,804.80
26-Jan-26	13:35:54	GMT	13	650.40	XLON	0XL0810000000000347FLB	8,455.20
26-Jan-26	13:35:54	GMT	13	650.40	XLON	0XL0810000000000347FLC	8,455.20
26-Jan-26	13:35:54	GMT	14	650.40	XLON	0XL0814000000000347J98	9,105.60
26-Jan-26	13:35:54	GMT	14	650.40	XLON	0XL0870000000000347HT3	9,105.60
26-Jan-26	13:35:54	GMT	264	650.40	XLON	0XL0840000000000347ET5	171,705.60
26-Jan-26	13:38:17	GMT	5	650.40	XLON	0XL0840000000000347F3O	3,252.00
26-Jan-26	13:38:17	GMT	14	650.40	XLON	0XL08A0000000000347L3D	9,105.60
26-Jan-26	13:38:17	GMT	16	650.40	XLON	0XL08A0000000000347L3E	10,406.40
26-Jan-26	13:38:17	GMT	18	650.40	XLON	0XL0810000000000347FRO	11,707.20
26-Jan-26	13:38:17	GMT	1,364	650.40	XLON	0XL0840000000000347F3N	887,145.60
26-Jan-26	13:39:03	GMT	6	650.20	XLON	0XL0814000000000347JJ7	3,901.20
26-Jan-26	13:39:03	GMT	9	650.20	XLON	0XL0810000000000347FUA	5,851.80
26-Jan-26	13:39:03	GMT	9	650.20	XLON	0XL0814000000000347JJ6	5,851.80
26-Jan-26	13:39:03	GMT	9	650.20	XLON	0XL08A0000000000347L65	5,851.80
26-Jan-26	13:39:03	GMT	10	650.20	XLON	0XL0810000000000347FU8	6,502.00
26-Jan-26	13:39:03	GMT	11	650.20	XLON	0XL0810000000000347FU9	7,152.20
26-Jan-26	13:39:03	GMT	12	650.20	XLON	0XL0817000000000347EPO	7,802.40
26-Jan-26	13:39:03	GMT	12	650.20	XLON	0XL0870000000000347I7O	7,802.40
26-Jan-26	13:39:03	GMT	16	650.20	XLON	0XL08D0000000000347K8O	10,403.20
26-Jan-26	13:39:03	GMT	18	650.20	XLON	0XL0814000000000347JJ5	11,703.60
26-Jan-26	13:39:03	GMT	18	650.20	XLON	0XL0814000000000347JJ8	11,703.60
26-Jan-26	13:39:03	GMT	21	650.20	XLON	0XL0811000000000347FMR	13,654.20

26-Jan-26	13:39:03	GMT	21	650.20	XLON	0XL0814000000000347JJ9	13,654.20
26-Jan-26	13:39:03	GMT	3,381	650.20	XLON	0XL0840000000000347F50	2,198,326.20
26-Jan-26	13:40:56	GMT	9	650.00	XLON	0XL0840000000000347FB7	5,850.00
26-Jan-26	13:40:56	GMT	16	650.00	XLON	0XL08A0000000000347LC0	10,400.00
26-Jan-26	13:40:56	GMT	18	650.00	XLON	0XL0810000000000347G3F	11,700.00
26-Jan-26	13:40:56	GMT	20	650.00	XLON	0XL08A0000000000347LBV	13,000.00
26-Jan-26	13:40:56	GMT	279	650.00	XLON	0XL0840000000000347FBA	181,350.00
26-Jan-26	13:40:56	GMT	1,340	650.00	XLON	0XL0840000000000347FB9	871,000.00
26-Jan-26	13:40:56	GMT	1,348	650.00	XLON	0XL0840000000000347FB8	876,200.00
26-Jan-26	13:47:07	GMT	22	650.40	XLON	0XL0810000000000347GJN	14,308.80
26-Jan-26	13:47:07	GMT	22	650.40	XLON	0XL0814000000000347KBM	14,308.80
26-Jan-26	13:47:07	GMT	22	650.40	XLON	0XL0814000000000347KBN	14,308.80
26-Jan-26	13:47:07	GMT	22	650.40	XLON	0XL0817000000000347FEF	14,308.80
26-Jan-26	13:47:07	GMT	23	650.40	XLON	0XL0814000000000347KBO	14,959.20
26-Jan-26	13:47:07	GMT	23	650.40	XLON	0XL08A0000000000347LUO	14,959.20
26-Jan-26	13:47:07	GMT	24	650.40	XLON	0XL0870000000000347IT1	15,609.60
26-Jan-26	13:47:07	GMT	25	650.40	XLON	0XL0810000000000347GJM	16,260.00
26-Jan-26	13:47:07	GMT	25	650.40	XLON	0XL0810000000000347GJO	16,260.00
26-Jan-26	13:53:16	GMT	26	650.80	XLON	0XL08A0000000000347MH3	16,920.80
26-Jan-26	13:53:16	GMT	30	650.80	XLON	0XL08D0000000000347LIR	19,524.00
26-Jan-26	13:53:16	GMT	146	650.80	XLON	0XL0840000000000347GE6	95,016.80
26-Jan-26	13:53:17	GMT	22	650.80	XLON	0XL0810000000000347H6R	14,317.60
26-Jan-26	13:53:17	GMT	23	650.80	XLON	0XL0814000000000347KVC	14,968.40
26-Jan-26	13:53:17	GMT	23	650.80	XLON	0XL0817000000000347FS4	14,968.40
26-Jan-26	13:53:17	GMT	23	650.80	XLON	0XL08A0000000000347MHA	14,968.40
26-Jan-26	13:53:17	GMT	24	650.80	XLON	0XL0810000000000347H6S	15,619.20
26-Jan-26	13:53:17	GMT	24	650.80	XLON	0XL0814000000000347KVB	15,619.20
26-Jan-26	13:53:17	GMT	24	650.80	XLON	0XL0814000000000347KVD	15,619.20
26-Jan-26	13:53:17	GMT	24	650.80	XLON	0XL0870000000000347JES	15,619.20
26-Jan-26	13:53:17	GMT	25	650.80	XLON	0XL0810000000000347H6T	16,270.00
26-Jan-26	13:53:17	GMT	25	650.80	XLON	0XL0810000000000347H6U	16,270.00

26-Jan-26	13:53:17	GMT	27	650.80	XLON	0XL08A0000000000347MH9	17,571.60
26-Jan-26	13:53:17	GMT	28	650.80	XLON	0XL0840000000000347GED	18,222.40
26-Jan-26	13:53:17	GMT	29	650.80	XLON	0XL0811000000000347H07	18,873.20
26-Jan-26	13:53:17	GMT	30	650.80	XLON	0XL0814000000000347KV9	19,524.00
26-Jan-26	13:53:17	GMT	30	650.80	XLON	0XL0814000000000347KVA	19,524.00
26-Jan-26	13:53:17	GMT	4,290	650.80	XLON	0XL0840000000000347GEC	2,791,932.00
26-Jan-26	13:53:25	GMT	5,823	650.80	XLON	0XL0840000000000347GEU	3,789,608.40
26-Jan-26	13:54:18	GMT	10	650.40	XLON	0XL0814000000000347L3C	6,504.00
26-Jan-26	13:54:18	GMT	11	650.40	XLON	0XL08A0000000000347ML6	7,154.40
26-Jan-26	13:54:18	GMT	14	650.40	XLON	0XL0810000000000347HB2	9,105.60
26-Jan-26	13:54:18	GMT	22	650.40	XLON	0XL08A0000000000347ML5	14,308.80
26-Jan-26	13:54:18	GMT	25	650.40	XLON	0XL0814000000000347L3B	16,260.00
26-Jan-26	13:54:18	GMT	26	650.40	XLON	0XL0814000000000347L3A	16,910.40
26-Jan-26	13:54:18	GMT	26	650.40	XLON	0XL08D0000000000347LPM	16,910.40
26-Jan-26	13:54:18	GMT	3,964	650.40	XLON	0XL0840000000000347GHV	2,578,185.60
26-Jan-26	13:54:53	GMT	4	650.20	XLON	0XL0814000000000347L5A	2,600.80
26-Jan-26	13:54:53	GMT	4	650.20	XLON	0XL08A0000000000347MME	2,600.80
26-Jan-26	13:54:53	GMT	8	650.20	XLON	0XL0810000000000347HCG	5,201.60
26-Jan-26	13:54:53	GMT	10	650.20	XLON	0XL0810000000000347HCH	6,502.00
26-Jan-26	13:54:53	GMT	11	650.20	XLON	0XL0810000000000347HCF	7,152.20
26-Jan-26	13:54:53	GMT	11	650.20	XLON	0XL08A0000000000347MMF	7,152.20
26-Jan-26	13:54:53	GMT	12	650.20	XLON	0XL0817000000000347G04	7,802.40
26-Jan-26	13:54:53	GMT	13	650.20	XLON	0XL0814000000000347L5C	8,452.60
26-Jan-26	13:54:53	GMT	13	650.20	XLON	0XL0870000000000347JJP	8,452.60
26-Jan-26	13:54:53	GMT	14	650.20	XLON	0XL0814000000000347L5B	9,102.80
26-Jan-26	13:54:53	GMT	23	650.20	XLON	0XL0840000000000347GK8	14,954.60
26-Jan-26	13:54:53	GMT	24	650.20	XLON	0XL0811000000000347H5P	15,604.80
26-Jan-26	14:00:01	GMT	6,612	650.60	XLON	0XL0840000000000347H39	4,301,767.20
26-Jan-26	14:00:39	GMT	1,235	650.60	XLON	0XL0840000000000347H5F	803,491.00
26-Jan-26	14:00:39	GMT	1,340	650.60	XLON	0XL0840000000000347H5E	871,804.00
26-Jan-26	14:03:40	GMT	26	650.80	XLON	0XL0810000000000347ID7	16,920.80

26-Jan-26	14:07:27	GMT	23	650.80	XLON	OXL0814000000000347MER	14,968.40
26-Jan-26	14:07:27	GMT	26	650.80	XLON	OXL0810000000000347IP2	16,920.80
26-Jan-26	14:07:27	GMT	26	650.80	XLON	OXL0814000000000347MEQ	16,920.80
26-Jan-26	14:07:27	GMT	27	650.80	XLON	OXL0810000000000347IP4	17,571.60
26-Jan-26	14:07:27	GMT	29	650.80	XLON	OXL0810000000000347IP3	18,873.20
26-Jan-26	14:07:27	GMT	2,946	650.80	XLON	OXL0840000000000347HRF	1,917,256.80
26-Jan-26	14:09:50	GMT	4	650.40	XLON	OXL0814000000000347MN8	2,601.60
26-Jan-26	14:09:50	GMT	22	650.40	XLON	OXL0810000000000347J17	14,308.80
26-Jan-26	14:09:50	GMT	22	650.60	XLON	OXL0814000000000347MN5	14,313.20
26-Jan-26	14:09:50	GMT	22	650.60	XLON	OXL08A0000000000347OB9	14,313.20
26-Jan-26	14:09:50	GMT	22	650.60	XLON	OXL08A0000000000347OBA	14,313.20
26-Jan-26	14:09:50	GMT	23	650.40	XLON	OXL0810000000000347J19	14,959.20
26-Jan-26	14:09:50	GMT	23	650.40	XLON	OXL0814000000000347MN9	14,959.20
26-Jan-26	14:09:50	GMT	23	650.60	XLON	OXL0811000000000347IJS	14,963.80
26-Jan-26	14:09:50	GMT	23	650.60	XLON	OXL0814000000000347MN4	14,963.80
26-Jan-26	14:09:50	GMT	23	650.60	XLON	OXL0870000000000347L25	14,963.80
26-Jan-26	14:09:50	GMT	23	650.60	XLON	OXL08A0000000000347OB8	14,963.80
26-Jan-26	14:09:50	GMT	24	650.40	XLON	OXL0810000000000347J16	15,609.60
26-Jan-26	14:09:50	GMT	24	650.40	XLON	OXL0810000000000347J18	15,609.60
26-Jan-26	14:09:50	GMT	24	650.60	XLON	OXL0814000000000347MN6	15,614.40
26-Jan-26	14:09:50	GMT	24	650.60	XLON	OXL0817000000000347HCL	15,614.40
26-Jan-26	14:09:50	GMT	24	650.60	XLON	OXL08D0000000000347NJR	15,614.40
26-Jan-26	14:09:50	GMT	25	650.60	XLON	OXL0840000000000347I4E	16,265.00
26-Jan-26	14:09:50	GMT	390	650.40	XLON	OXL0840000000000347I4G	253,656.00
26-Jan-26	14:09:52	GMT	5	650.00	XLON	OXL08A0000000000347OBI	3,250.00
26-Jan-26	14:09:52	GMT	7	650.00	XLON	OXL0811000000000347IJU	4,550.00
26-Jan-26	14:09:52	GMT	7	650.00	XLON	OXL0840000000000347I4N	4,550.00
26-Jan-26	14:09:52	GMT	8	650.00	XLON	OXL0814000000000347MNB	5,200.00
26-Jan-26	14:09:52	GMT	9	649.80	XLON	OXL0810000000000347J1G	5,848.20
26-Jan-26	14:09:52	GMT	9	649.80	XLON	OXL08A0000000000347OBP	5,848.20
26-Jan-26	14:09:52	GMT	9	650.00	XLON	OXL08A0000000000347OBK	5,850.00

26-Jan-26	14:09:52	GMT	9	650.00	XLON	0XL08D000000000347NK0	5,850.00
26-Jan-26	14:09:52	GMT	10	649.80	XLON	0XL081000000000347J1E	6,498.00
26-Jan-26	14:09:52	GMT	11	650.00	XLON	0XL081000000000347J1C	7,150.00
26-Jan-26	14:09:52	GMT	11	650.00	XLON	0XL081400000000347MNE	7,150.00
26-Jan-26	14:09:52	GMT	11	650.00	XLON	0XL087000000000347L28	7,150.00
26-Jan-26	14:09:52	GMT	12	649.80	XLON	0XL081100000000347IJV	7,797.60
26-Jan-26	14:09:52	GMT	12	650.00	XLON	0XL081000000000347J1D	7,800.00
26-Jan-26	14:09:52	GMT	13	650.00	XLON	0XL081400000000347MND	8,450.00
26-Jan-26	14:09:52	GMT	13	650.00	XLON	0XL081700000000347HD3	8,450.00
26-Jan-26	14:09:52	GMT	14	649.80	XLON	0XL081400000000347MNF	9,097.20
26-Jan-26	14:09:52	GMT	19	649.80	XLON	0XL081000000000347J1F	12,346.20
26-Jan-26	14:09:52	GMT	19	650.00	XLON	0XL081000000000347J1B	12,350.00
26-Jan-26	14:09:52	GMT	20	650.00	XLON	0XL081400000000347MNC	13,000.00
26-Jan-26	14:09:52	GMT	20	650.00	XLON	0XL08A000000000347OBJ	13,000.00
26-Jan-26	14:09:52	GMT	23	649.80	XLON	0XL08D000000000347NK3	14,945.40
26-Jan-26	14:09:52	GMT	24	649.80	XLON	0XL081400000000347MNG	15,595.20
26-Jan-26	14:09:52	GMT	26	649.80	XLON	0XL081400000000347MNH	16,894.80
26-Jan-26	14:09:52	GMT	26	649.80	XLON	0XL087000000000347L2A	16,894.80
26-Jan-26	14:09:52	GMT	26	649.80	XLON	0XL08A000000000347OBQ	16,894.80
26-Jan-26	14:09:52	GMT	27	649.80	XLON	0XL081700000000347HD6	17,544.60
26-Jan-26	14:09:52	GMT	28	649.80	XLON	0XL081400000000347MNI	18,194.40
26-Jan-26	14:09:52	GMT	377	649.80	XLON	0XL08D000000000347NK2	244,974.60
26-Jan-26	14:09:52	GMT	6,185	650.20	XLON	0XL084000000000347I4L	4,021,487.00
26-Jan-26	14:09:52	GMT	6,618	650.00	XLON	0XL084000000000347I4M	4,301,700.00
26-Jan-26	14:13:42	GMT	53	649.80	XLON	0XL08D000000000347OOS	34,439.40
26-Jan-26	14:19:10	GMT	25	650.00	XLON	0XL084000000000347J7J	16,250.00
26-Jan-26	14:21:11	GMT	24	650.00	XLON	0XL081100000000347JNU	15,600.00
26-Jan-26	14:21:11	GMT	26	650.00	XLON	0XL081400000000347NRT	16,900.00
26-Jan-26	14:25:42	GMT	23	650.00	XLON	0XL084000000000347K4T	14,950.00
26-Jan-26	14:25:42	GMT	23	650.00	XLON	0XL08A000000000347Q3Q	14,950.00
26-Jan-26	14:25:42	GMT	24	650.00	XLON	0XL081400000000347OG0	15,600.00

26-Jan-26	14:25:42	GMT	24	650.00	XLON	OXL0814000000000347OG1	15,600.00
26-Jan-26	14:25:42	GMT	24	650.00	XLON	OXL0870000000000347MII	15,600.00
26-Jan-26	14:25:42	GMT	24	650.00	XLON	OXL08D0000000000347PC7	15,600.00
26-Jan-26	14:25:42	GMT	6,378	650.00	XLON	OXL0840000000000347K4S	4,145,700.00
26-Jan-26	14:27:34	GMT	5	649.80	XLON	OXL0814000000000347OMH	3,249.00
26-Jan-26	14:27:34	GMT	26	649.80	XLON	OXL08A0000000000347QA4	16,894.80
26-Jan-26	14:29:10	GMT	4	649.80	XLON	OXL0870000000000347MRJ	2,599.20
26-Jan-26	14:29:10	GMT	5	649.80	XLON	OXL08D0000000000347PN7	3,249.00
26-Jan-26	14:29:10	GMT	22	649.80	XLON	OXL0810000000000347LCJ	14,295.60
26-Jan-26	14:29:10	GMT	22	649.80	XLON	OXL0810000000000347LCL	14,295.60
26-Jan-26	14:29:10	GMT	22	649.80	XLON	OXL0814000000000347ORN	14,295.60
26-Jan-26	14:29:10	GMT	22	649.80	XLON	OXL0817000000000347J23	14,295.60
26-Jan-26	14:29:10	GMT	23	649.80	XLON	OXL0810000000000347LCK	14,945.40
26-Jan-26	14:29:10	GMT	24	649.80	XLON	OXL0814000000000347ORM	15,595.20
26-Jan-26	14:29:10	GMT	25	649.80	XLON	OXL0810000000000347LCM	16,245.00
26-Jan-26	14:29:10	GMT	25	649.80	XLON	OXL08A0000000000347QFG	16,245.00
26-Jan-26	14:30:01	GMT	24	650.00	XLON	OXL08A0000000000347QJV	15,600.00
26-Jan-26	14:30:01	GMT	29	650.00	XLON	OXL0811000000000347KR6	18,850.00
26-Jan-26	14:30:04	GMT	6,103	650.00	XLON	OXL0840000000000347KT6	3,966,950.00
26-Jan-26	14:31:08	GMT	26	651.60	XLON	OXL0814000000000347PD9	16,941.60
26-Jan-26	14:31:08	GMT	28	651.60	XLON	OXL0810000000000347LTK	18,244.80
26-Jan-26	14:31:08	GMT	28	651.60	XLON	OXL08A0000000000347R2P	18,244.80
26-Jan-26	14:31:08	GMT	29	651.60	XLON	OXL0814000000000347PDB	18,896.40
26-Jan-26	14:31:08	GMT	29	651.60	XLON	OXL0817000000000347JES	18,896.40
26-Jan-26	14:31:08	GMT	29	651.60	XLON	OXL0870000000000347NE1	18,896.40
26-Jan-26	14:31:08	GMT	29	651.60	XLON	OXL08D0000000000347Q7H	18,896.40
26-Jan-26	14:31:08	GMT	30	651.60	XLON	OXL0810000000000347LTJ	19,548.00
26-Jan-26	14:31:08	GMT	30	651.60	XLON	OXL0840000000000347LC9	19,548.00
26-Jan-26	14:31:08	GMT	31	651.60	XLON	OXL0814000000000347PD8	20,199.60
26-Jan-26	14:31:08	GMT	34	651.60	XLON	OXL0814000000000347PDA	22,154.40
26-Jan-26	14:31:08	GMT	39	651.60	XLON	OXL08A0000000000347R2O	25,412.40

26-Jan-26	14:32:00	GMT	20	652.00	XLON	0XL084000000000347LJJ	13,040.00
26-Jan-26	14:32:00	GMT	22	652.00	XLON	0XL08A000000000347R92	14,344.00
26-Jan-26	14:32:00	GMT	25	652.00	XLON	0XL08A000000000347R91	16,300.00
26-Jan-26	14:32:00	GMT	26	652.00	XLON	0XL081100000000347LFU	16,952.00
26-Jan-26	14:32:00	GMT	26	652.00	XLON	0XL081400000000347PJI	16,952.00
26-Jan-26	14:32:00	GMT	29	652.00	XLON	0XL081000000000347M3B	18,908.00
26-Jan-26	14:32:00	GMT	32	652.00	XLON	0XL081000000000347M3C	20,864.00
26-Jan-26	14:32:00	GMT	2,640	652.00	XLON	0XL084000000000347LJI	1,721,280.00
26-Jan-26	14:32:04	GMT	23	651.80	XLON	0XL08A000000000347R9S	14,991.40
26-Jan-26	14:32:04	GMT	26	651.80	XLON	0XL081400000000347PK3	16,946.80
26-Jan-26	14:32:14	GMT	12	651.60	XLON	0XL08D000000000347QGI	7,819.20
26-Jan-26	14:32:14	GMT	15	651.60	XLON	0XL084000000000347LM9	9,774.00
26-Jan-26	14:33:44	GMT	27	652.20	XLON	0XL081400000000347PVC	17,609.40
26-Jan-26	14:33:44	GMT	27	652.20	XLON	0XL08A000000000347ROJ	17,609.40
26-Jan-26	14:33:44	GMT	28	652.20	XLON	0XL081400000000347PVB	18,261.60
26-Jan-26	14:33:44	GMT	29	652.20	XLON	0XL081000000000347MIR	18,913.80
26-Jan-26	14:33:44	GMT	29	652.20	XLON	0XL081000000000347MIS	18,913.80
26-Jan-26	14:33:44	GMT	30	652.20	XLON	0XL081700000000347JUK	19,566.00
26-Jan-26	14:33:44	GMT	31	652.20	XLON	0XL081000000000347MIT	20,218.20
26-Jan-26	14:33:44	GMT	31	652.20	XLON	0XL087000000000347O1O	20,218.20
26-Jan-26	14:34:10	GMT	22	652.40	XLON	0XL08A000000000347RS4	14,352.80
26-Jan-26	14:34:10	GMT	25	652.40	XLON	0XL081400000000347Q24	16,310.00
26-Jan-26	14:34:10	GMT	28	652.40	XLON	0XL08A000000000347RS5	18,267.20
26-Jan-26	14:34:10	GMT	3,792	652.40	XLON	0XL084000000000347M6D	2,473,900.80
26-Jan-26	14:34:34	GMT	28	652.20	XLON	0XL081100000000347M13	18,261.60
26-Jan-26	14:34:34	GMT	29	652.20	XLON	0XL08D000000000347R6E	18,913.80
26-Jan-26	14:34:34	GMT	33	652.20	XLON	0XL081000000000347MQ6	21,522.60
26-Jan-26	14:34:50	GMT	22	652.20	XLON	0XL081400000000347Q5U	14,348.40
26-Jan-26	14:34:50	GMT	1,283	652.20	XLON	0XL084000000000347MB1	836,772.60
26-Jan-26	14:34:50	GMT	1,632	652.20	XLON	0XL084000000000347MB3	1,064,390.40
26-Jan-26	14:34:50	GMT	9,536	652.20	XLON	0XL084000000000347MB2	6,219,379.20

26-Jan-26	14:35:10	GMT	25	652.40	XLON	0XL087000000000347OC1	16,310.00
26-Jan-26	14:35:10	GMT	3,247	652.40	XLON	0XL084000000000347MEQ	2,118,342.80
26-Jan-26	14:37:04	GMT	26	653.00	XLON	0XL08A000000000347SES	16,978.00
26-Jan-26	14:37:04	GMT	27	653.00	XLON	0XL084000000000347MSJ	17,631.00
26-Jan-26	14:37:04	GMT	27	653.00	XLON	0XL08A000000000347SER	17,631.00
26-Jan-26	14:37:04	GMT	27	653.00	XLON	0XL08A000000000347SET	17,631.00
26-Jan-26	14:37:04	GMT	28	653.00	XLON	0XL081100000000347MH2	18,284.00
26-Jan-26	14:37:04	GMT	28	653.00	XLON	0XL08D000000000347RPL	18,284.00
26-Jan-26	14:37:04	GMT	29	653.00	XLON	0XL081000000000347NBF	18,937.00
26-Jan-26	14:37:04	GMT	30	653.00	XLON	0XL081400000000347QJV	19,590.00
26-Jan-26	14:37:04	GMT	30	653.00	XLON	0XL081400000000347QK0	19,590.00
26-Jan-26	14:37:04	GMT	31	653.00	XLON	0XL081700000000347KG5	20,243.00
26-Jan-26	14:37:04	GMT	32	653.00	XLON	0XL081000000000347NBE	20,896.00
26-Jan-26	14:37:04	GMT	33	653.00	XLON	0XL081000000000347NBG	21,549.00
26-Jan-26	14:37:04	GMT	33	653.00	XLON	0XL081000000000347NBH	21,549.00
26-Jan-26	14:37:16	GMT	26	652.80	XLON	0XL087000000000347OOE	16,972.80
26-Jan-26	14:37:35	GMT	28	653.00	XLON	0XL081400000000347QN7	18,284.00
26-Jan-26	14:37:39	GMT	28	653.00	XLON	0XL081400000000347QNF	18,284.00
26-Jan-26	14:37:39	GMT	1,798	653.00	XLON	0XL084000000000347NOK	1,174,094.00
26-Jan-26	14:37:39	GMT	3,757	653.00	XLON	0XL084000000000347NOL	2,453,321.00
26-Jan-26	14:38:25	GMT	23	653.80	XLON	0XL081400000000347QUM	15,037.40
26-Jan-26	14:38:25	GMT	3,365	653.80	XLON	0XL084000000000347N7B	2,200,037.00
26-Jan-26	14:39:21	GMT	22	654.40	XLON	0XL081400000000347R3G	14,396.80
26-Jan-26	14:39:21	GMT	24	654.40	XLON	0XL08A000000000347SV3	15,705.60
26-Jan-26	14:39:21	GMT	25	654.40	XLON	0XL081000000000347NOT	16,360.00
26-Jan-26	14:39:21	GMT	25	654.40	XLON	0XL081000000000347NOU	16,360.00
26-Jan-26	14:39:21	GMT	25	654.40	XLON	0XL081100000000347MV8	16,360.00
26-Jan-26	14:39:21	GMT	25	654.40	XLON	0XL08D000000000347S7S	16,360.00
26-Jan-26	14:39:21	GMT	26	654.40	XLON	0XL081700000000347KRQ	17,014.40
26-Jan-26	14:39:21	GMT	26	654.40	XLON	0XL087000000000347P45	17,014.40
26-Jan-26	14:39:21	GMT	27	654.40	XLON	0XL081400000000347R3F	17,668.80

26-Jan-26	14:39:21	GMT	27	654.40	XLON	OXL084000000000347NEV	17,668.80
26-Jan-26	14:39:21	GMT	28	654.40	XLON	OXL081000000000347NOV	18,323.20
26-Jan-26	14:39:30	GMT	21	654.20	XLON	OXL08A000000000347SVL	13,738.20
26-Jan-26	14:39:30	GMT	24	654.20	XLON	OXL081400000000347R41	15,700.80
26-Jan-26	14:39:30	GMT	24	654.20	XLON	OXL08A000000000347SVM	15,700.80
26-Jan-26	14:39:30	GMT	7,191	654.20	XLON	OXL084000000000347NFO	4,704,352.20
26-Jan-26	14:39:39	GMT	9,259	654.40	XLON	OXL084000000000347NG9	6,059,089.60
26-Jan-26	14:40:03	GMT	1,880	654.80	XLON	OXL084000000000347NIE	1,231,024.00
26-Jan-26	14:40:14	GMT	22	654.80	XLON	OXL081000000000347NU2	14,405.60
26-Jan-26	14:40:14	GMT	22	654.80	XLON	OXL08A000000000347T4P	14,405.60
26-Jan-26	14:40:14	GMT	23	654.80	XLON	OXL081700000000347L05	15,060.40
26-Jan-26	14:40:14	GMT	23	654.80	XLON	OXL084000000000347NJS	15,060.40
26-Jan-26	14:40:14	GMT	25	654.80	XLON	OXL081100000000347N64	16,370.00
26-Jan-26	14:40:14	GMT	26	654.80	XLON	OXL081400000000347R7H	17,024.80
26-Jan-26	14:40:34	GMT	24	654.80	XLON	OXL081000000000347O17	15,715.20
26-Jan-26	14:40:34	GMT	24	654.80	XLON	OXL08A000000000347T70	15,715.20
26-Jan-26	14:40:34	GMT	25	654.80	XLON	OXL081000000000347O16	16,370.00
26-Jan-26	14:40:45	GMT	7,424	654.60	XLON	OXL084000000000347NOL	4,859,750.40
26-Jan-26	14:41:01	GMT	24	654.60	XLON	OXL08A000000000347TAP	15,710.40
26-Jan-26	14:41:02	GMT	23	654.40	XLON	OXL081700000000347L3O	15,051.20
26-Jan-26	14:41:02	GMT	24	654.40	XLON	OXL084000000000347NQE	15,705.60
26-Jan-26	14:41:02	GMT	25	654.40	XLON	OXL081000000000347O4G	16,360.00
26-Jan-26	14:41:02	GMT	25	654.40	XLON	OXL08A000000000347TAS	16,360.00
26-Jan-26	14:41:02	GMT	26	654.40	XLON	OXL081000000000347O4F	17,014.40
26-Jan-26	14:41:02	GMT	1,608	654.40	XLON	OXL084000000000347NQG	1,052,275.20
26-Jan-26	14:41:02	GMT	1,690	654.40	XLON	OXL084000000000347NQF	1,105,936.00
26-Jan-26	14:41:03	GMT	13	654.20	XLON	OXL081400000000347RDG	8,504.60
26-Jan-26	14:41:03	GMT	13	654.20	XLON	OXL081400000000347RDH	8,504.60
26-Jan-26	14:41:03	GMT	14	654.20	XLON	OXL08A000000000347TB5	9,158.80
26-Jan-26	14:41:03	GMT	15	654.20	XLON	OXL081000000000347O4K	9,813.00
26-Jan-26	14:41:03	GMT	15	654.20	XLON	OXL081400000000347RDE	9,813.00

26-Jan-26	14:41:03	GMT	16	654.20	XLON	0XL08A0000000000347TB4	10,467.20
26-Jan-26	14:41:03	GMT	17	654.20	XLON	0XL0811000000000347NBR	11,121.40
26-Jan-26	14:41:03	GMT	19	654.20	XLON	0XL0814000000000347RDF	12,429.80
26-Jan-26	14:42:32	GMT	23	654.80	XLON	0XL0814000000000347RLS	15,060.40
26-Jan-26	14:42:32	GMT	23	654.80	XLON	0XL0814000000000347RLT	15,060.40
26-Jan-26	14:42:32	GMT	23	654.80	XLON	0XL0814000000000347RLU	15,060.40
26-Jan-26	14:42:32	GMT	32	654.80	XLON	0XL08D0000000000347SQJ	20,953.60
26-Jan-26	14:43:14	GMT	21	654.40	XLON	0XL08D0000000000347SVU	13,742.40
26-Jan-26	14:43:14	GMT	24	654.40	XLON	0XL0814000000000347RPD	15,705.60
26-Jan-26	14:43:45	GMT	3,067	654.60	XLON	0XL0840000000000347OEL	2,007,658.20
26-Jan-26	14:44:09	GMT	24	654.60	XLON	0XL0870000000000347PV1	15,710.40
26-Jan-26	14:44:09	GMT	3,305	654.60	XLON	0XL0840000000000347OH4	2,163,453.00
26-Jan-26	14:44:36	GMT	5	654.20	XLON	0XL0811000000000347O01	3,271.00
26-Jan-26	14:44:36	GMT	5	654.20	XLON	0XL08A0000000000347TSN	3,271.00
26-Jan-26	14:44:36	GMT	6	654.20	XLON	0XL0810000000000347OT4	3,925.20
26-Jan-26	14:44:36	GMT	8	654.20	XLON	0XL0814000000000347S17	5,233.60
26-Jan-26	14:44:36	GMT	24	654.20	XLON	0XL0870000000000347Q18	15,700.80
26-Jan-26	14:44:36	GMT	792	654.20	XLON	0XL0840000000000347OJ7	518,126.40
26-Jan-26	14:45:12	GMT	6	654.00	XLON	0XL0870000000000347Q4I	3,924.00
26-Jan-26	14:45:12	GMT	8	654.00	XLON	0XL0814000000000347S4A	5,232.00
26-Jan-26	14:45:12	GMT	10	654.00	XLON	0XL08A0000000000347TVJ	6,540.00
26-Jan-26	14:45:12	GMT	27	654.00	XLON	0XL08D0000000000347TAM	17,658.00
26-Jan-26	14:45:12	GMT	5,731	654.00	XLON	0XL0840000000000347OO6	3,748,074.00
26-Jan-26	14:45:45	GMT	25	654.20	XLON	0XL0810000000000347P53	16,355.00
26-Jan-26	14:45:45	GMT	26	654.20	XLON	0XL0814000000000347S70	17,009.20
26-Jan-26	14:46:44	GMT	6	653.80	XLON	0XL08A0000000000347U7L	3,922.80
26-Jan-26	14:46:44	GMT	8	653.80	XLON	0XL0814000000000347SDQ	5,230.40
26-Jan-26	14:46:44	GMT	17	653.80	XLON	0XL0810000000000347P9S	11,114.60
26-Jan-26	14:46:44	GMT	17	653.80	XLON	0XL08A0000000000347U7M	11,114.60
26-Jan-26	14:46:44	GMT	18	653.80	XLON	0XL0810000000000347P9Q	11,768.40
26-Jan-26	14:46:44	GMT	18	653.80	XLON	0XL0814000000000347SDP	11,768.40

26-Jan-26	14:46:44	GMT	20	653.80	XLON	OXL084000000000347P1E	13,076.00
26-Jan-26	14:46:44	GMT	23	653.80	XLON	OXL0817000000000347M1M	15,037.40
26-Jan-26	14:46:44	GMT	31	653.80	XLON	OXL0814000000000347SDO	20,267.80
26-Jan-26	14:46:44	GMT	33	653.80	XLON	OXL0811000000000347OB5	21,575.40
26-Jan-26	14:46:44	GMT	34	653.80	XLON	OXL08A0000000000347U7N	22,229.20
26-Jan-26	14:46:44	GMT	38	653.80	XLON	OXL0810000000000347P9R	24,844.40
26-Jan-26	14:46:44	GMT	39	653.80	XLON	OXL0814000000000347SDN	25,498.20
26-Jan-26	14:46:44	GMT	914	653.80	XLON	OXL0840000000000347P1C	597,573.20
26-Jan-26	14:46:44	GMT	3,166	653.80	XLON	OXL0840000000000347P1D	2,069,930.80
26-Jan-26	14:46:49	GMT	5	653.60	XLON	OXL08D0000000000347TIO	3,268.00
26-Jan-26	14:46:49	GMT	7	653.60	XLON	OXL0817000000000347M26	4,575.20
26-Jan-26	14:46:49	GMT	11	653.60	XLON	OXL0870000000000347QCO	7,189.60
26-Jan-26	14:46:49	GMT	11	653.60	XLON	OXL08A0000000000347U86	7,189.60
26-Jan-26	14:46:49	GMT	18	653.60	XLON	OXL08A0000000000347U87	11,764.80
26-Jan-26	14:46:49	GMT	24	653.60	XLON	OXL0814000000000347SE9	15,686.40
26-Jan-26	14:46:49	GMT	3,336	653.60	XLON	OXL0840000000000347P28	2,180,409.60
26-Jan-26	14:46:49	GMT	3,646	653.60	XLON	OXL0840000000000347P27	2,383,025.60
26-Jan-26	14:46:57	GMT	5	653.40	XLON	OXL0817000000000347M2G	3,267.00
26-Jan-26	14:46:57	GMT	6	653.40	XLON	OXL0810000000000347PAM	3,920.40
26-Jan-26	14:46:57	GMT	6	653.40	XLON	OXL08A0000000000347U8P	3,920.40
26-Jan-26	14:46:57	GMT	7	653.40	XLON	OXL0810000000000347PAK	4,573.80
26-Jan-26	14:46:57	GMT	8	653.40	XLON	OXL0810000000000347PAL	5,227.20
26-Jan-26	14:46:57	GMT	8	653.40	XLON	OXL0814000000000347SEN	5,227.20
26-Jan-26	14:46:57	GMT	11	653.40	XLON	OXL0814000000000347SEM	7,187.40
26-Jan-26	14:46:57	GMT	12	653.40	XLON	OXL08A0000000000347U8Q	7,840.80
26-Jan-26	14:46:57	GMT	13	653.40	XLON	OXL0814000000000347SEO	8,494.20
26-Jan-26	14:46:57	GMT	14	653.40	XLON	OXL0811000000000347OBR	9,147.60
26-Jan-26	14:46:57	GMT	20	653.40	XLON	OXL0840000000000347P2M	13,068.00
26-Jan-26	14:51:30	GMT	24	653.60	XLON	OXL08A0000000000347UUT	15,686.40
26-Jan-26	14:52:03	GMT	4	653.20	XLON	OXL0810000000000347Q5P	2,612.80
26-Jan-26	14:52:03	GMT	4	653.20	XLON	OXL0870000000000347R98	2,612.80

26-Jan-26	14:52:03	GMT	7	653.20	XLON	OXL08A000000000347V0T	4,572.40
26-Jan-26	14:52:03	GMT	8	653.20	XLON	OXL084000000000347PU4	5,225.60
26-Jan-26	14:52:03	GMT	8	653.20	XLON	OXL08D000000000347UHV	5,225.60
26-Jan-26	14:52:03	GMT	9	653.20	XLON	OXL081700000000347MNS	5,878.80
26-Jan-26	14:52:03	GMT	14	653.20	XLON	OXL081400000000347TA0	9,144.80
26-Jan-26	14:52:03	GMT	17	653.20	XLON	OXL081000000000347Q5O	11,104.40
26-Jan-26	14:52:03	GMT	21	653.20	XLON	OXL081000000000347Q5N	13,717.20
26-Jan-26	14:52:03	GMT	1,335	653.20	XLON	OXL084000000000347PU2	872,022.00
26-Jan-26	14:52:03	GMT	3,171	653.20	XLON	OXL084000000000347PU3	2,071,297.20
26-Jan-26	14:52:23	GMT	7	653.00	XLON	OXL081000000000347Q6T	4,571.00
26-Jan-26	14:52:23	GMT	9	653.00	XLON	OXL081400000000347TB2	5,877.00
26-Jan-26	14:52:23	GMT	9	653.00	XLON	OXL08A000000000347V1I	5,877.00
26-Jan-26	14:52:23	GMT	10	653.00	XLON	OXL08A000000000347V1K	6,530.00
26-Jan-26	14:52:23	GMT	11	653.00	XLON	OXL08A000000000347V1J	7,183.00
26-Jan-26	14:52:23	GMT	13	653.00	XLON	OXL081400000000347TB4	8,489.00
26-Jan-26	14:52:23	GMT	18	653.00	XLON	OXL081100000000347PAD	11,754.00
26-Jan-26	14:52:23	GMT	18	653.00	XLON	OXL084000000000347PV3	11,754.00
26-Jan-26	14:52:23	GMT	20	653.00	XLON	OXL081700000000347MP5	13,060.00
26-Jan-26	14:52:23	GMT	21	653.00	XLON	OXL081400000000347TB3	13,713.00
26-Jan-26	14:52:23	GMT	54	653.00	XLON	OXL081000000000347Q6S	35,262.00
26-Jan-26	14:52:23	GMT	1,644	653.00	XLON	OXL084000000000347PV4	1,073,532.00
26-Jan-26	14:52:23	GMT	2,285	653.00	XLON	OXL084000000000347PV5	1,492,105.00
26-Jan-26	14:54:23	GMT	24	653.20	XLON	OXL081000000000347QJE	15,676.80
26-Jan-26	14:54:23	GMT	25	653.20	XLON	OXL087000000000347RKJ	16,330.00
26-Jan-26	14:54:23	GMT	26	653.20	XLON	OXL08D000000000347UUQ	16,983.20
26-Jan-26	14:55:23	GMT	17	652.80	XLON	OXL08A000000000347VEV	11,097.60
26-Jan-26	14:55:23	GMT	3,048	652.80	XLON	OXL084000000000347QD3	1,989,734.40
26-Jan-26	14:55:40	GMT	1,240	652.80	XLON	OXL084000000000347QE3	809,472.00
26-Jan-26	14:55:53	GMT	5	652.80	XLON	OXL081000000000347QQN	3,264.00
26-Jan-26	14:55:53	GMT	5	652.80	XLON	OXL081400000000347TUS	3,264.00
26-Jan-26	14:55:53	GMT	6	652.80	XLON	OXL081400000000347TUU	3,916.80

26-Jan-26	14:55:53	GMT	8	652.80	XLON	0XL0814000000000347TUT	5,222.40
26-Jan-26	14:55:53	GMT	9	652.80	XLON	0XL08A0000000000347VH3	5,875.20
26-Jan-26	14:55:53	GMT	11	652.80	XLON	0XL0840000000000347QF9	7,180.80
26-Jan-26	14:55:53	GMT	14	652.80	XLON	0XL0870000000000347RRN	9,139.20
26-Jan-26	14:55:53	GMT	14	652.80	XLON	0XL08D0000000000347V45	9,139.20
26-Jan-26	14:55:53	GMT	32	652.80	XLON	0XL0810000000000347QQL	20,889.60
26-Jan-26	14:55:53	GMT	32	652.80	XLON	0XL0810000000000347QQM	20,889.60
26-Jan-26	14:55:53	GMT	838	652.80	XLON	0XL0840000000000347QFA	547,046.40
26-Jan-26	14:57:13	GMT	7	652.60	XLON	0XL08A0000000000347VQS	4,568.20
26-Jan-26	14:57:13	GMT	9	652.60	XLON	0XL0810000000000347R1B	5,873.40
26-Jan-26	14:57:13	GMT	12	652.60	XLON	0XL08A0000000000347VQQ	7,831.20
26-Jan-26	14:57:13	GMT	20	652.60	XLON	0XL08A0000000000347VQR	13,052.00
26-Jan-26	14:57:13	GMT	25	652.60	XLON	0XL0811000000000347Q9D	16,315.00
26-Jan-26	14:57:13	GMT	25	652.60	XLON	0XL0814000000000347U6K	16,315.00
26-Jan-26	14:57:13	GMT	2,307	652.60	XLON	0XL0840000000000347QN4	1,505,548.20
26-Jan-26	14:57:13	GMT	3,417	652.60	XLON	0XL0840000000000347QN5	2,229,934.20
26-Jan-26	14:57:45	GMT	22	653.20	XLON	0XL0817000000000347NFT	14,370.40
26-Jan-26	14:58:24	GMT	4	653.00	XLON	0XL08A000000000034801E	2,612.00
26-Jan-26	14:58:24	GMT	8	653.00	XLON	0XL08A000000000034801D	5,224.00
26-Jan-26	14:58:24	GMT	24	653.00	XLON	0XL0814000000000347UE6	15,672.00
26-Jan-26	14:58:34	GMT	725	652.80	XLON	0XL0840000000000347QUK	473,280.00
26-Jan-26	14:58:34	GMT	1,106	652.80	XLON	0XL0840000000000347QUJ	721,996.80
26-Jan-26	14:58:40	GMT	24	653.00	XLON	0XL0814000000000347UF8	15,672.00
26-Jan-26	14:59:10	GMT	9	652.60	XLON	0XL08A000000000034806G	5,873.40
26-Jan-26	14:59:10	GMT	11	652.60	XLON	0XL0810000000000347RBO	7,178.60
26-Jan-26	14:59:10	GMT	11	652.60	XLON	0XL0814000000000347UHE	7,178.60
26-Jan-26	14:59:10	GMT	12	652.60	XLON	0XL08A000000000034806I	7,831.20
26-Jan-26	14:59:10	GMT	13	652.60	XLON	0XL08A000000000034806H	8,483.80
26-Jan-26	15:00:41	GMT	22	653.00	XLON	0XL0814000000000347USP	14,366.00
26-Jan-26	15:00:41	GMT	23	653.00	XLON	0XL0840000000000347RC7	15,019.00
26-Jan-26	15:00:41	GMT	24	653.00	XLON	0XL0810000000000347RLE	15,672.00

26-Jan-26	15:00:41	GMT	25	653.00	XLON	OXL087000000000347SR0	16,325.00
26-Jan-26	15:01:22	GMT	23	653.00	XLON	OXL0811000000000347R64	15,019.00
26-Jan-26	15:01:22	GMT	24	653.00	XLON	OXL0817000000000347O7C	15,672.00
26-Jan-26	15:01:22	GMT	24	653.00	XLON	OXL08D0000000000348066	15,672.00
26-Jan-26	15:01:22	GMT	25	653.00	XLON	OXL0814000000000347V0U	16,325.00
26-Jan-26	15:02:03	GMT	1,865	653.00	XLON	OXL0840000000000347RIH	1,217,845.00
26-Jan-26	15:03:39	GMT	29	653.20	XLON	OXL0810000000000347S4A	18,942.80
26-Jan-26	15:03:39	GMT	30	653.20	XLON	OXL0814000000000347VCQ	19,596.00
26-Jan-26	15:03:43	GMT	551	653.00	XLON	OXL0840000000000347RP3	359,803.00
26-Jan-26	15:03:43	GMT	2,749	653.00	XLON	OXL0840000000000347RP4	1,795,097.00
26-Jan-26	15:03:53	GMT	21	653.00	XLON	OXL08A00000000003480VP	13,713.00
26-Jan-26	15:03:53	GMT	23	653.00	XLON	OXL0870000000000347TF5	15,019.00
26-Jan-26	15:03:53	GMT	23	653.00	XLON	OXL08A00000000003480VO	15,019.00
26-Jan-26	15:03:53	GMT	24	653.00	XLON	OXL0810000000000347S5F	15,672.00
26-Jan-26	15:03:53	GMT	24	653.00	XLON	OXL0814000000000347VDU	15,672.00
26-Jan-26	15:03:53	GMT	24	653.00	XLON	OXL08A00000000003480VN	15,672.00
26-Jan-26	15:03:53	GMT	25	653.00	XLON	OXL0810000000000347S5G	16,325.00
26-Jan-26	15:03:53	GMT	26	653.00	XLON	OXL0810000000000347S5E	16,978.00
26-Jan-26	15:03:53	GMT	27	653.00	XLON	OXL0840000000000347RQ5	17,631.00
26-Jan-26	15:03:53	GMT	3,003	653.00	XLON	OXL0840000000000347RQ4	1,960,959.00
26-Jan-26	15:04:30	GMT	10	652.80	XLON	OXL0840000000000347RSH	6,528.00
26-Jan-26	15:04:30	GMT	18	652.80	XLON	OXL0814000000000347VGO	11,750.40
26-Jan-26	15:04:30	GMT	25	652.80	XLON	OXL0810000000000347S7O	16,320.00
26-Jan-26	15:04:30	GMT	26	652.80	XLON	OXL0814000000000347VGN	16,972.80
26-Jan-26	15:04:43	GMT	11	652.60	XLON	OXL08A000000000034812M	7,178.60
26-Jan-26	15:04:43	GMT	18	652.60	XLON	OXL0810000000000347S8Q	11,746.80
26-Jan-26	15:04:43	GMT	853	652.60	XLON	OXL0840000000000347RTA	556,667.80
26-Jan-26	15:04:43	GMT	2,522	652.60	XLON	OXL0840000000000347RTB	1,645,857.20
26-Jan-26	15:04:58	GMT	4	652.40	XLON	OXL0810000000000347SAL	2,609.60
26-Jan-26	15:04:58	GMT	6	652.40	XLON	OXL0810000000000347SAN	3,914.40
26-Jan-26	15:04:58	GMT	7	652.40	XLON	OXL0814000000000347VK6	4,566.80

26-Jan-26	15:04:58	GMT	9	652.40	XLON	0XL08A00000000034814L	5,871.60
26-Jan-26	15:04:58	GMT	10	652.40	XLON	0XL0814000000000347VK8	6,524.00
26-Jan-26	15:04:58	GMT	12	652.40	XLON	0XL0811000000000347RMR	7,828.80
26-Jan-26	15:04:58	GMT	14	652.40	XLON	0XL0810000000000347SAK	9,133.60
26-Jan-26	15:04:58	GMT	14	652.40	XLON	0XL0810000000000347SAM	9,133.60
26-Jan-26	15:04:58	GMT	15	652.40	XLON	0XL0814000000000347VK5	9,786.00
26-Jan-26	15:04:58	GMT	15	652.40	XLON	0XL08A000000000034814K	9,786.00
26-Jan-26	15:04:58	GMT	17	652.40	XLON	0XL08D00000000003480OA	11,090.80
26-Jan-26	15:04:58	GMT	18	652.40	XLON	0XL0870000000000347TKI	11,743.20
26-Jan-26	15:04:58	GMT	26	652.40	XLON	0XL0840000000000347RUT	16,962.40
26-Jan-26	15:04:58	GMT	28	652.40	XLON	0XL0817000000000347ONG	18,267.20
26-Jan-26	15:04:58	GMT	30	652.40	XLON	0XL0814000000000347VK7	19,572.00
26-Jan-26	15:04:58	GMT	7,113	652.40	XLON	0XL0840000000000347RUU	4,640,521.20
26-Jan-26	15:05:05	GMT	5	652.20	XLON	0XL0810000000000347SBD	3,261.00
26-Jan-26	15:05:05	GMT	5	652.20	XLON	0XL0840000000000347RV8	3,261.00
26-Jan-26	15:05:05	GMT	7	652.20	XLON	0XL0811000000000347RNG	4,565.40
26-Jan-26	15:05:05	GMT	8	652.20	XLON	0XL0870000000000347TL2	5,217.60
26-Jan-26	15:05:05	GMT	8	652.20	XLON	0XL08D00000000003480OU	5,217.60
26-Jan-26	15:05:05	GMT	10	652.20	XLON	0XL0814000000000347VKV	6,522.00
26-Jan-26	15:05:05	GMT	11	652.20	XLON	0XL0814000000000347VL0	7,174.20
26-Jan-26	15:05:05	GMT	12	652.20	XLON	0XL0810000000000347SBC	7,826.40
26-Jan-26	15:05:05	GMT	13	652.20	XLON	0XL0814000000000347VL1	8,478.60
26-Jan-26	15:05:05	GMT	18	652.20	XLON	0XL0810000000000347SBB	11,739.60
26-Jan-26	15:05:05	GMT	19	652.20	XLON	0XL08A000000000034814V	12,391.80
26-Jan-26	15:05:05	GMT	23	652.20	XLON	0XL08A0000000000348150	15,000.60
26-Jan-26	15:05:05	GMT	25	652.20	XLON	0XL08A0000000000348151	16,305.00
26-Jan-26	15:09:00	GMT	5	652.00	XLON	0XL08A00000000003481LH	3,260.00
26-Jan-26	15:09:00	GMT	6	652.00	XLON	0XL081400000000034807I	3,912.00
26-Jan-26	15:09:00	GMT	6	652.00	XLON	0XL08D00000000003481CJ	3,912.00
26-Jan-26	15:09:00	GMT	7	652.00	XLON	0XL0840000000000347SH1	4,564.00
26-Jan-26	15:09:00	GMT	7	652.00	XLON	0XL0870000000000347U7J	4,564.00

26-Jan-26	15:09:00	GMT	9	652.00	XLON	OXL081000000000347SVD	5,868.00
26-Jan-26	15:09:00	GMT	11	652.00	XLON	OXL081700000000347PBU	7,172.00
26-Jan-26	15:09:00	GMT	19	652.00	XLON	OXL081000000000347SVB	12,388.00
26-Jan-26	15:09:00	GMT	19	652.00	XLON	OXL08A0000000003481LI	12,388.00
26-Jan-26	15:09:00	GMT	21	652.00	XLON	OXL081100000000347SB6	13,692.00
26-Jan-26	15:09:00	GMT	23	652.00	XLON	OXL08140000000034807H	14,996.00
26-Jan-26	15:09:00	GMT	25	652.00	XLON	OXL081000000000347SVC	16,300.00
26-Jan-26	15:09:00	GMT	4,833	652.00	XLON	OXL084000000000347SH0	3,151,116.00
26-Jan-26	15:09:35	GMT	4	651.80	XLON	OXL081000000000347T23	2,607.20
26-Jan-26	15:09:35	GMT	4	651.80	XLON	OXL0814000000003480AC	2,607.20
26-Jan-26	15:09:35	GMT	5	651.80	XLON	OXL087000000000347UAH	3,259.00
26-Jan-26	15:09:35	GMT	5	651.80	XLON	OXL08A0000000003481O5	3,259.00
26-Jan-26	15:09:35	GMT	6	651.80	XLON	OXL084000000000347SJ4	3,910.80
26-Jan-26	15:09:35	GMT	11	651.80	XLON	OXL08D0000000003481F7	7,169.80
26-Jan-26	15:09:35	GMT	14	651.80	XLON	OXL0814000000003480AB	9,125.20
26-Jan-26	15:09:35	GMT	1,239	651.80	XLON	OXL084000000000347SJ2	807,580.20
26-Jan-26	15:09:35	GMT	2,538	651.80	XLON	OXL084000000000347SJ3	1,654,268.40
26-Jan-26	15:12:41	GMT	24	651.80	XLON	OXL0814000000003480SI	15,643.20
26-Jan-26	15:12:41	GMT	25	651.80	XLON	OXL081100000000347SV4	16,295.00
26-Jan-26	15:12:41	GMT	25	651.80	XLON	OXL0814000000003480SH	16,295.00
26-Jan-26	15:12:41	GMT	27	651.80	XLON	OXL08D000000000348211	17,598.60
26-Jan-26	15:14:03	GMT	25	652.00	XLON	OXL087000000000347V1T	16,300.00
26-Jan-26	15:14:03	GMT	25	652.00	XLON	OXL08A0000000003482FV	16,300.00
26-Jan-26	15:14:03	GMT	8,107	652.00	XLON	OXL084000000000347T8O	5,285,764.00
26-Jan-26	15:16:40	GMT	22	652.00	XLON	OXL081100000000347TEP	14,344.00
26-Jan-26	15:16:40	GMT	23	652.00	XLON	OXL08A0000000003482NF	14,996.00
26-Jan-26	15:16:40	GMT	24	652.00	XLON	OXL0814000000003481FA	15,648.00
26-Jan-26	15:16:40	GMT	24	652.00	XLON	OXL08D0000000003482HC	15,648.00
26-Jan-26	15:16:40	GMT	33	652.00	XLON	OXL081700000000347QBQ	21,516.00
26-Jan-26	15:17:05	GMT	24	651.80	XLON	OXL081000000000347U9M	15,643.20
26-Jan-26	15:17:05	GMT	24	651.80	XLON	OXL0814000000003481HP	15,643.20

26-Jan-26	15:17:05	GMT	25	651.80	XLON	0XL08A00000000003482OV	16,295.00
26-Jan-26	15:17:05	GMT	26	651.80	XLON	0XL0810000000000347U9K	16,946.80
26-Jan-26	15:17:05	GMT	26	651.80	XLON	0XL08140000000003481HQ	16,946.80
26-Jan-26	15:17:05	GMT	27	651.80	XLON	0XL0810000000000347U9L	17,598.60
26-Jan-26	15:17:05	GMT	28	651.80	XLON	0XL0810000000000347U9N	18,250.40
26-Jan-26	15:17:05	GMT	4,528	651.80	XLON	0XL0840000000000347TJJ	2,951,350.40
26-Jan-26	15:17:15	GMT	6	651.60	XLON	0XL0870000000000347VFG	3,909.60
26-Jan-26	15:17:15	GMT	7	651.60	XLON	0XL08140000000003481IS	4,561.20
26-Jan-26	15:17:15	GMT	8	651.60	XLON	0XL08A00000000003482PH	5,212.80
26-Jan-26	15:17:15	GMT	8	651.60	XLON	0XL08A00000000003482PI	5,212.80
26-Jan-26	15:17:15	GMT	11	651.60	XLON	0XL0810000000000347UA9	7,167.60
26-Jan-26	15:17:15	GMT	11	651.60	XLON	0XL0811000000000347TIE	7,167.60
26-Jan-26	15:17:15	GMT	11	651.60	XLON	0XL08140000000003481IT	7,167.60
26-Jan-26	15:17:15	GMT	12	651.60	XLON	0XL0810000000000347UAA	7,819.20
26-Jan-26	15:17:15	GMT	12	651.60	XLON	0XL0817000000000347QDU	7,819.20
26-Jan-26	15:17:15	GMT	15	651.60	XLON	0XL08140000000003481IU	9,774.00
26-Jan-26	15:17:15	GMT	1,509	651.60	XLON	0XL0840000000000347TKP	983,264.40
26-Jan-26	15:17:15	GMT	1,766	651.60	XLON	0XL0840000000000347TKO	1,150,725.60
26-Jan-26	15:17:40	GMT	7	651.40	XLON	0XL0810000000000347UC6	4,559.80
26-Jan-26	15:17:40	GMT	8	651.40	XLON	0XL0811000000000347TKA	5,211.20
26-Jan-26	15:17:40	GMT	9	651.40	XLON	0XL08A00000000003482RK	5,862.60
26-Jan-26	15:17:40	GMT	11	651.40	XLON	0XL08140000000003481L9	7,165.40
26-Jan-26	15:17:40	GMT	11	651.40	XLON	0XL0840000000000347TME	7,165.40
26-Jan-26	15:17:40	GMT	12	651.40	XLON	0XL0810000000000347UC5	7,816.80
26-Jan-26	15:17:40	GMT	12	651.40	XLON	0XL08140000000003481LA	7,816.80
26-Jan-26	15:17:40	GMT	13	651.40	XLON	0XL08D00000000003482KT	8,468.20
26-Jan-26	15:17:40	GMT	14	651.40	XLON	0XL08A00000000003482RL	9,119.60
26-Jan-26	15:17:40	GMT	313	651.40	XLON	0XL08140000000003481L8	203,888.20
26-Jan-26	15:17:40	GMT	1,120	651.40	XLON	0XL0840000000000347TMD	729,568.00
26-Jan-26	15:17:40	GMT	6,824	651.40	XLON	0XL0840000000000347TMF	4,445,153.60
26-Jan-26	15:17:45	GMT	28	651.40	XLON	0XL08140000000003481LV	18,239.20

26-Jan-26	15:18:36	GMT	4	651.20	XLON	OXL084000000000347TQ4	2,604.80
26-Jan-26	15:18:36	GMT	6	651.20	XLON	OXL08140000000003481PV	3,907.20
26-Jan-26	15:18:36	GMT	6	651.20	XLON	OXL08A00000000003482VO	3,907.20
26-Jan-26	15:18:36	GMT	8	651.20	XLON	OXL08D00000000003482NM	5,209.60
26-Jan-26	15:18:36	GMT	9	651.20	XLON	OXL08140000000003481PU	5,860.80
26-Jan-26	15:18:36	GMT	12	651.20	XLON	OXL08A00000000003482VN	7,814.40
26-Jan-26	15:18:36	GMT	13	651.20	XLON	OXL08A00000000003482VP	8,465.60
26-Jan-26	15:18:36	GMT	14	651.20	XLON	OXL0870000000000347VN6	9,116.80
26-Jan-26	15:18:36	GMT	15	651.20	XLON	OXL0810000000000347UFO	9,768.00
26-Jan-26	15:18:36	GMT	18	651.20	XLON	OXL0810000000000347UFN	11,721.60
26-Jan-26	15:18:36	GMT	18	651.20	XLON	OXL0817000000000347QJ8	11,721.60
26-Jan-26	15:18:36	GMT	20	651.20	XLON	OXL0811000000000347TOP	13,024.00
26-Jan-26	15:18:36	GMT	25	651.20	XLON	OXL08140000000003481Q0	16,280.00
26-Jan-26	15:19:13	GMT	5	651.00	XLON	OXL08A000000000034831Q	3,255.00
26-Jan-26	15:19:13	GMT	8	651.00	XLON	OXL08140000000003481SA	5,208.00
26-Jan-26	15:19:13	GMT	8	651.00	XLON	OXL08A000000000034831S	5,208.00
26-Jan-26	15:19:13	GMT	9	651.00	XLON	OXL08A000000000034831R	5,859.00
26-Jan-26	15:19:13	GMT	11	651.00	XLON	OXL08140000000003481S8	7,161.00
26-Jan-26	15:19:13	GMT	12	651.00	XLON	OXL08140000000003481S9	7,812.00
26-Jan-26	15:19:13	GMT	12	651.00	XLON	OXL08D00000000003482PP	7,812.00
26-Jan-26	15:19:13	GMT	16	651.00	XLON	OXL0810000000000347UIO	10,416.00
26-Jan-26	15:19:13	GMT	17	651.00	XLON	OXL08140000000003481SB	11,067.00
26-Jan-26	15:19:13	GMT	18	651.00	XLON	OXL0840000000000347TT8	11,718.00
26-Jan-26	15:19:13	GMT	23	651.00	XLON	OXL0810000000000347UIP	14,973.00
26-Jan-26	15:19:13	GMT	2,265	651.00	XLON	OXL0840000000000347TTA	1,474,515.00
26-Jan-26	15:19:13	GMT	5,291	651.00	XLON	OXL0840000000000347TT9	3,444,441.00
26-Jan-26	15:19:55	GMT	6	650.80	XLON	OXL08140000000003481VQ	3,904.80
26-Jan-26	15:19:55	GMT	6	650.80	XLON	OXL08140000000003481VS	3,904.80
26-Jan-26	15:19:55	GMT	6	650.80	XLON	OXL0840000000000347U0M	3,904.80
26-Jan-26	15:19:55	GMT	7	650.80	XLON	OXL0811000000000347TV3	4,555.60
26-Jan-26	15:19:55	GMT	7	650.80	XLON	OXL08A000000000034834L	4,555.60

26-Jan-26	15:19:55	GMT	8	650.80	XLON	0XL08D0000000003482SE	5,206.40
26-Jan-26	15:19:55	GMT	11	650.80	XLON	0XL081000000000347ULQ	7,158.80
26-Jan-26	15:19:55	GMT	14	650.80	XLON	0XL081000000000347ULR	9,111.20
26-Jan-26	15:19:55	GMT	14	650.80	XLON	0XL0814000000003481VR	9,111.20
26-Jan-26	15:19:55	GMT	15	650.80	XLON	0XL081700000000347QON	9,762.00
26-Jan-26	15:19:55	GMT	21	650.80	XLON	0XL087000000000347VUN	13,666.80
26-Jan-26	15:19:55	GMT	24	650.80	XLON	0XL08A00000000034834M	15,619.20
26-Jan-26	15:20:15	GMT	4	650.60	XLON	0XL081400000000348217	2,602.40
26-Jan-26	15:20:15	GMT	5	650.60	XLON	0XL08A000000000348366	3,253.00
26-Jan-26	15:20:15	GMT	7	650.60	XLON	0XL08A000000000348365	4,554.20
26-Jan-26	15:20:15	GMT	10	650.60	XLON	0XL081400000000348218	6,506.00
26-Jan-26	15:20:15	GMT	12	650.60	XLON	0XL081000000000347UNA	7,807.20
26-Jan-26	15:20:15	GMT	12	650.60	XLON	0XL081400000000348215	7,807.20
26-Jan-26	15:20:15	GMT	13	650.60	XLON	0XL081700000000347QQ2	8,457.80
26-Jan-26	15:20:15	GMT	15	650.60	XLON	0XL081000000000347UNB	9,759.00
26-Jan-26	15:20:15	GMT	16	650.60	XLON	0XL081000000000347UN9	10,409.60
26-Jan-26	15:20:15	GMT	23	650.60	XLON	0XL081400000000348216	14,963.80
26-Jan-26	15:20:15	GMT	3,000	650.60	XLON	0XL084000000000347U1P	1,951,800.00
26-Jan-26	15:20:33	GMT	8	650.40	XLON	0XL081100000000347U1S	5,203.20
26-Jan-26	15:20:33	GMT	10	650.40	XLON	0XL084000000000347U3E	6,504.00
26-Jan-26	15:20:33	GMT	11	650.40	XLON	0XL081000000000347UOS	7,154.40
26-Jan-26	15:20:33	GMT	11	650.40	XLON	0XL08140000000034822N	7,154.40
26-Jan-26	15:20:33	GMT	11	650.40	XLON	0XL08140000000034822O	7,154.40
26-Jan-26	15:20:33	GMT	16	650.40	XLON	0XL08A00000000034837T	10,406.40
26-Jan-26	15:20:33	GMT	18	650.40	XLON	0XL08700000000034801T	11,707.20
26-Jan-26	15:20:33	GMT	1,743	650.40	XLON	0XL084000000000347U3D	1,133,647.20
26-Jan-26	15:20:54	GMT	5	650.20	XLON	0XL08140000000034824B	3,251.00
26-Jan-26	15:20:54	GMT	7	650.20	XLON	0XL081000000000347UQ2	4,551.40
26-Jan-26	15:20:54	GMT	8	650.20	XLON	0XL08140000000034824A	5,201.60
26-Jan-26	15:20:54	GMT	9	650.20	XLON	0XL08D0000000003482VR	5,851.80
26-Jan-26	15:20:54	GMT	10	650.20	XLON	0XL081000000000347UQ1	6,502.00

26-Jan-26	15:20:54	GMT	10	650.20	XLON	0XL08A00000000034839E	6,502.00
26-Jan-26	15:20:54	GMT	11	650.20	XLON	0XL0817000000000347QSK	7,152.20
26-Jan-26	15:20:54	GMT	12	650.20	XLON	0XL08A000000000034839D	7,802.40
26-Jan-26	15:20:54	GMT	13	650.20	XLON	0XL0810000000000347UQ3	8,452.60
26-Jan-26	15:20:54	GMT	13	650.20	XLON	0XL081400000000034824C	8,452.60
26-Jan-26	15:27:56	GMT	24	651.80	XLON	0XL0810000000000347VLI	15,643.20
26-Jan-26	15:27:56	GMT	24	651.80	XLON	0XL081400000000034834I	15,643.20
26-Jan-26	15:27:56	GMT	25	651.80	XLON	0XL0810000000000347VLJ	16,295.00
26-Jan-26	15:27:56	GMT	26	651.80	XLON	0XL0810000000000347VLH	16,946.80
26-Jan-26	15:27:59	GMT	24	651.80	XLON	0XL0810000000000347VLS	15,643.20
26-Jan-26	15:27:59	GMT	24	651.80	XLON	0XL087000000000034812I	15,643.20
26-Jan-26	15:28:30	GMT	4	651.60	XLON	0XL0814000000000348379	2,606.40
26-Jan-26	15:28:30	GMT	4	651.60	XLON	0XL08D00000000003483P9	2,606.40
26-Jan-26	15:28:30	GMT	5	651.60	XLON	0XL0810000000000347VO6	3,258.00
26-Jan-26	15:28:30	GMT	5	651.60	XLON	0XL0811000000000347V5O	3,258.00
26-Jan-26	15:28:30	GMT	5	651.60	XLON	0XL0817000000000347ROK	3,258.00
26-Jan-26	15:28:30	GMT	6	651.60	XLON	0XL0810000000000347VO5	3,909.60
26-Jan-26	15:28:30	GMT	7	651.60	XLON	0XL0810000000000347VO7	4,561.20
26-Jan-26	15:28:30	GMT	7	651.60	XLON	0XL08A0000000000348416	4,561.20
26-Jan-26	15:28:30	GMT	7	651.60	XLON	0XL08A0000000000348417	4,561.20
26-Jan-26	15:28:30	GMT	8	651.60	XLON	0XL087000000000034814Q	5,212.80
26-Jan-26	15:28:30	GMT	9	651.60	XLON	0XL081400000000034837A	5,864.40
26-Jan-26	15:28:30	GMT	23	651.60	XLON	0XL0840000000000347V3V	14,986.80
26-Jan-26	15:30:58	GMT	22	651.60	XLON	0XL08A0000000000348487	14,335.20
26-Jan-26	15:30:58	GMT	24	651.60	XLON	0XL08A0000000000348486	15,638.40
26-Jan-26	15:30:58	GMT	25	651.60	XLON	0XL0811000000000347VGN	16,290.00
26-Jan-26	15:30:58	GMT	25	651.60	XLON	0XL0817000000000347S18	16,290.00
26-Jan-26	15:30:58	GMT	25	651.60	XLON	0XL0840000000000347VEH	16,290.00
26-Jan-26	15:30:58	GMT	27	651.60	XLON	0XL08D000000000034841G	17,593.20
26-Jan-26	15:30:58	GMT	28	651.60	XLON	0XL08140000000003483IV	18,244.80
26-Jan-26	15:30:58	GMT	6,859	651.60	XLON	0XL0840000000000347VEI	4,469,324.40

26-Jan-26	15:31:14	GMT	24	651.60	XLON	OXL08140000000003483K8	15,638.40
26-Jan-26	15:31:14	GMT	27	651.60	XLON	OXL08140000000003483K7	17,593.20
26-Jan-26	15:32:11	GMT	25	651.80	XLON	OXL081000000000034805F	16,295.00
26-Jan-26	15:32:11	GMT	30	651.80	XLON	OXL08140000000003483NI	19,554.00
26-Jan-26	15:32:11	GMT	32	651.80	XLON	OXL08A00000000003484BV	20,857.60
26-Jan-26	15:32:13	GMT	24	651.60	XLON	OXL081000000000034805M	15,638.40
26-Jan-26	15:32:13	GMT	7,297	651.60	XLON	OXL0840000000000347VHK	4,754,725.20
26-Jan-26	15:34:24	GMT	21	651.40	XLON	OXL08A00000000003484I0	13,679.40
26-Jan-26	15:34:24	GMT	24	651.40	XLON	OXL081400000000034841A	15,633.60
26-Jan-26	15:34:24	GMT	34	651.40	XLON	OXL0814000000000348419	22,147.60
26-Jan-26	15:34:24	GMT	4,216	651.40	XLON	OXL0840000000000347VQ6	2,746,302.40
26-Jan-26	15:34:34	GMT	4	651.20	XLON	OXL081400000000034841U	2,604.80
26-Jan-26	15:34:34	GMT	7	651.20	XLON	OXL08A00000000003484IC	4,558.40
26-Jan-26	15:34:34	GMT	11	651.20	XLON	OXL081400000000034841V	7,163.20
26-Jan-26	15:34:34	GMT	12	651.20	XLON	OXL08100000000003480DE	7,814.40
26-Jan-26	15:34:34	GMT	12	651.20	XLON	OXL0814000000000348420	7,814.40
26-Jan-26	15:34:34	GMT	13	651.20	XLON	OXL0814000000000348421	8,465.60
26-Jan-26	15:34:34	GMT	13	651.20	XLON	OXL0840000000000347VR3	8,465.60
26-Jan-26	15:34:34	GMT	15	651.20	XLON	OXL08100000000003480DG	9,768.00
26-Jan-26	15:34:34	GMT	18	651.20	XLON	OXL0811000000000348005	11,721.60
26-Jan-26	15:34:34	GMT	19	651.20	XLON	OXL0817000000000347SDK	12,372.80
26-Jan-26	15:34:34	GMT	20	651.20	XLON	OXL08700000000003481RQ	13,024.00
26-Jan-26	15:34:34	GMT	20	651.20	XLON	OXL08D00000000003484BG	13,024.00
26-Jan-26	15:34:34	GMT	22	651.20	XLON	OXL0814000000000348422	14,326.40
26-Jan-26	15:34:34	GMT	22	651.20	XLON	OXL08A00000000003484ID	14,326.40
26-Jan-26	15:34:34	GMT	24	651.20	XLON	OXL08100000000003480DH	15,628.80
26-Jan-26	15:34:34	GMT	24	651.20	XLON	OXL08A00000000003484IE	15,628.80
26-Jan-26	15:34:34	GMT	25	651.20	XLON	OXL08100000000003480DF	16,280.00
26-Jan-26	15:34:34	GMT	4,369	651.20	XLON	OXL0840000000000347VR4	2,845,092.80
26-Jan-26	15:34:54	GMT	6	651.00	XLON	OXL08A00000000003484JH	3,906.00
26-Jan-26	15:34:54	GMT	8	651.00	XLON	OXL08100000000003480EH	5,208.00

26-Jan-26	15:34:54	GMT	12	651.00	XLON	0XL0810000000003480EJ	7,812.00
26-Jan-26	15:34:54	GMT	12	651.00	XLON	0XL0870000000003481SL	7,812.00
26-Jan-26	15:34:54	GMT	14	651.00	XLON	0XL0810000000003480EI	9,114.00
26-Jan-26	15:34:54	GMT	18	651.00	XLON	0XL0810000000003480EG	11,718.00
26-Jan-26	15:34:54	GMT	32	651.00	XLON	0XL08140000000034843F	20,832.00
26-Jan-26	15:34:54	GMT	2,800	651.00	XLON	0XL084000000000347VRP	1,822,800.00
26-Jan-26	15:34:54	GMT	5,256	651.00	XLON	0XL084000000000347VRQ	3,421,656.00
26-Jan-26	15:35:02	GMT	6	650.80	XLON	0XL0810000000003480F7	3,904.80
26-Jan-26	15:35:02	GMT	7	650.80	XLON	0XL081400000000348446	4,555.60
26-Jan-26	15:35:02	GMT	7	650.80	XLON	0XL081400000000348447	4,555.60
26-Jan-26	15:35:02	GMT	8	650.80	XLON	0XL0810000000003480F4	5,206.40
26-Jan-26	15:35:02	GMT	9	650.80	XLON	0XL0810000000003480F6	5,857.20
26-Jan-26	15:35:02	GMT	11	650.80	XLON	0XL0870000000003481T2	7,158.80
26-Jan-26	15:35:02	GMT	13	650.80	XLON	0XL084000000000347VSC	8,460.40
26-Jan-26	15:35:02	GMT	14	650.80	XLON	0XL08A0000000003484K1	9,111.20
26-Jan-26	15:35:02	GMT	14	650.80	XLON	0XL08A0000000003484K3	9,111.20
26-Jan-26	15:35:02	GMT	16	650.80	XLON	0XL08A0000000003484K2	10,412.80
26-Jan-26	15:35:02	GMT	18	650.80	XLON	0XL0810000000003480F5	11,714.40
26-Jan-26	15:35:02	GMT	20	650.80	XLON	0XL08140000000034844A	13,016.00
26-Jan-26	15:35:02	GMT	22	650.80	XLON	0XL081400000000348449	14,317.60
26-Jan-26	15:35:02	GMT	22	650.80	XLON	0XL081700000000347SF7	14,317.60
26-Jan-26	15:35:02	GMT	25	650.80	XLON	0XL081100000000348036	16,270.00
26-Jan-26	15:35:02	GMT	26	650.80	XLON	0XL081400000000348448	16,920.80
26-Jan-26	15:35:02	GMT	27	650.80	XLON	0XL08D0000000003484D4	17,571.60
26-Jan-26	15:35:10	GMT	4	650.60	XLON	0XL08140000000034844R	2,602.40
26-Jan-26	15:35:10	GMT	6	650.60	XLON	0XL0810000000003480GG	3,903.60
26-Jan-26	15:35:10	GMT	6	650.60	XLON	0XL0810000000003480GI	3,903.60
26-Jan-26	15:35:10	GMT	10	650.60	XLON	0XL08140000000034844T	6,506.00
26-Jan-26	15:35:10	GMT	11	650.60	XLON	0XL08140000000034844S	7,156.60
26-Jan-26	15:35:10	GMT	16	650.60	XLON	0XL0810000000003480GH	10,409.60
26-Jan-26	15:35:10	GMT	18	650.60	XLON	0XL0810000000003480GF	11,710.80

26-Jan-26	15:35:10	GMT	20	650.60	XLON	OXL0870000000003481U0	13,012.00
26-Jan-26	15:35:10	GMT	3,898	650.60	XLON	OXL084000000000347VT3	2,536,038.80
26-Jan-26	15:36:24	GMT	9	650.40	XLON	OXL08A0000000003484P0	5,853.60
26-Jan-26	15:36:24	GMT	11	650.40	XLON	OXL08D0000000003484IB	7,154.40
26-Jan-26	15:36:24	GMT	12	650.40	XLON	OXL0814000000003484AC	7,804.80
26-Jan-26	15:36:24	GMT	13	650.40	XLON	OXL0811000000003480AR	8,455.20
26-Jan-26	15:36:24	GMT	13	650.40	XLON	OXL0814000000003484AA	8,455.20
26-Jan-26	15:36:24	GMT	13	650.40	XLON	OXL081700000000347SLF	8,455.20
26-Jan-26	15:36:24	GMT	13	650.40	XLON	OXL08A0000000003484P1	8,455.20
26-Jan-26	15:36:24	GMT	14	650.40	XLON	OXL08A0000000003484OV	9,105.60
26-Jan-26	15:36:24	GMT	16	650.40	XLON	OXL0814000000003484AB	10,406.40
26-Jan-26	15:36:24	GMT	27	650.40	XLON	OXL08400000000034802M	17,560.80
26-Jan-26	15:37:08	GMT	7	650.20	XLON	OXL08700000000034826G	4,551.40
26-Jan-26	15:37:08	GMT	8	650.20	XLON	OXL0810000000003480ON	5,201.60
26-Jan-26	15:37:08	GMT	8	650.20	XLON	OXL0810000000003480OO	5,201.60
26-Jan-26	15:37:08	GMT	8	650.20	XLON	OXL0814000000003484CJ	5,201.60
26-Jan-26	15:37:08	GMT	10	650.20	XLON	OXL0810000000003480OM	6,502.00
26-Jan-26	15:37:08	GMT	11	650.20	XLON	OXL0814000000003484CI	7,152.20
26-Jan-26	15:37:08	GMT	1,198	650.20	XLON	OXL08400000000034805E	778,939.60
26-Jan-26	15:37:08	GMT	4,031	650.20	XLON	OXL08400000000034805D	2,620,956.20
26-Jan-26	15:37:44	GMT	12	650.00	XLON	OXL08A0000000003484T6	7,800.00
26-Jan-26	15:37:44	GMT	13	650.00	XLON	OXL08A0000000003484T5	8,450.00
26-Jan-26	15:37:44	GMT	14	650.00	XLON	OXL08A0000000003484T4	9,100.00
26-Jan-26	15:37:44	GMT	16	650.00	XLON	OXL0811000000003480G6	10,400.00
26-Jan-26	15:37:44	GMT	16	650.00	XLON	OXL0814000000003484F8	10,400.00
26-Jan-26	15:37:44	GMT	16	650.00	XLON	OXL081700000000347SQ4	10,400.00
26-Jan-26	15:37:44	GMT	17	650.00	XLON	OXL0814000000003484FA	11,050.00
26-Jan-26	15:37:44	GMT	17	650.00	XLON	OXL08400000000034808E	11,050.00
26-Jan-26	15:37:44	GMT	18	650.00	XLON	OXL08D0000000003484MS	11,700.00
26-Jan-26	15:37:44	GMT	19	650.00	XLON	OXL0814000000003484F9	12,350.00
26-Jan-26	15:37:44	GMT	1,187	650.00	XLON	OXL08400000000034808F	771,550.00

26-Jan-26	15:37:45	GMT	337	650.00	XLON	0XL08400000000034808R	219,050.00
26-Jan-26	15:37:45	GMT	543	650.00	XLON	0XL08400000000034808Q	352,950.00
26-Jan-26	15:38:19	GMT	4	649.80	XLON	0XL0810000000003480UC	2,599.20
26-Jan-26	15:38:19	GMT	4	649.80	XLON	0XL0814000000003484HK	2,599.20
26-Jan-26	15:38:19	GMT	5	649.80	XLON	0XL0810000000003480UE	3,249.00
26-Jan-26	15:38:19	GMT	6	649.80	XLON	0XL0814000000003484HL	3,898.80
26-Jan-26	15:38:19	GMT	6	649.80	XLON	0XL0870000000003482BM	3,898.80
26-Jan-26	15:38:19	GMT	6	649.80	XLON	0XL08D0000000003484OP	3,898.80
26-Jan-26	15:38:19	GMT	7	649.80	XLON	0XL0814000000003484HM	4,548.60
26-Jan-26	15:38:19	GMT	11	649.80	XLON	0XL0810000000003480UB	7,147.80
26-Jan-26	15:38:19	GMT	15	649.80	XLON	0XL0810000000003480UD	9,747.00
26-Jan-26	15:38:19	GMT	567	649.80	XLON	0XL08D0000000003484ON	368,436.60
26-Jan-26	15:39:30	GMT	4	649.60	XLON	0XL08A00000000034853V	2,598.40
26-Jan-26	15:39:30	GMT	7	649.60	XLON	0XL0814000000003484O0	4,547.20
26-Jan-26	15:39:30	GMT	7	649.60	XLON	0XL08A00000000034853U	4,547.20
26-Jan-26	15:39:30	GMT	7	649.60	XLON	0XL08A000000000348540	4,547.20
26-Jan-26	15:39:30	GMT	3,270	649.60	XLON	0XL0840000000003480GT	2,124,192.00
26-Jan-26	15:45:06	GMT	24	650.20	XLON	0XL08A0000000003485ON	15,604.80
26-Jan-26	15:45:06	GMT	27	650.20	XLON	0XL0810000000003481PP	17,555.40
26-Jan-26	15:45:06	GMT	28	650.20	XLON	0XL0810000000003481PO	18,205.60
26-Jan-26	15:46:31	GMT	5	650.00	XLON	0XL0814000000003485NM	3,250.00
26-Jan-26	15:46:31	GMT	22	650.00	XLON	0XL081700000000347TTC	14,300.00
26-Jan-26	15:46:31	GMT	22	650.00	XLON	0XL0840000000003481JB	14,300.00
26-Jan-26	15:46:31	GMT	23	650.00	XLON	0XL0814000000003485NO	14,950.00
26-Jan-26	15:46:31	GMT	23	650.00	XLON	0XL0870000000003483EO	14,950.00
26-Jan-26	15:46:31	GMT	23	650.00	XLON	0XL08A0000000003485TL	14,950.00
26-Jan-26	15:46:31	GMT	24	650.00	XLON	0XL0810000000003481VK	15,600.00
26-Jan-26	15:46:31	GMT	24	650.00	XLON	0XL0811000000003481PG	15,600.00
26-Jan-26	15:46:31	GMT	24	650.00	XLON	0XL0814000000003485NL	15,600.00
26-Jan-26	15:46:31	GMT	24	650.00	XLON	0XL08A0000000003485TK	15,600.00
26-Jan-26	15:46:31	GMT	25	650.00	XLON	0XL0810000000003481VL	16,250.00

26-Jan-26	15:46:31	GMT	25	650.00	XLON	OXL08D0000000003485QF	16,250.00
26-Jan-26	15:46:31	GMT	25	650.40	XLON	OXL08140000000003485NI	16,260.00
26-Jan-26	15:46:31	GMT	25	650.40	XLON	OXL08A00000000003485TI	16,260.00
26-Jan-26	15:46:31	GMT	26	650.00	XLON	OXL08140000000003485NN	16,900.00
26-Jan-26	15:46:31	GMT	26	650.40	XLON	OXL08A00000000003485TJ	16,910.40
26-Jan-26	15:46:31	GMT	27	650.40	XLON	OXL08100000000003481VI	17,560.80
26-Jan-26	15:46:31	GMT	27	650.40	XLON	OXL08100000000003481VJ	17,560.80
26-Jan-26	15:46:31	GMT	27	650.40	XLON	OXL08140000000003485NK	17,560.80
26-Jan-26	15:46:31	GMT	27	650.40	XLON	OXL0817000000000347TTB	17,560.80
26-Jan-26	15:46:31	GMT	27	650.40	XLON	OXL08400000000003481J9	17,560.80
26-Jan-26	15:46:31	GMT	29	650.40	XLON	OXL08140000000003485NJ	18,861.60
26-Jan-26	15:46:31	GMT	29	650.40	XLON	OXL08D00000000003485QE	18,861.60
26-Jan-26	15:46:31	GMT	30	650.40	XLON	OXL08110000000003481PF	19,512.00
26-Jan-26	15:46:31	GMT	30	650.40	XLON	OXL08140000000003485NH	19,512.00
26-Jan-26	15:46:31	GMT	33	650.40	XLON	OXL08700000000003483EN	21,463.20
26-Jan-26	15:46:31	GMT	9,659	650.40	XLON	OXL08400000000003481JA	6,282,213.60
26-Jan-26	15:47:29	GMT	24	650.00	XLON	OXL08140000000003485S6	15,600.00
26-Jan-26	15:47:29	GMT	9,269	650.00	XLON	OXL08400000000003481NC	6,024,850.00
26-Jan-26	15:47:37	GMT	4	649.80	XLON	OXL08140000000003485T7	2,599.20
26-Jan-26	15:47:37	GMT	6	649.80	XLON	OXL08A000000000034861L	3,898.80
26-Jan-26	15:47:37	GMT	22	649.80	XLON	OXL081000000000034823E	14,295.60
26-Jan-26	15:47:37	GMT	24	649.80	XLON	OXL081000000000034823D	15,595.20
26-Jan-26	15:47:37	GMT	29	649.80	XLON	OXL08D00000000003485UC	18,844.20
26-Jan-26	15:49:19	GMT	22	650.00	XLON	OXL08A0000000000348681	14,300.00
26-Jan-26	15:49:19	GMT	26	650.00	XLON	OXL081400000000034863G	16,900.00
26-Jan-26	15:52:35	GMT	5	650.60	XLON	OXL08A00000000003486IF	3,253.00
26-Jan-26	15:52:35	GMT	9	650.60	XLON	OXL08A00000000003486IE	5,855.40
26-Jan-26	15:52:35	GMT	9	650.60	XLON	OXL08D00000000003486GH	5,855.40
26-Jan-26	15:52:35	GMT	13	650.60	XLON	OXL08140000000003486GJ	8,457.80
26-Jan-26	15:52:35	GMT	13	650.60	XLON	OXL08140000000003486GN	8,457.80
26-Jan-26	15:52:35	GMT	14	650.60	XLON	OXL08140000000003486GL	9,108.40

26-Jan-26	15:52:35	GMT	14	650.60	XLON	0XL08140000000003486GM	9,108.40
26-Jan-26	15:52:35	GMT	16	650.60	XLON	0XL08100000000003482M3	10,409.60
26-Jan-26	15:52:35	GMT	19	650.60	XLON	0XL08110000000003482IG	12,361.40
26-Jan-26	15:52:35	GMT	22	650.80	XLON	0XL08100000000003482M1	14,317.60
26-Jan-26	15:52:35	GMT	23	650.80	XLON	0XL08140000000003486GI	14,968.40
26-Jan-26	15:52:35	GMT	23	650.80	XLON	0XL08400000000003482EV	14,968.40
26-Jan-26	15:52:35	GMT	24	650.80	XLON	0XL08140000000003486GK	15,619.20
26-Jan-26	15:52:35	GMT	24	650.80	XLON	0XL08A00000000003486ID	15,619.20
26-Jan-26	15:52:35	GMT	24	650.80	XLON	0XL08D00000000003486GI	15,619.20
26-Jan-26	15:52:35	GMT	25	650.80	XLON	0XL0817000000000347UI5	16,270.00
26-Jan-26	15:52:35	GMT	26	650.80	XLON	0XL0870000000000348435	16,920.80
26-Jan-26	15:52:35	GMT	27	650.80	XLON	0XL08100000000003482M2	17,571.60
26-Jan-26	15:52:35	GMT	34	650.80	XLON	0XL08100000000003482M0	22,127.20
26-Jan-26	15:54:44	GMT	22	650.80	XLON	0XL08100000000003482V4	14,317.60
26-Jan-26	15:54:44	GMT	22	650.80	XLON	0XL08140000000003486QL	14,317.60
26-Jan-26	15:54:44	GMT	23	650.80	XLON	0XL08100000000003482V3	14,968.40
26-Jan-26	15:54:44	GMT	23	650.80	XLON	0XL08100000000003482V5	14,968.40
26-Jan-26	15:54:44	GMT	23	650.80	XLON	0XL08A00000000003486R0	14,968.40
26-Jan-26	15:54:44	GMT	24	650.80	XLON	0XL08A00000000003486R1	15,619.20
26-Jan-26	15:54:44	GMT	26	650.80	XLON	0XL08100000000003482V6	16,920.80
26-Jan-26	15:58:11	GMT	24	651.60	XLON	0XL08A000000000034877U	15,638.40
26-Jan-26	15:58:11	GMT	25	651.60	XLON	0XL08100000000003483EL	16,290.00
26-Jan-26	15:58:11	GMT	26	651.60	XLON	0XL081400000000034879J	16,941.60
26-Jan-26	15:58:11	GMT	26	651.60	XLON	0XL081400000000034879K	16,941.60
26-Jan-26	15:58:11	GMT	26	651.60	XLON	0XL08A000000000034877V	16,941.60
26-Jan-26	15:58:11	GMT	27	651.60	XLON	0XL08100000000003483EJ	17,593.20
26-Jan-26	15:58:11	GMT	27	651.60	XLON	0XL08100000000003483EK	17,593.20
26-Jan-26	15:58:11	GMT	28	651.60	XLON	0XL08D000000000034875I	18,244.80
26-Jan-26	15:58:11	GMT	32	651.60	XLON	0XL0817000000000347VA3	20,851.20
26-Jan-26	15:58:11	GMT	32	651.60	XLON	0XL08A0000000000348780	20,851.20
26-Jan-26	15:58:11	GMT	33	651.60	XLON	0XL08100000000003483EM	21,502.80

26-Jan-26	15:58:11	GMT	33	651.60	XLON	0XL081400000000034879I	21,502.80
26-Jan-26	15:58:11	GMT	33	651.60	XLON	0XL081400000000034879L	21,502.80
26-Jan-26	15:58:11	GMT	34	651.60	XLON	0XL0840000000000348353	22,154.40
26-Jan-26	15:58:11	GMT	35	651.60	XLON	0XL08700000000003484MM	22,806.00
26-Jan-26	15:58:11	GMT	6,291	651.60	XLON	0XL0840000000000348352	4,099,215.60
26-Jan-26	15:59:18	GMT	32	651.40	XLON	0XL08110000000003483B9	20,844.80
26-Jan-26	16:00:05	GMT	24	651.40	XLON	0XL08110000000003483HD	15,633.60
26-Jan-26	16:00:05	GMT	24	651.40	XLON	0XL08140000000003487IL	15,633.60
26-Jan-26	16:00:05	GMT	24	651.40	XLON	0XL08140000000003487IM	15,633.60
26-Jan-26	16:00:05	GMT	24	651.40	XLON	0XL08A00000000003487H5	15,633.60
26-Jan-26	16:00:05	GMT	25	651.40	XLON	0XL08100000000003483N4	16,285.00
26-Jan-26	16:00:05	GMT	25	651.40	XLON	0XL0817000000000347VJ2	16,285.00
26-Jan-26	16:00:05	GMT	25	651.40	XLON	0XL08400000000003483EO	16,285.00
26-Jan-26	16:00:05	GMT	25	651.40	XLON	0XL08700000000003484UA	16,285.00
26-Jan-26	16:00:37	GMT	23	651.40	XLON	0XL08A00000000003487L4	14,982.20
26-Jan-26	16:01:16	GMT	23	651.60	XLON	0XL08100000000003483SQ	14,986.80
26-Jan-26	16:01:16	GMT	26	651.60	XLON	0XL08A00000000003487OO	16,941.60
26-Jan-26	16:01:45	GMT	58	652.00	XLON	0XL08400000000003483PN	37,816.00
26-Jan-26	16:01:45	GMT	589	652.00	XLON	0XL08400000000003483PL	384,028.00
26-Jan-26	16:01:45	GMT	1,059	652.00	XLON	0XL08400000000003483PM	690,468.00
26-Jan-26	16:01:45	GMT	1,237	652.00	XLON	0XL08400000000003483PJ	806,524.00
26-Jan-26	16:01:45	GMT	1,482	652.00	XLON	0XL08400000000003483PO	966,264.00
26-Jan-26	16:01:53	GMT	23	652.00	XLON	0XL08A00000000003487RK	14,996.00
26-Jan-26	16:01:53	GMT	25	652.00	XLON	0XL08100000000003483VE	16,300.00
26-Jan-26	16:01:53	GMT	34	652.00	XLON	0XL08140000000003487RM	22,168.00
26-Jan-26	16:01:54	GMT	22	651.60	XLON	0XL08A00000000003487RU	14,335.20
26-Jan-26	16:01:54	GMT	25	651.60	XLON	0XL08140000000003487RR	16,290.00
26-Jan-26	16:01:54	GMT	26	651.60	XLON	0XL08100000000003483VL	16,941.60
26-Jan-26	16:01:54	GMT	26	651.60	XLON	0XL08100000000003483VN	16,941.60
26-Jan-26	16:01:54	GMT	26	651.60	XLON	0XL08110000000003483U9	16,941.60
26-Jan-26	16:01:54	GMT	26	651.60	XLON	0XL08140000000003487RU	16,941.60

26-Jan-26	16:01:54	GMT	26	651.60	XLON	OXL0840000000003483QO	16,941.60
26-Jan-26	16:01:54	GMT	26	651.60	XLON	OXL08A0000000003487RT	16,941.60
26-Jan-26	16:01:54	GMT	27	651.60	XLON	OXL0814000000003487RT	17,593.20
26-Jan-26	16:01:54	GMT	27	651.60	XLON	OXL081700000000347VTS	17,593.20
26-Jan-26	16:01:54	GMT	27	651.60	XLON	OXL08700000000034855S	17,593.20
26-Jan-26	16:01:54	GMT	27	651.60	XLON	OXL08D0000000003487LF	17,593.20
26-Jan-26	16:01:54	GMT	28	651.60	XLON	OXL0814000000003487RS	18,244.80
26-Jan-26	16:01:54	GMT	29	651.60	XLON	OXL0810000000003483VM	18,896.40
26-Jan-26	16:01:54	GMT	6,929	651.60	XLON	OXL0840000000003483QP	4,514,936.40
26-Jan-26	16:03:06	GMT	28	652.00	XLON	OXL081100000000348433	18,256.00
26-Jan-26	16:03:17	GMT	21	651.80	XLON	OXL08A000000000348827	13,687.80
26-Jan-26	16:03:17	GMT	22	651.80	XLON	OXL08400000000034842O	14,339.60
26-Jan-26	16:03:17	GMT	23	651.80	XLON	OXL081400000000348811	14,991.40
26-Jan-26	16:03:17	GMT	23	651.80	XLON	OXL08170000000034804G	14,991.40
26-Jan-26	16:03:17	GMT	23	651.80	XLON	OXL08A000000000348826	14,991.40
26-Jan-26	16:03:17	GMT	24	651.80	XLON	OXL081400000000348812	15,643.20
26-Jan-26	16:03:47	GMT	24	651.80	XLON	OXL08A000000000348844	15,643.20
26-Jan-26	16:03:48	GMT	806	651.80	XLON	OXL08400000000034845Q	525,350.80
26-Jan-26	16:03:48	GMT	927	651.80	XLON	OXL08400000000034845R	604,218.60
26-Jan-26	16:03:48	GMT	1,000	651.80	XLON	OXL08400000000034845S	651,800.00
26-Jan-26	16:03:48	GMT	1,485	651.80	XLON	OXL08400000000034845T	967,923.00
26-Jan-26	16:03:48	GMT	3,816	651.80	XLON	OXL08400000000034845U	2,487,268.80
26-Jan-26	16:03:48	GMT	3,950	651.80	XLON	OXL08400000000034845P	2,574,610.00
26-Jan-26	16:04:01	GMT	24	651.60	XLON	OXL0870000000003485EG	15,638.40
26-Jan-26	16:04:01	GMT	26	651.60	XLON	OXL081100000000348464	16,941.60
26-Jan-26	16:04:01	GMT	28	651.60	XLON	OXL08100000000034849A	18,244.80
26-Jan-26	16:04:01	GMT	28	651.60	XLON	OXL08140000000034883A	18,244.80
26-Jan-26	16:04:01	GMT	29	651.60	XLON	OXL081000000000348499	18,896.40
26-Jan-26	16:04:01	GMT	30	651.60	XLON	OXL08100000000034849B	19,548.00
26-Jan-26	16:04:01	GMT	31	651.60	XLON	OXL08D0000000003487SA	20,199.60
26-Jan-26	16:04:01	GMT	12,238	651.60	XLON	OXL08400000000034847A	7,974,280.80

26-Jan-26	16:04:03	GMT	23	651.60	XLON	OXL08D0000000003487SE	14,986.80
26-Jan-26	16:04:17	GMT	55	651.40	XLON	OXL08140000000034884G	35,827.00
26-Jan-26	16:04:17	GMT	4,540	651.40	XLON	OXL084000000000348494	2,957,356.00
26-Jan-26	16:06:44	GMT	22	651.20	XLON	OXL0814000000003488E7	14,326.40
26-Jan-26	16:06:44	GMT	22	651.20	XLON	OXL0814000000003488E8	14,326.40
26-Jan-26	16:06:44	GMT	22	651.20	XLON	OXL08A0000000003488EU	14,326.40
26-Jan-26	16:06:44	GMT	23	651.20	XLON	OXL0810000000003484LP	14,977.60
26-Jan-26	16:06:44	GMT	23	651.20	XLON	OXL08A0000000003488ES	14,977.60
26-Jan-26	16:06:44	GMT	24	651.20	XLON	OXL0810000000003484LS	15,628.80
26-Jan-26	16:06:44	GMT	25	651.20	XLON	OXL0810000000003484LR	16,280.00
26-Jan-26	16:06:44	GMT	25	651.20	XLON	OXL08D00000000034889A	16,280.00
26-Jan-26	16:06:44	GMT	27	651.20	XLON	OXL0814000000003488E6	17,582.40
26-Jan-26	16:06:44	GMT	27	651.20	XLON	OXL08A0000000003488ET	17,582.40
26-Jan-26	16:06:44	GMT	28	651.20	XLON	OXL0840000000003484M4	18,233.60
26-Jan-26	16:06:44	GMT	30	651.20	XLON	OXL0817000000003480K4	19,536.00
26-Jan-26	16:06:44	GMT	31	651.20	XLON	OXL0810000000003484LQ	20,187.20
26-Jan-26	16:06:44	GMT	8,574	651.20	XLON	OXL0840000000003484M3	5,583,388.80
26-Jan-26	16:08:14	GMT	4	651.00	XLON	OXL08D0000000003488GP	2,604.00
26-Jan-26	16:08:14	GMT	7	651.00	XLON	OXL08A0000000003488JK	4,557.00
26-Jan-26	16:08:14	GMT	10	651.00	XLON	OXL0814000000003488KE	6,510.00
26-Jan-26	16:08:14	GMT	12	651.00	XLON	OXL08A0000000003488JL	7,812.00
26-Jan-26	16:08:14	GMT	15	651.00	XLON	OXL0811000000003484OM	9,765.00
26-Jan-26	16:08:14	GMT	24	651.00	XLON	OXL0810000000003484SH	15,624.00
26-Jan-26	16:08:14	GMT	24	651.00	XLON	OXL0810000000003484SI	15,624.00
26-Jan-26	16:08:14	GMT	24	651.00	XLON	OXL0814000000003488KC	15,624.00
26-Jan-26	16:08:14	GMT	24	651.00	XLON	OXL08A0000000003488JJ	15,624.00
26-Jan-26	16:08:14	GMT	25	651.00	XLON	OXL0817000000003480QQ	16,275.00
26-Jan-26	16:08:14	GMT	25	651.00	XLON	OXL0840000000003484SC	16,275.00
26-Jan-26	16:08:14	GMT	26	651.00	XLON	OXL0814000000003488KF	16,926.00
26-Jan-26	16:08:14	GMT	26	651.00	XLON	OXL0870000000003485V1	16,926.00
26-Jan-26	16:08:14	GMT	27	651.00	XLON	OXL0814000000003488KD	17,577.00

26-Jan-26	16:08:14	GMT	9,147	651.00	XLON	0XL0840000000003484SD	5,954,697.00
26-Jan-26	16:09:27	GMT	12	651.00	XLON	0XL08100000000034851D	7,812.00
26-Jan-26	16:09:27	GMT	26	651.00	XLON	0XL0814000000003488QO	16,926.00
26-Jan-26	16:09:27	GMT	26	651.00	XLON	0XL0814000000003488QP	16,926.00
26-Jan-26	16:09:41	GMT	11	651.00	XLON	0XL08100000000034852C	7,161.00
26-Jan-26	16:09:41	GMT	25	651.00	XLON	0XL0811000000003484V2	16,275.00
26-Jan-26	16:09:41	GMT	26	651.00	XLON	0XL08D0000000003488MR	16,926.00
26-Jan-26	16:10:18	GMT	4	650.60	XLON	0XL08100000000034855D	2,602.40
26-Jan-26	16:10:18	GMT	4	650.80	XLON	0XL08170000000034815E	2,603.20
26-Jan-26	16:10:18	GMT	4	650.80	XLON	0XL08A0000000003488P0	2,603.20
26-Jan-26	16:10:18	GMT	5	650.80	XLON	0XL081000000000348557	3,254.00
26-Jan-26	16:10:18	GMT	7	650.60	XLON	0XL08110000000034850S	4,554.20
26-Jan-26	16:10:18	GMT	7	650.60	XLON	0XL08170000000034815F	4,554.20
26-Jan-26	16:10:18	GMT	7	650.60	XLON	0XL08A0000000003488P4	4,554.20
26-Jan-26	16:10:18	GMT	11	650.60	XLON	0XL08400000000034853S	7,156.60
26-Jan-26	16:10:18	GMT	11	650.60	XLON	0XL08A0000000003488P3	7,156.60
26-Jan-26	16:10:18	GMT	12	650.60	XLON	0XL0814000000003488UA	7,807.20
26-Jan-26	16:10:18	GMT	12	650.60	XLON	0XL08700000000034866D	7,807.20
26-Jan-26	16:10:18	GMT	12	650.60	XLON	0XL08D0000000003488Q1	7,807.20
26-Jan-26	16:10:18	GMT	13	650.60	XLON	0XL0814000000003488UB	8,457.80
26-Jan-26	16:10:18	GMT	15	650.60	XLON	0XL08100000000034855B	9,759.00
26-Jan-26	16:10:18	GMT	15	650.80	XLON	0XL081000000000348554	9,762.00
26-Jan-26	16:10:18	GMT	15	650.80	XLON	0XL081000000000348555	9,762.00
26-Jan-26	16:10:18	GMT	16	650.80	XLON	0XL0814000000003488U9	10,412.80
26-Jan-26	16:10:18	GMT	19	650.80	XLON	0XL08A0000000003488P1	12,365.20
26-Jan-26	16:10:18	GMT	23	650.80	XLON	0XL08A0000000003488P2	14,968.40
26-Jan-26	16:10:18	GMT	25	650.60	XLON	0XL08100000000034855C	16,265.00
26-Jan-26	16:10:18	GMT	25	650.80	XLON	0XL0814000000003488U8	16,270.00
26-Jan-26	16:10:18	GMT	26	650.60	XLON	0XL0814000000003488UC	16,915.60
26-Jan-26	16:10:18	GMT	26	650.80	XLON	0XL08700000000034866C	16,920.80
26-Jan-26	16:10:18	GMT	28	650.80	XLON	0XL081000000000348556	18,222.40

26-Jan-26	16:10:18	GMT	56	650.80	XLON	OXL08140000000003488U7	36,444.80
26-Jan-26	16:10:18	GMT	1,311	650.60	XLON	OXL0840000000000348536	852,936.60
26-Jan-26	16:10:18	GMT	7,369	650.80	XLON	OXL0840000000000348534	4,795,745.20
26-Jan-26	16:10:25	GMT	26	650.60	XLON	OXL081000000000034855V	16,915.60
26-Jan-26	16:10:25	GMT	30	650.60	XLON	OXL081000000000034855U	19,518.00
26-Jan-26	16:12:12	GMT	22	650.80	XLON	OXL08A00000000003488VJ	14,317.60
26-Jan-26	16:12:12	GMT	23	650.80	XLON	OXL08A00000000003488VK	14,968.40
26-Jan-26	16:12:12	GMT	24	650.80	XLON	OXL0814000000000348958	15,619.20
26-Jan-26	16:12:12	GMT	26	650.80	XLON	OXL0814000000000348957	16,920.80
26-Jan-26	16:12:12	GMT	2,034	650.80	XLON	OXL08400000000003485B0	1,323,727.20
26-Jan-26	16:12:12	GMT	3,013	650.80	XLON	OXL08400000000003485AV	1,960,860.40
26-Jan-26	16:12:12	GMT	5,207	650.80	XLON	OXL08400000000003485B1	3,388,715.60
26-Jan-26	16:15:08	GMT	21	650.80	XLON	OXL08A000000000034898N	13,666.80
26-Jan-26	16:15:08	GMT	22	650.80	XLON	OXL08100000000003485QJ	14,317.60
26-Jan-26	16:15:08	GMT	22	650.80	XLON	OXL08140000000003489FC	14,317.60
26-Jan-26	16:15:08	GMT	23	650.60	XLON	OXL08140000000003489FF	14,963.80
26-Jan-26	16:15:08	GMT	23	650.80	XLON	OXL08400000000003485JO	14,968.40
26-Jan-26	16:15:08	GMT	23	650.80	XLON	OXL08A000000000034898O	14,968.40
26-Jan-26	16:15:08	GMT	23	650.80	XLON	OXL08D00000000003489G1	14,968.40
26-Jan-26	16:15:08	GMT	24	650.80	XLON	OXL08100000000003485QL	15,619.20
26-Jan-26	16:15:08	GMT	24	650.80	XLON	OXL08170000000003481SP	15,619.20
26-Jan-26	16:15:08	GMT	25	650.80	XLON	OXL08100000000003485QI	16,270.00
26-Jan-26	16:15:08	GMT	25	650.80	XLON	OXL08110000000003485IO	16,270.00
26-Jan-26	16:15:08	GMT	25	650.80	XLON	OXL08140000000003489FD	16,270.00
26-Jan-26	16:15:08	GMT	26	650.60	XLON	OXL08700000000003486N7	16,915.60
26-Jan-26	16:15:08	GMT	26	650.80	XLON	OXL08100000000003485QK	16,920.80
26-Jan-26	16:15:08	GMT	26	650.80	XLON	OXL08140000000003489FE	16,920.80
26-Jan-26	16:15:08	GMT	6,615	650.80	XLON	OXL08400000000003485JP	4,305,042.00
26-Jan-26	16:15:33	GMT	24	650.60	XLON	OXL08100000000003485T5	15,614.40
26-Jan-26	16:15:33	GMT	24	650.60	XLON	OXL08140000000003489H9	15,614.40
26-Jan-26	16:15:33	GMT	27	650.60	XLON	OXL08700000000003486P1	17,566.20

26-Jan-26	16:15:33	GMT	29	650.60	XLON	OXL0814000000003489HA	18,867.40
26-Jan-26	16:17:04	GMT	22	650.60	XLON	OXL0811000000003485P0	14,313.20
26-Jan-26	16:17:04	GMT	23	650.60	XLON	OXL08100000000034863K	14,963.80
26-Jan-26	16:17:04	GMT	23	650.60	XLON	OXL08170000000034828C	14,963.80
26-Jan-26	16:17:04	GMT	24	650.60	XLON	OXL0814000000003489Q3	15,614.40
26-Jan-26	16:17:04	GMT	25	650.60	XLON	OXL08100000000034863L	16,265.00
26-Jan-26	16:17:04	GMT	25	650.60	XLON	OXL0814000000003489Q2	16,265.00
26-Jan-26	16:17:04	GMT	28	650.60	XLON	OXL08A0000000003489FI	18,216.80
26-Jan-26	16:17:04	GMT	29	650.60	XLON	OXL0814000000003489Q1	18,867.40
26-Jan-26	16:17:04	GMT	30	650.60	XLON	OXL08A0000000003489FJ	19,518.00
26-Jan-26	16:17:04	GMT	31	650.60	XLON	OXL0814000000003489Q0	20,168.60
26-Jan-26	16:18:01	GMT	1	650.60	XLON	OXL0840000000003485VJ	650.60
26-Jan-26	16:18:01	GMT	23	650.60	XLON	OXL0817000000003482EA	14,963.80
26-Jan-26	16:18:01	GMT	23	650.60	XLON	OXL08A0000000003489JB	14,963.80
26-Jan-26	16:18:01	GMT	25	650.60	XLON	OXL0811000000003485T3	16,265.00
26-Jan-26	16:18:01	GMT	26	650.60	XLON	OXL081400000000348A0Q	16,915.60
26-Jan-26	16:18:01	GMT	29	650.60	XLON	OXL08700000000034872S	18,867.40
26-Jan-26	16:18:01	GMT	32	650.60	XLON	OXL08D0000000003489SJ	20,819.20
26-Jan-26	16:18:01	GMT	36	650.60	XLON	OXL081000000000348689	23,421.60
26-Jan-26	16:18:01	GMT	38	650.60	XLON	OXL081400000000348A0R	24,722.80
26-Jan-26	16:18:07	GMT	1,107	650.60	XLON	OXL084000000000348600	720,214.20
26-Jan-26	16:18:07	GMT	11,213	650.60	XLON	OXL084000000000348601	7,295,177.80
26-Jan-26	16:18:47	GMT	23	650.60	XLON	OXL0810000000003486BD	14,963.80
26-Jan-26	16:18:47	GMT	25	650.60	XLON	OXL081400000000348A3M	16,265.00
26-Jan-26	16:18:47	GMT	27	650.60	XLON	OXL0810000000003486BC	17,566.20
26-Jan-26	16:20:06	GMT	22	650.60	XLON	OXL08110000000034865M	14,313.20
26-Jan-26	16:20:06	GMT	22	650.60	XLON	OXL08A0000000003489RM	14,313.20
26-Jan-26	16:20:06	GMT	24	650.60	XLON	OXL0817000000003482QT	15,614.40
26-Jan-26	16:20:06	GMT	25	650.60	XLON	OXL0810000000003486II	16,265.00
26-Jan-26	16:20:06	GMT	25	650.60	XLON	OXL0870000000003487BG	16,265.00
26-Jan-26	16:20:06	GMT	26	650.60	XLON	OXL081400000000348AE8	16,915.60

26-Jan-26	16:20:06	GMT	27	650.60	XLON	OXL0814000000000348AE9	17,566.20
26-Jan-26	16:23:22	GMT	10	650.80	XLON	OXL08400000000003486MS	6,508.00
26-Jan-26	16:23:22	GMT	145	650.80	XLON	OXL08400000000003486MR	94,366.00
26-Jan-26	16:23:22	GMT	1,000	650.80	XLON	OXL08400000000003486MV	650,800.00
26-Jan-26	16:23:22	GMT	1,319	650.80	XLON	OXL08400000000003486MU	858,405.20
26-Jan-26	16:23:22	GMT	1,329	650.80	XLON	OXL08400000000003486MP	864,913.20
26-Jan-26	16:23:22	GMT	1,347	650.80	XLON	OXL08400000000003486MQ	876,627.60
26-Jan-26	16:23:22	GMT	3,950	650.80	XLON	OXL08400000000003486MT	2,570,660.00
26-Jan-26	16:25:12	GMT	18	651.20	XLON	OXL08400000000003486VB	11,721.60
26-Jan-26	16:25:13	GMT	1,534	651.20	XLON	OXL08400000000003486VG	998,940.80
26-Jan-26	16:25:13	GMT	2,001	651.20	XLON	OXL08400000000003486VF	1,303,051.20
26-Jan-26	16:25:15	GMT	476	651.20	XLON	OXL08400000000003486VN	309,971.20
26-Jan-26	16:25:15	GMT	1,537	651.20	XLON	OXL08400000000003486VO	1,000,894.40
26-Jan-26	16:25:15	GMT	3,950	651.20	XLON	OXL08400000000003486VP	2,572,240.00
26-Jan-26	16:25:43	GMT	30	651.40	XLON	OXL084000000000034871F	19,542.00
26-Jan-26	16:25:43	GMT	1,132	651.40	XLON	OXL084000000000034871E	737,384.80
26-Jan-26	16:25:43	GMT	10,764	651.40	XLON	OXL084000000000034871G	7,011,669.60
26-Jan-26	16:26:36	GMT	120	651.40	XLON	OXL0814000000000348BM2	78,168.00
26-Jan-26	16:26:47	GMT	39	651.40	XLON	OXL0840000000000348748	25,404.60
26-Jan-26	16:26:57	GMT	15	651.40	XLON	OXL08100000000003487DO	9,771.00
26-Jan-26	16:26:57	GMT	24	651.40	XLON	OXL08100000000003487DM	15,633.60
26-Jan-26	16:26:57	GMT	36	651.40	XLON	OXL08100000000003487DI	23,450.40
26-Jan-26	16:26:57	GMT	466	651.40	XLON	OXL084000000000034874U	303,552.40
26-Jan-26	16:26:57	GMT	1,000	651.40	XLON	OXL0840000000000348750	651,400.00
26-Jan-26	16:26:57	GMT	2,651	651.40	XLON	OXL0840000000000348751	1,726,861.40
26-Jan-26	16:26:57	GMT	4,938	651.40	XLON	OXL084000000000034874V	3,216,613.20
26-Jan-26	16:27:10	GMT	6	651.40	XLON	OXL08A0000000000348ALH	3,908.40
26-Jan-26	16:27:10	GMT	26	651.40	XLON	OXL08A0000000000348ALF	16,936.40
26-Jan-26	16:27:10	GMT	38	651.40	XLON	OXL08A0000000000348ALC	24,753.20
26-Jan-26	16:28:55	GMT	80	651.60	XLON	OXL0811000000000348789	52,128.00
26-Jan-26	16:28:55	GMT	89	651.60	XLON	OXL0814000000000348C1M	57,992.40

26-Jan-26	16:28:55	GMT	89	651.60	XLON	0XL0870000000003488AF	57,992.40
26-Jan-26	16:28:55	GMT	117	651.60	XLON	0XL0840000000003487B7	76,237.20
26-Jan-26	16:28:55	GMT	122	651.60	XLON	0XL08D000000000348B2S	79,495.20
26-Jan-26	16:28:55	GMT	152	651.60	XLON	0XL0810000000003487LK	99,043.20
26-Jan-26	16:28:55	GMT	176	651.60	XLON	0XL0810000000003487LL	114,681.60
26-Jan-26	16:28:55	GMT	176	651.60	XLON	0XL081400000000348C1K	114,681.60
26-Jan-26	16:28:56	GMT	120	651.60	XLON	0XL08A000000000348ASF	78,192.00
26-Jan-26	16:28:56	GMT	604	651.60	XLON	0XL0840000000003487B9	393,566.40
26-Jan-26	16:28:56	GMT	1,000	651.60	XLON	0XL0840000000003487BF	651,600.00
26-Jan-26	16:28:56	GMT	1,206	651.60	XLON	0XL0840000000003487BE	785,829.60
26-Jan-26	16:28:56	GMT	1,369	651.60	XLON	0XL0840000000003487BD	892,040.40
26-Jan-26	16:28:56	GMT	1,369	651.60	XLON	0XL0840000000003487BG	892,040.40
26-Jan-26	16:28:56	GMT	4,570	651.60	XLON	0XL0840000000003487BH	2,977,812.00
26-Jan-26	16:28:56	GMT	4,938	651.60	XLON	0XL0840000000003487BC	3,217,600.80
26-Jan-26	16:29:06	GMT	12	651.60	XLON	0XL0810000000003487NE	7,819.20
26-Jan-26	16:29:06	GMT	106	651.60	XLON	0XL0810000000003487NH	69,069.60
26-Jan-26	16:29:07	GMT	9	651.60	XLON	0XL081400000000348C39	5,864.40
26-Jan-26	16:29:07	GMT	9	651.60	XLON	0XL08A000000000348ATE	5,864.40
26-Jan-26	16:29:07	GMT	10	651.60	XLON	0XL0817000000003483U4	6,516.00
26-Jan-26	16:29:07	GMT	10	651.60	XLON	0XL08A000000000348ATJ	6,516.00
26-Jan-26	16:29:07	GMT	68	651.60	XLON	0XL08A000000000348ATH	44,308.80
26-Jan-26	16:29:07	GMT	82	651.60	XLON	0XL081400000000348C3C	53,431.20
26-Jan-26	16:29:07	GMT	82	651.60	XLON	0XL08A000000000348ATM	53,431.20
26-Jan-26	16:29:07	GMT	85	651.60	XLON	0XL0817000000003483U7	55,386.00
26-Jan-26	16:29:08	GMT	3,900	651.60	XLON	0XL0840000000003487D2	2,541,240.00
26-Jan-26	16:29:09	GMT	12	651.60	XLON	0XL081400000000348C47	7,819.20
26-Jan-26	16:29:09	GMT	13	651.60	XLON	0XL081400000000348C45	8,470.80
26-Jan-26	16:29:09	GMT	21	651.60	XLON	0XL081400000000348C42	13,683.60
26-Jan-26	16:29:09	GMT	26	651.60	XLON	0XL081400000000348C49	16,941.60
26-Jan-26	16:29:09	GMT	40	651.60	XLON	0XL081400000000348C4B	26,064.00
26-Jan-26	16:29:10	GMT	19	651.40	XLON	0XL081400000000348C4J	12,376.60

26-Jan-26	16:29:10	GMT	20	651.40	XLON	OXL081100000000034879U	13,028.00
26-Jan-26	16:29:10	GMT	20	651.40	XLON	OXL08400000000003487D7	13,028.00
26-Jan-26	16:29:10	GMT	21	651.40	XLON	OXL08700000000003488C7	13,679.40
26-Jan-26	16:29:10	GMT	43	651.40	XLON	OXL0814000000000348C4I	28,010.20
26-Jan-26	16:29:10	GMT	43	651.40	XLON	OXL0814000000000348C4K	28,010.20
26-Jan-26	16:29:10	GMT	43	651.40	XLON	OXL08170000000003483UO	28,010.20
26-Jan-26	16:29:10	GMT	43	651.40	XLON	OXL08A0000000000348AU1	28,010.20
26-Jan-26	16:29:10	GMT	43	651.40	XLON	OXL08A0000000000348AU2	28,010.20
26-Jan-26	16:29:10	GMT	55	651.40	XLON	OXL08100000000003487NQ	35,827.00
26-Jan-26	16:29:10	GMT	125	651.40	XLON	OXL08100000000003487NP	81,425.00
26-Jan-26	16:29:10	GMT	7,489	651.40	XLON	OXL08400000000003487D8	4,878,334.60
26-Jan-26	16:29:47	GMT	3	651.80	XLON	OXL0814000000000348CBU	1,955.40
26-Jan-26	16:29:47	GMT	4	651.80	XLON	OXL0814000000000348CBQ	2,607.20
26-Jan-26	16:29:47	GMT	5	651.80	XLON	OXL0814000000000348CBN	3,259.00
26-Jan-26	16:29:47	GMT	5	651.80	XLON	OXL08D0000000000348BBC	3,259.00
26-Jan-26	16:29:47	GMT	18	651.80	XLON	OXL0814000000000348CBS	11,732.40
26-Jan-26	16:29:47	GMT	48	651.80	XLON	OXL08D0000000000348BBF	31,286.40
26-Jan-26	16:29:48	GMT	4	651.80	XLON	OXL08110000000003487G1	2,607.20
26-Jan-26	16:29:48	GMT	4	651.80	XLON	OXL08400000000003487K8	2,607.20
26-Jan-26	16:29:48	GMT	4	651.80	XLON	OXL08700000000003488IO	2,607.20
26-Jan-26	16:29:48	GMT	5	651.80	XLON	OXL08110000000003487FS	3,259.00
26-Jan-26	16:29:48	GMT	5	651.80	XLON	OXL08400000000003487K2	3,259.00
26-Jan-26	16:29:48	GMT	5	651.80	XLON	OXL08A0000000000348B24	3,259.00
26-Jan-26	16:29:48	GMT	6	651.80	XLON	OXL08700000000003488IH	3,910.80
26-Jan-26	16:29:48	GMT	7	651.80	XLON	OXL08400000000003487K6	4,562.60
26-Jan-26	16:29:48	GMT	9	651.80	XLON	OXL08700000000003488IQ	5,866.20
26-Jan-26	16:29:48	GMT	10	651.80	XLON	OXL08110000000003487FV	6,518.00
26-Jan-26	16:29:48	GMT	14	651.80	XLON	OXL08110000000003487G3	9,125.20
26-Jan-26	16:29:48	GMT	15	651.80	XLON	OXL08400000000003487KA	9,777.00
26-Jan-26	16:29:48	GMT	15	651.80	XLON	OXL08700000000003488IM	9,777.00
26-Jan-26	16:29:48	GMT	44	651.80	XLON	OXL08A0000000000348B27	28,679.20

26-Jan-26	16:29:48	GMT	323	651.80	XLON	0XL0840000000003487KD	210,531.40
26-Jan-26	16:29:48	GMT	524	651.80	XLON	0XL0840000000003487KH	341,543.20
26-Jan-26	16:29:48	GMT	1,185	651.80	XLON	0XL0840000000003487KJ	772,383.00
26-Jan-26	16:29:48	GMT	3,145	651.80	XLON	0XL0840000000003487KE	2,049,911.00
26-Jan-26	16:29:51	GMT	8	651.80	XLON	0XL08170000000034845T	5,214.40
26-Jan-26	16:29:51	GMT	12	651.80	XLON	0XL0810000000003487VK	7,821.60
26-Jan-26	16:29:51	GMT	708	651.80	XLON	0XL0840000000003487LD	461,474.40
26-Jan-26	16:29:52	GMT	11	651.80	XLON	0XL0840000000003487LN	7,169.80
26-Jan-26	16:29:52	GMT	366	651.80	XLON	0XL0840000000003487LP	238,558.80
26-Jan-26	16:29:53	GMT	4	651.80	XLON	0XL08A000000000348B2T	2,607.20
26-Jan-26	16:29:53	GMT	4	651.80	XLON	0XL08A000000000348B31	2,607.20